ESARA

Japanese Technology since 1912

EVM series - vertical Multistage Pumps Data Book 60Hz




60 Hz

VERTICAL MULTISTAGE PUMPS

Page
1. SPECIFICATIONS &
1.1 TYPICAL APPLICATIONS 101
1.2 PERFORMANCE RANGE 102
2. EVMS 1-3-5-10-15-20 200
2.1 PRODUCT FEATURES 201
2.2 PRODUCT SPECIFICATIONS 202
2.3 SHAFT SEAL 203
2.4 TYPE KEY and NAMEPLATE 204
2.5 PERFORMANCE RANGE 205
2.6 CURVE SPECIFICATIONS 206
2.7 SELECTION CHART 207
2.8 EVMS(L)1 209
EVMSG1 215
2.9 EVMS(L)3 221
EVMSG3 227
2.10 EVMS(L)5 233
EVMSG5 239
2.11 EVMS(L)10 245
EVMSG10 251
2.12 EVMS(L)15 257
EVMSG15 263
2.13 EVMS(L)20 269
EVMSG20 275
2.14 PACKING 281
3. EVM 32-45-64 300
3.1 PRODUCT FEATURES 301
3.2 PRODUCT SPECIFICATIONS 302
3.3 SHAFT SEAL 303
3.4 TYPE KEY and NAMEPLATE 304
3.5 PERFORMANCE RANGE 305
3.6 CURVE SPECIFICATIONS 306
3.7 SELECTION CHART 307
3.8 EVM(L)32 308
EVMG32 323
3.9 EVM(LM45 338
EVMG45 350
3.10 EVM(L)64 362
EVMG64 372
3.11 PACKING 382
4. MOTOR DATA 400
41 NOISE DATA 401
4.2 TECHNICAL MOTOR DATA 402
EVMS 1-3-5-10-15-20 402
EVM 32-45-64 403
(1) click INDEX to jump CORRESPONDING SECTION
Rev. D (2) click == to go back to INDEX
EBARA Pumps Europe @ % ESARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

TYPICAL APPLICATIONS
INDUSTRY BUILDING SERVICE WATER SUPPLY
* Water treatment * Pressure boosting * Water treatment
reverse osmosis pressure boosting for buildings water treatment plants filtration
ultra-filtration pressure boosting for high rise water treatment plants transfer
water purification buildings/hotels
micro-filtration * Pressure boosting
softening. ionizing and e Sprinkler systems transfer from water treatment
demineralising systems plants (mains)
swimming pools e Fire fighting systems
separators jockey pump e lIrrigation
golf course / sport fields irrigation
¢ Boiler feeding * District heating
steam systems e Agriculture
condensate systems ¢ Heat exchangers / fan heaters sprinkler irrigation
drip irrigation
* Wash and clean * Air conditioning systems
vehicle washing systems
industrial part washing * Heating systems

laundry systems

supply of liquids with acids and
bases

supply of chemical liquids

e Chilling
handling of refrigerants for cooling
thermal control systems
industrial cooling
laser cooling

* Machine tooling
cooling lubricant supply for tooling
machines

* Pressure boosting
pressure boosting for industrial
use

¢ Food & beveage
food washing systems
bottle wash systems

¢ Pharmaceutical industries
e Marine applications

freshwater. deckwash. high fog
and fire fighting on ships

101
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

PERFORMANCE RANGE
EVMS(.)1-3-5-10-15-20

usgpm. 5 10 52 30 40 50 60 70 80 90100 120 140 160180200 250 300 350400 500 600
Il Il Il Il Il Il Il | Il L1 1 | Il L1 1 Il Il Il Il |
T T T T T T T T T T 1771 T T T 177 T T T T T
mpgpm. 5 10 52 0 40 50 60 70 80 90100 120 14060180200 250 300 30400 500
404 40
P H - 1200
WP
0Pal 5o 1 app 5 10 000 H
1 =y - 900
254 2% 1 3 3 3 19 3 Lo
~ B = D 70
| —+— -
2.0 200 caat = RS ! . F20- AR
| | DN | 9 - 600
I | (R \
15+ 150 I s ! =\ 500
I| | | +
124 1w r Res I 54 400
1 | {| -
1.0 100 I [Saa! ! 30
Iy E | : | - 300
08 8 i | ; I - 250
| [ | !
| L
- } | -
06 60 i nl ML | i 20
05 % L ] T
' I} [ 1l [ - 150
04 40 b pd ! |
03 2 | - 100
H - 1 i ~ ~
| g g 75
02 2 : — L =
015 15 = - AN - 50
= N\
™ - 40
0.1 10
0.09 9 %0
0.08 8 s
0.07 7
0.06 6 - 20
0.05- 5
9 10 52 3 40 5 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500
QUimin]
T T T T T T T T T T 17T T T T 17T T T T T T T T 1
1 15 2 3 4 5 6 7 891 12 1416120 25 30 4 5 60 7 100 Quh]
100 T TTIT T | T
H HIHH '4‘,1, 6
T INEEE
.o 10T 152120
% DLt
3 ——'— > ol b
o’ ! - -
60 17 L > 7 Pl 3
" ~ |
50 = -
o o
40 afl e
£
2
9 10 52 3 40 5 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500
Q [Vmin]

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVIVIS

200
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

EVMS

VERTICAL MULTISTAGE PUMPS

PRODUCT FEATURES

[General]
1. Pump Type
The EVMS is non-self-priming, vertical multistage in line, centrifugal pumps.
2. Model range
The EVMS comes in 1,3,5,10,15 and 20 m*/h flow sizes for the majority market needs.
3. Maximum operating pressure
The EVMS can be operated at 16 bar or 25 bar as maximum.
4. Operating temperature range
The EVMS can be operated from - 30 to + 140 °C as the maximum.
5. Material options
AISI 304, AISI 316L and Cast iron versions are available.
6. Motor
The EVMS can be coupled with the commercial motors that are acquired in the markets.
The EVMS can be provided as the electric pump with IE3 motor from 0.75 kW to 11 kW.
PTC sensor is available from 1.5 kW motor.
Unlosable screw and sealing from 0.75 kW to 11 kW are standard for terminal box fixing.
7. Certifications
Drinking water approval Atmosferes
9 pp explosibles approval
DM174/2004 KTW* WRAS ATEX 2014/34/UE
SWRAS @
APPROVED PRODUCT
P MO0
: . ! SiC with graphite/ . All variations
Mechanical seal SiC/Carbon_EPDM SiC/Carbon_EPDM SiC_EPDM SiC/Carbon_EPDM on page 203
EVMSG ° - - B °
EVMS ° ° ° ° °
EVMSL ° ° ° ° °
Note: * KTW is certified for components. e Available

8. Conform to the provisions of the European directives ‘ €

[Main Product Features]

1. Innovative hydraulic solutions
*« Commercial motors can be fitted to all of the pump models without any modifications thanks to low pump axial thrust load.
¢ Low axial thrust load impeller can ensure long life of the motor bearing.

2. Energy saving
¢ High efficiency IE3 with ETM motor.

e The VFD (Variable frequency drive) and the commercial sensor can be directly mounted on EVMS to maintain physical constant

operations such as pumping pressure depending on the conditions of use.

3. Piping connection options

* The various pipe connections are available depending on the application requirements Oval flange / Round flange / Loose flange /

Victaulic® / Clamp.
¢ The external dimensions can be adjusted to the replacement of the existing pump in the wide majority.

4. Shaft seal solutions
«  Silicon carbide inclusions with graphite can be used as dry lubricant to reduce friction.
¢ It's conforming to EN12756 (ex DIN 24960).

5. [Easy maintenance
* The cartridge mechanical seal enables the plug in replacement of the shaft seal without disassembling the motor bracket.
¢ The spacer coupling allows easy maintenance without having to remove heavy motors over 5.5 kW.

6. Smart plug solutions
Air ventilation plug / Water filling & sensor plug / Commercial sensor fitting / Measurements for suction and discharge pressure / drain.

201

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS

VERTICAL MULTISTAGE PUMPS

PRODUCT SPECIFICATIONS
EVMS(.)1-3-5-10-15-20

PUMP
Version EVMSG EVMS EVMSL
i Nominal flow rate (m*h ) 1 [ 3]s 1o ]2 1351015 ]20[1]3]s5][10]15]2
Ol::;agtleng Maximum working pressure 1.6/2.5MPa (16 bar/ 25 bar)
Liquid temperature range -30°Cto 140 °C
Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Liner ring EN 1.4301 (AISI 304) + PPS EN 1.4404 (AISI 316L) + PPS
Bottom casing Cast Iron | EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
EN 1.4301 (AISI 304) EVMSG / EVMS 1-3-10 . EVMSG / EVMS 5-15-20 (depend on models)
Shaft EN 1.4404 (AISI 316L) EVMSL 1-3-10 . EVMSL 5-15-20 (depend on models)
EN 1.4462 (AISI 329A) EVMSG / EVMS / EVMSL 5-15-20 (depend on models)
Key Shaft sleeve bearing Tungsten carbide
Compon.ents Shaft Seal See the shaft seal options
Material
EPDM o 6 o6 6 6 o6 o o o o o o o o o o o o
O-ring
FPM ® | & o o o o o o o o o o o 6o 6o o o o
Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Motor Bracket Cast Iron
Tie rod Galvanized steel 6.8 strength class ISO 898/1
. up to 4.0 kW Die cast aluminium
Coupling
from 5.5 kW Cast Iron
Base Cast Iron Die cast aluminium
Oval flange up to 16 bar ® | & & o | o o o o o o o o o o o o o o
Round flange _ UP to 16 bar ® | & O o o o o o o o o o o 6o 6o o o o
(DIN) from16barto25bar | ® | @ | ® | @ |® | @ | ® | @ | ® ©|O®@ ©|O® O |0 O OO
Pipe " ooseround  upto 16 bar o/ o|/o oo oo 0|00 e
connection | flange
(DIN) from 16 bar to 25 bar ® |  © | &6 &6 &6 &6 &6 &6 & 6 o o
Victaulic® up to 16/25 bar | ®© | &6 &6 & &6 &6 &6 & 6 o o
Clamp up to 16/25 bar [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ]
Legend: e Available
Frequency 60 Hz
Phase Three Phase
Rotation speed =~ 3500 min”
Power . 0.37 + 2.2 kW
Source Power rating 05-30HP
- 5Y% 9 » '~ 0,
220/380 V - 5% /+ 100/0 (0.37 and 0.55 kW) 380-460/660 V - 5% /+ 10% (from 5.5 up to 11 kW)
Voltage and 265/460 V £ 10% 460V = 10%
220/380-460 V - 5% /+ 10% (from 0.75 kW up to 4 kW) and 380/660 V - 5% /+ 10% (15.and 18.5 kW)
Type TEFC
- ¢ from 0.37 up to 0.55 kW
Efficiency Level IE3* : above 0.75 kW
Type IE2 : from 15 kW up to 18.5 kW
No° of poles 2
Protection degree IP 55
Insulation Class F (temperature rise class B)
Thermal Protection PTC is available for the above 1.5 kW included
Casing Material Aluminium
Others IMB14 (up to 4 kW)
Flange mount (IEC motor)
IMB5 (above 5.5 kW)
Terminal Box fixing Unlosable screw and sealing from 0.75 kW to 11 kW

*:IE2 from 1.1 kW up to 3.0 kW at 220/380 V

202

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

1. Shaft Seal

d4

d3 (

d1

]

up to 16 bar

SHAFT SEAL

EVMS(.)1-3-5-10-15-20

w =~ N W

Cartridge Unbalanced type

2. Type of Shaft Seal and Dimensions [mm]

d4
MREN ==y
1L el |
gl d1
iy
- 5 ‘d2
|

up to 25 bar
Cartridge Balanced type

B W =2 N W

203

Pump model Shaft seal type Shaft seal material
o | : ’ ||| e
oppr:sasurg Unbalanced | Balanced Rotating Part Code Sta;t;;ary Code | Elastomers | Code Con;giﬁ]sgswn Collar | Code
-30°C to + 120°C ® sic (@) | carbon | (B) EPDM (E) AlSI 316 G) | QiBEG
-30°C to + 80°C ® sic (Qi) | Carbon | (B) FPM V) AISI 316 (G) QiBVG
up to 16 bar | - 30°C to + 140°C ® SiC with graphite | (Q1) SiC (@) EPDM (E) AISI 316 (G) | HQQIEG
-30°C to + 80°C [ J SiC with graphite | (Qg) SiCc (Q1) FPM v) AlSI 316 (G) HQQ1VG
-30°C to + 140°C o sic (Qi) | Carbon | (B) EPDM (E) AISI 316 (G) | HQiBEG
-30°C to + 140°C ® sic (Qi) | Carbon | (B) EPDM (E) AISI 316 (G) | HQiBEG
up to 25 bar -30°Cto +80°C [ J SiC (Q1) Carbon (B) FPM V) AISI 316 (G) HQ1BVG
-30°C to + 140°C [ J SiC with graphite | (Qg) SiC (Q1) EPDM (E) AlISI 316 (G) HQQIEG
-30°C to + 80°C ® SIC with graphite | (Qq) Ssic (@) FPM V) AISI 316 (G) | HasQ1VG
® Available
e, SHE eI oveere | woen | g | goen | g | g
Unbalanced 16 bar - 35
EVMS 1/3/5 Cartridge 16 23 27
Balanced 25 bar 20 425
Unbalanced 16 bar - 37.5
EVMS 10/15/20 Cartridge 20 29 35
Balanced 25 bar 24 45

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS

VERTICAL MULTISTAGE PUMPS

[Evms| [ [ 5 ][ J[2]]

TYPE KEY
EVMS(.)1-3-5-10-15-20
|[(F 16 ][ J[aBec][E]7 1075 [

Phase motor
null = 3 phase

Motor in kW _ pag.402

Code for rubber parts
V = FPM (Viton)

E = EPDM

4| Code for shaft seal materials _ pag.203

Pole
Null = 2 pole

Frequency
6 =60 Hz

Code for pipe connection
F = Round flange

N = Oval flange

LF = Loose round flange

V = Victaulic® connection
C = Clamp connection

Code for pump version

null = standard version

|Number of impellers

|Space

Flow rate [m%h]

113]5]10]15]20

Code for model series
null = AISI 304

L = AlISI 316L
G = Cast Iron version

Example for pump without motor:
EVMS5 2F6Q1BEGE

P.IVA 01234660221 c €
Eiampe !punﬁb, 30
38023 Cles (TN) - ITALY MADE IN ITALY

TVPE Q)

O e O Jhmn ®nO
O] I |H ® m
P () KW[H I HO)
AN N

ME> (1) e (12) %

| Series name

Example for pump with motor:
EVMS5 2F6Q1BEGE/0.75

NAMEPLATE
1) “TYPE” Pump model
2) Q Indicates upper and lower flow rate limits
3) “H Indicates head limits corresponding to minimum and maximum flow rate
4)  “Hmax” Maximum head
5) “Hmin” Minimum head
6) “P2” Rated power of the motor (output at shaft)
7) “HP” Rated power of the motor expressed in HP (Horse Power)
8) ‘“Hz" Frequency
9) ‘“min-1" Speed of rotation
10) “P/N*” Pump item number
11)  “MEIP Index of the pump’s quality in relation to its efficiency
12) “Hyd. Eff.” Hydraulic efficiency of the pump

204

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz VERTICAL MULTISTAGE PUMPS EVM S

PERFORMANCE RANGE
EVMS(.)1-3-5-10-15-20

USgpm. 5 10 5 2 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600
1 1 1 1 1 1 1 | 1 | 1 1 | 1 | 1 1 1 | 1 1 1 |
T T T T T T T T T T 171 T T T 17T T T T T T
mp.gp.m. 5 10 5 2 30 40 50 60 70 80 90100 120 140160180200 250 300 350 400 500
40+ 400
p H 1200
MP.
MPel g o] M 5 00 H
25 250 . el
o
~ ={] - 700
204 20 ! - I } » - o
~ —
I NN NN RN AR AR ‘;77777 ("‘7777’7 (7777774’7 N N N
154 150 i 3 - - ~ 500
1 ! I -~ i
12 120 | L | - 400
| L] M |
| RaE | - 350
10 100 ; =
I ! - 300
0.8 80 | L 250
|
[
06 60 i Hh I - 200
|
054 % 1 3 5 10{—15}{20-32+—45+-64 ©
g L
| | !
0.4 40 } } }
0.3 30 ! = — 100
7 . - 7
02 2 = - i "
o k i
0.15 15 i NG \ / 50
~ /
N\ A\ 40
0.1 10
0.09 9 =30
0.08 8 Lo
0.07 7
0.06 6 —20
0.05- 5
910 5 2 3 40 50 60 8 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500
Q[Vmin]
T T T T T T T T T 1T T T T 1T T T T T T T T 1
1 15 2 3 4 5 6 7 8910 12 14161820 25 30 4 50 60 70 100 Qi
100 }
|
noog (
%] :l &
3 —-‘ > \
-
60 1i A 7
50 gy ~ | 4 g
7
o o
0 7
30
2
910 5 20 3 40 50 60 8 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500
Q[Vmin]

EBARA Pumps Europe 5 ERARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS

CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906:2012 - Grade 3B.

The curves refer to effective speed of asynchronous motors at 60 Hz, 2 poles.

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity of v = 1 mm?/s
(1 cSt).

The NPSH curve is an average curve obtained in the same conditions of performance curves.

During the pump selection. consider to get a safety margin of at least 0.5 m.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating. the pumps should not be used at a flow rate below 10% of best efficiency
point.

Symbols explanation:

Q - volume flow rate

H - total head

P, - pump power input (shaft power)

n - pump efficiency

NPSH - net positive suction head required by the pump

206

B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SELECTION CHART

EVMS(.)1-3-5
) Q=Capacity
Pump Type Motor Maximum
working I/min 0| 13 | 25 | 48 | 50 | 75 | 90 | 120 | 160
kW HP Size pressuré Im3h 0| 08 | 15|29 |30 |45 |54 |72|96
Three phase (MPa) . X
H=Total manometric head in meters
EVMS(.)1 2/0.37 0.37 | 0.5 71 17.2 164 | 15 |10.3| - - - - -
EVMS(.)1 3/0.37 037 | 05 71 258 |24.6[225|155| - - - - -
EVMS(.)1 4/0.37 0.37 | 0.5 71 345 |32.7[30.0/206| - - - - -
EVMS(.)1 5/0.37 0.37 | 0.5 71 43.1 409(375|254 | - - - - -
EVMS(.)1 6/0.55 0.55 | 0.75 71 515 |49.1| 45 31 - - - - -
EVMS(.)1 7/0.55 0.55 | 0.75 71 60.5 |57.5[52.5]|36.1 - - - - -
EVMS(.)1 8/0.75 0.75 1 80 69 655| 60 |415| - - - - -
EVMS(.)1 9/0.75 0.75 1 80 1.6 775 |735(675|465| - - - - -
EVMS(.)1 10/0.75 0.75 1 80 86 82 | 75 |51.5| - - - - -
EVMS(.)1 11/1.1 1.1 1.5 80 94.5 90 | 825 57 - - - - -
1 [EVMS(.)112/1.1 1.1 1.5 80 103 98 | 90 | 62 - - - - -
EVMS(.)1 13/1.1 1.1 1.5 80 112 106 | 97.5| 67 - - - - -
EVMS(.)1 14/1.1 1.1 1.5 80 121 1151105 [ 725| - - - - -
EVMS(.)1 16/1.5 1.5 2 90 138 131120 | 82.5| - - - - -
EVMS(.)1 18/1.5 1.5 2 90 155 147 | 135 | 93 - - - - -
EVMS(.)1 20/1.5 1.5 2 90 172 164 | 150 | 103 - - - - -
EVMS(.)1 22/2.2 22 3 90 190 180 | 165 | 114 | - - - - -
EVMS(.)1 24/2.2 2.2 3 90 25 207 196 | 180 | 124 - - - - -
EVMS(.)1 26/2.2 2.2 3 90 : 224 213 | 195 | 134 - - - - -
EVMS(.)1 27/2.2 2.2 3 90 233 221 | 202 | 139 - - - - -
EVMS(.)1 29/2.2 2.2 3 90 250 237 | 217 | 150 - - - - -
EVMS(.)3 2/0.37 0.37 | 0.5 71 21.4 - 1205[18.9|18.7|155[124| - -
EVMS(.)3 3/0.55 0.55 | 0.7 71 32.1 - [30.7]|283| 28 |23.3(18.6| - -
EVMS(.)3 4/0.75 0.75 1 80 43 - 41 377|374 | 31 |248| - -
EVMS(.)3 5/0.75 0.75 1 80 53.5 - 51 | 47 |46.5|38.8| 31 - -
EVMS(.)3 6/1.1 1.1 1.5 80 64.5 - |615|565| 56 |46.5|37.2| - -
EVMS(.)3 7/1.1 1.1 1.5 80 75 - |715| 66 [65.5|545(43.5| - -
EVMS(.)3 8/1.5 1.5 2 90 16 85.5 - 82 |755|745| 62 [495]| - -
EVMS(.)3 9/1.5 1.5 2 90 ' 96.5 - 92 | 85 | 84 | 69 | 56 - -
EVMS(.)3 10/1.5 1.5 2 90 107 - 102 [94.5|93.5|77.5| 62 - -
EVMS(.)3 11/2.2 2.2 3 90 118 - 113 | 104 | 103 | 85.5| 68 - -
3 |EVMS(.)3 12/2.2 2.2 3 90 129 - 123 | 113 | 112 | 93.0|74.5| - -
EVMS(.)3 13/2.2 2.2 3 90 139 - 133 [ 123 | 122 | 101 [80.5| - -
EVMS(.)3 14/2.2 2.2 3 90 150 - 143 | 132 | 131 | 109 | 86.5| - -
EVMS(.)3 15/3.0 3.0 4 100 161 - 154 | 142 | 140 | 116 | 93 - -
EVMS(.)3 16/3.0 3.0 4 100 172 - 164 | 151 | 150 | 124 | 99 - -
EVMS(.)3 17/3.0 3.0 4 100 182 - 174 | 160 | 159 | 132 | 105 - -
EVMS(.)3 19/3.0 3.0 4 100 204 - 195 | 179 | 178 | 147 | 118 - -
EVMS(.)3 20/3.0 3.0 4 100 25 214 - 205 | 189 | 187 | 155 | 124 - -
EVMS(.)3 21/4.0 4.0 5.5 112 225 - 215|198 | 196 | 163 | 130 - -
EVMS(.)3 22/4.0 4.0 5.5 112 236 - 225 | 208 | 206 | 171 | 136 - -
EVMS(.)3 23/4.0 4.0 5.5 112 247 - 235 | 217 | 215 | 178 | 143 - -
EVMS(.)5 2/0.75 0.75 1 80 27.6 - - - |26.11246(23.4|204|14.6
EVMS(.)5 3/1.1 1.1 1.5 80 41.4 - - - 139.2[36.9|35.1]30.6 [21.9
EVMS(.)5 4/1.5 1.5 2 90 55 - - - | 525| 49 | 47 |40.5[29.3
EVMS(.)5 5/2.2 2.2 3 90 69 - - - |655|615| 58 | 51 |36.6
EVMS(.)5 6/2.2 2.2 3 90 83 - - - |785]| 74 | 70 | 61 44
EVMS(.)5 7/3.0 3.0 4 100 1.6 96.5 - - - |915) 86 | 82 |71.5| 51
EVMS(.)5 8/3.0 3.0 4 100 110 - - - 105 [ 98.5|93.5|81.5 | 58.5
EVMS(.)5 9/3.0 3.0 4 100 124 - - - 118 | 111 | 105 | 91.5| 66
5 [EVMS(.)5 10/4.0 4.0 5.5 112 138 - - - 131 | 123 | 117 | 102 | 73
EVMS(.)5 11/4.0 4.0 5.5 112 152 - - - 144 | 135 | 129 | 112 | 80.5
EVMS(.)5 12/4.0 4.0 5.5 112 166 - - - 157 | 148 | 140 | 122 | 88
EVMS(.)5 13/5.5 5.5 7.5 132 179 - - - 170 | 160 | 152 | 132 | 95
EVMS(.)5 14/5.5 55 | 75 132 193 - - - | 183 | 172 | 164 | 143 | 102
EVMS(.)5 15/5.5 55 | 75 132 25 207 - - - | 196 | 185 | 175 | 153 | 110
EVMS(.)5 16/5.5 5.5 7.5 132 ’ 221 - - - 209 | 197 | 187 | 163 | 117
EVMS(.)5 17/7.5 7.5 10 132 235 - - - 222 | 209 | 199 | 173 | 124
EVMS(.)5 19/7.5 7.5 10 132 262 - - - 248 | 234 | 222 | 194 | 139

1.6 MPa=16 bar ; 2.5 MPa=25 bar

207

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVMS

VERTICAL MULTISTAGE PUMPS

SELECTION CHART

EVMS(.)10-15-20
: Q=Capacity
Pump Type Motor Maximum
working I/min 0| 90 | 120 | 160 | 170 | 200 | 220 | 250 | 300 | 350 | 400 | 440 | 500 | 570
kW HP Size pressure Im3h 0| 54 | 7.2 | 96 [10.2(12.0|13.2|15.0 | 18.0|21.0|24.0|26.4 | 30.0 | 34.2
Three phase (MPa) . X
H=Total manometric head in meters
EVMS(.)10 1/0.75 0.75 1 80 16 156 (153|144 (14.1| 13 [12.1(10.6| 7.4 - - - - -
EVMS(.)10 2/1.5 1.5 2 90 32 31.1/30.7[289|28.2[26.1|243|21.1[148| - - - - -
EVMS(.)10 3/2.2 2.2 3 90 48 46.5| 46 [43.3|142.4(39.1|36.4[31.7|222| - - - - -
EVMS(.)10 4/3.0 3.0 4 100 64 62 |61.5| 58 |56.5| 52 |48.5| 42 (296]| - - - - -
EVMS(.)10 5/4.0 4.0 5.5 112 16 80 775|76.5| 72 |70.5| 65 |60.5|52.5| 37 - - - - -
EVMS(.)10 6/4.0 40 | 55 112 ’ 96 935| 92 |86.5|84.5| 78 | 73 |63.5|445| - - - - -
EVMS(.)10 7/5.5 5.5 7.5 132 112 109 [ 107 | 101 | 99 | 91 85 | 74 52 - - - - -
10 [EVMS(.)10 8/5.5 5.5 7.5 132 128 125 | 123 | 115 | 113 | 104 | 97.1 | 84.5| 59 - - - - -
EVMS(.)10 9/5.5 5.5 7.5 132 144 140 | 138 | 130 | 127 | 117 | 109 | 95 |66.5| - - - - -
EVMS(.)10 10/7.5 7.5 10 132 160 156 | 153 | 144 | 141 | 130 | 121 [ 106 | 74 - - - - -
EVMS(.)10 11/7.5 7.5 10 132 176 171 | 169 | 159 | 155 | 143 | 134 | 116 | 81.5| - - - - -
EVMS(.)10 12/7.5 7.5 10 132 192 187 | 184 | 173 | 170 | 156 | 146 | 127 | 89 - - - - -
EVMS(.)10 14/11 11 15 160 2.5 224 218 | 215 | 202 | 198 | 182 | 170 | 148 | 104 - - - - -
EVMS(.)10 15/11 11 15 160 240 233 [ 230 | 216 [ 219 | 195 | 182 | 158 | 111 - - - - -
EVMS(.)10 16/11 11 15 160 256 249 | 245 | 231 | 226 | 208 | 194 | 169 | 118 - - - - -
EVMS(.)15 1/1.5 1.5 2 90 21.7 - - - [19.1]118.4(18.0(17.4)|15.8|14.2|12.1| 9.9 - -
EVMS(.)15 2/3.0 3.0 4 100 43.6 - - - 40 |39.1|38.6(37.9|36.5(34.7|31.7(282]| - -
EVMS(.)15 3/5.5 55 | 75 132 65.4 - - - 60 [585| 58 | 57 [54.5| 52 [47.5[425| - -
EVMS(.)15 4/7.5 7.5 10 132 1.6 87 - - - |805|785| 78 | 76 | 73 | 69 |63.5(56.5| - -
EVMS(.)15 5/7.5 7.5 10 132 109 - - - 100 | 98 |96.5| 95 | 91 |86.5(79.5|70.5| - -
15 EVMS(.)15 6/11 11 15 160 131 - - - 120 | 117 | 116 | 114 [ 109 | 104 | 95.5|84.5| - -
EVMS(.)15 7/11 11 15 160 153 - - - 141 [ 137 | 135 | 133 | 128 | 121 [ 111 | 99 - -
EVMS(.)15 8/15 15 20 160 M 174 - - - 161 | 157 | 154 | 152 | 146 | 138 | 127 | 113 - -
EVMS(.)15 9/15 15 20 160 M 196 - - - 181 | 176 | 174 | 171 | 164 | 156 | 143 | 127 - -
EVMS(.)15 10 /15 15 20 160 M 25 218 - - - 1201196 | 193 | 190 | 182 | 173 | 159 | 141 - -
EVMS(.)15 11/18.5 18.5 25 160 L 240 - - - 221 | 215|212 | 208 | 201 | 190 | 175 | 155 - -
EVMS(.)15 12/18.5 18.5 25 160 L 262 - - - 241 | 235 | 232 | 227 | 219 | 208 | 190 | 169 - -
EVMS(.)20 1/2.2 2.2 3 90 25 - - - - - |20.7]120.0[18.7]|16.9[(14.9]|13.1| 95 | 43
EVMS(.)20 2/4.0 4.0 5.5 112 49.5 - - - - - |445| 44 |425| 41 [39.4|37.5[32.8|24.9
EVMS(.)20 3/7.5 7.5 10 132 16 74 - - - - - 67 |655| 64 [61.5| 59 | 56 | 49 [37.3
EVMS(.)20 4/7.5 7.5 10 132 : 99 - - - - - |89.5|875| 85 | 82 79 | 75 [65.5|49.8
20 EVMS(.)20 5/11 1 15 160 124 - - - - - 112 | 110 | 106 | 103 | 98.5[93.5| 82 | 62
EVMS(.)20 6/11 1 15 160 148 - - - - - 134 | 131 | 128 | 123 | 118 | 112 [98.5| 75
EVMS(.)20 7/15 15 20 160 M 173 - - - - - 156 | 153 | 149 | 144 | 138 | 131 | 115 | 87
EVMS(.)20 8/15 15 20 160 M 25 198 - - - - - 179 | 175 | 170 | 164 | 158 | 150 | 131 | 99.5
EVMS(.)20 9/18.5 18.5 25 160 L : 223 - - - - - 201 | 197 | 191 | 185 [ 177 | 169 | 148 | 112
EVMS(.)20 10/18.5 18.5 25 160 L 247 - - - - - 223 |1 219 | 213 | 206 | 197 | 187 | 164 | 124

1.6 MPa=16 bar ; 2.5 MPa=25 bar

208

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

280
p H
[MPa] ml
24
240
209
e T
129 4
0.8 80
0.4 — 40
0 0
010
P2
kW] 008
006
004
NPSH 5
[m]
3
1

PERFORMANCE CURVE
EVMS(L)1
0 USgpm. 2 4 6 8 10 12 14
| | | | | | | |
[ I I I I [ I
0 Imp.g.p.m. 2 4 6 8 10 12
— 900
H
\§29‘/2.2‘kw\\ | - 800 [ﬁ]
T~
>>27}/2.2}kw\\ N — —
—=26/22 kwa— |4 ~
|| e ~— 700
[~ T24/22kw- ~
‘ ‘ T \:\\
T22/22 1w | ~ N n
e ~ ~——_ \\ NG < 600
|~ T20/15kw—— | \\“\ N\ N \\
it S — IO,
‘\
1 8‘/1.5‘kw~\ 4, ~—— NS SN NL - 500
] B— N ~
~ T16/sw— | —— T h
v — ‘\ o~
14‘/1.1 ‘kW — - — \\\\ ~ -0
BRBCUR R S _ ~ T~
== 12/1.1 kw - B —— — I \\\\'
— 1 1:/1.1 :kW — 1 T S~ ™ ~. - 300
[~ —10/0.75kw — 4 | T T \\\\\
;22;9.75 owv— 1 T ~\~\\:\:\\\:
- 9.75 ‘kW:: :—- ~+—§~ 5\\\ \\\:\\ L 200
71055 kw — — T
—=—6/0.55 kw 3 — — —~———
— —5/0.37 kw=— 1 - — [
— _—4/10.37 jkW—— - ;— §~~§\\\\‘ 100
— —3/0.37 w—— +— —+ I Ry
::2/‘0.37 w1 —+
— 0
0 10 20 30 40 50 Q [/min]
[ I I I I I I !
0 05 1 15 2 25 3 Qmn]
60
n
—
= e nN% 40 (%)
,/ //” .
_ 20
SINGLE IMPELLER kW
| [ l | [ | 0
0 10 20 30 40 50 Q [min]
|- 15 NPSH
N [ft
~—] 10
=5
0 10 20 30 40 50 Q [Ifming

Rotation speed =3500 min-'
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS

VERTICAL MULTISTAGE PUMPS

Dimension

al sketch

TECHNICAL DATA
EVMS(L)1

Oval flange (N) DIN Loose round flange (LF) - DN25 Victaulic® connection (V)
C
4 holes @14
| B = B
o (! =) |~
- bl } =18 |8 2 [ A
? o [SHASERS
Py 2 - N
° |
100 18 4 holes @12 285
149 180
A | G 250 210
DIN Round flange (F) - DN25
o 2 holes M10 4 holes @14
= f *xx
o~ L — ‘Lffm; -
o N )
I G38 <+« | 773[& ]g L i S
<= = / [SEIRSH A=
T h < 0| 1 1 =
8] === 7o —1 i z : 1\ d
100 4 holes 12 T I 100 16 4holes 912 m 285 8’
149 149 180
160 210 250 210
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) | Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
Weight Weight Weight
3~ Weight Pump + Weight Pump + Weight Pump +
Pmax kW Size A H2 Pump Motor H2 Pump Motor H2 Pump Motor
Pump Type [MPa] B Cc H3
EVMS(L)1 2/0.37 16 |037| 71 |e105| 139 114 216 | 250 10 15.8 275 | 107 16.5 250 10 15.8
EVMS(L)1 3/0.37 1.6 037 71 2105 | 139 114 216 | 271 10.5 16.3 296 1.2 17 271 10.4 16.2
EVMS(L)1 4/0.37 1.6 037 71 2105 | 139 114 216 | 292 10.9 16.7 317 11.6 17.4 292 10.8 16.6
EVMS(L)1 5/0.37 16 037 71 |e105| 139 114 216 | 313 | 114 17.2 338 12 17.8 313 | 1.3 17.1
EVMS(L)1 6/0.55 1.6 055 71 2105 | 139 114 216 | 334 11.8 18 359 12.4 18.6 334 1.7 17.9
EVMS(L)1 7/0.55 1.6 055| 71 2105 | 139 114 216 | 355 12.5 18.7 380 13.1 19.3 355 12.4 18.6
EVMS(L)1 8/0.75 16 |075| 80 |[@120| 141 102 233 | 386 | 129 214 411 13.6 221 386 | 128 21.3
EVMS(L)1 9/0.75 1.6 0.75| 80 2120 | 141 102 233 | 407 13.3 21.8 432 14 225 407 13.3 21.8
EVMS(L)1 10/0.75 1.6 0.75| 80 2120 | 141 102 233 | 428 13.8 223 453 14.4 229 428 13.7 222
EVMS(L)1 11/1.1 16 11| 80 |@9120 | 141 102 244 | 449 | 142 242 474 | 149 24.9 449 | 1441 24.1
EVMS(L)1 12/1.1 1.6 11| 80 |@120| 141 102 244 | 470 | 146 24.6 495 | 153 25.3 470 | 146 24.6
EVMS(L)1 13/1.1 1.6 1.1 80 2120 | 141 102 244 | 491 15.3 253 516 16 26 491 15.3 253
EVMS(L)1 14/1.1 16 11| 80 |o120| 141 102 244 | 512 | 157 25.7 537 | 16.4 26.4 512 | 157 25.7
EVMS(L)1 16/1.5 1.6 15| 90 |o140| 160 119 291 | 564 | 16.7 30.2 589 | 17.4 30.9 564 | 16.7 30.2
EVMS(L)1 18/1.5 1.6 1.5 90 2140 | 160 119 291 606 17.6 31.1 631 18.3 31.8 606 17.6 31.1
EVMS(L)1 20/1.5 25 1.5 90 2140 | 160 119 291 - - - 673 19.2 327 648 18.5 32
EVMS(L)1 22/2.2 25 22| 90 |e140| 160 119 291 - - - 715 | 206 35.6 690 [ 19.9 34.9
EVMS(L)1 24/2.2 25 22 90 2140 | 160 119 291 - - - 757 216 36.6 732 20.9 35.9
EVMS(L)1 26/2.2 25 2.2 90 2140 | 160 119 291 - - - 799 225 375 774 21.8 36.8
EVMS(L)1 27/2.2 25 22| 90 |[e140| 160 119 291 - - - 820 23 38 795 | 223 37.3
EVMS(L)1 29/2.2 25 2.2 90 2140 | 160 119 291 - - - 862 23.9 38.9 837 232 38.2

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

210

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW

EVMS(L)1

140

128-6
135-6
120-6

AN}

//;ﬁi

43-3
52-1
44-1
43-7

VA4
IANNANNAN

\

211

/

(AN

with Oval flange (N)

z\ﬁ\uﬂ\w—/l'

b

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION
EVMS(L)1

K=

{
A
(

with Round flange (F)

with Loose round flange (LF)

with Clamp connection (C)

with Victaulic® connection (V)

212

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

_—J=-T.ET



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

EVMS(L)1

SECTIONAL TABLE

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-7 Spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
48| impellr nu win nox nser it nox insert e
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM / FPM @ 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
1M1 Mechanical Seal SiC / Carbon / EPDM / FPM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM 2129.54x5.34 OR 6510
115-3 O-Ring EPDM / FPM
115-4 O-Ring (cartridge sleeve) EPDM/ FPM 211.91x2.62 OR 115
115-5 O-Ring (seal cover) EPDM / FPM 232.99x2.62 OR 3131
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3 Screw A2-70 UNI 7323 M4x10 1SO 4762
120-6 Screw for coupling Galvanized steel M6x25 1SO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 71-80 M6x20 1SO 4017
120-13 | Screw for motor _— Galvanized steel 8.8 strenght class ISO 898/1
MEC 90 M8x20 1SO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-5 Nut for tie rod A2-70 UNI 7323 M10 UNI 7474
128-6 Nut for coupling Galvanized steel M6 1SO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 UNI 4838
135-1 Washer Galvanized steel @210.5x21x2 UNI 6592
135-6 Washer Carbon Steel @6
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
2121 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

213

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)1

W222222222222222///ll/
W lafafafafa|oa|oa|ofoafoafoafofofo|o|o|o]ofofofo
[rs)
el |=|=|=|=|=|=|=|=|=|=|=||=|=|~]|~
- ,mm222222222222222222222
©
) MZ22222222222222222222
P e R e e I e R I I e e I e I I I I I I I
- Llofofafa|a|afafa|a|a|aloa|o|ofofoafoalolaloafoa
P R R e R e e e e e e e e R e e e e I e R
&
IS Slafa|a|afoa|afofoa|olofo|o|ofofo ~|~|~|=
Blafo|t|o|o|~lo|ole|z|a]|e|zel|g|a]z]|g|x] 2 ~ ~
- o
B afafofolo]alafofo|o]afofoafoalalafoalolaloa T e e I e e I I I I R e e e e I I I I I I
o~
R~~~ |~~~ [~~~ |~~~ |~~~ dlafafafoa|o|oa|o|ofofofofofofo|o]o|ofofofofo
o~
gl-[-[-[-[=[-[-[=[=] [ {]a]a]~]a]a]o]a]a] SO Y Y O I O
o~
@ Slelelelalalclalalalaleclalalcl<lalclcl<]<]<
[ I R 0 T = R (RS [ [ R iy N R [ [ [ R I [
A R e e e e e e R e e e e e R R e e e R
Llafafafafoa|a|a|o|oafafo|ofofo|o|o|o|ofofofo
la|a|afaflalajafafafalo|o|ofofofa]o|o]ofofo
oNW444444444444444444444
Elelelclelelelcl =]l =|l=|=|=||<|<|<]|~
4111111111112222222222 i
~ wm444444444444444444444
Y e e e N e N N N N e e e R R R R R R .
z
&<~ |=<|<|=|=[=[<[<[=[<[=[<[<[<]<[<]<]< Ble|«|«|<l<|x|x|c|=|=|= ||| <] | <] *]|~|~
M111111111112222222222 A A A A A A A A A A A hu A A Au A b A Rl A
o o
N Rl B N R e o) a2 DR RS A RNE R R Y R I S - ) S s [s||s||||T|s||| ||| |||~
&111111111111111111111 w333333333333333333333
R I IR IR IR I A AR AR A (R IR I A IR IR I I AN AR A M444444444444444444444
= olc|a|o|s|eo|lo|lo|la|ls|oln|o
N|o|t|w|o|~|o|o
I SlE=F| SR8 8|S §
M444444444444444444444
I I el Rl e R I I IR I I I I I I I I I I R R =
FIRARARARARARARARARARARARARARARARARAR AR AR AL
o ||| |=|=|=|=|=|=|=|=|=|=]|+ =
16A6A5A0ANANARARARARARAGARARANIRIR AR AR A RN
b S Il ol o ol e I I I Il I o o ol I I I e e Rl e =
M444444444444444/////l
%111111111112222222222 =
M444444444444444444444
Al~|c|alo|c|o]o|~|o|ale|e|=]e|e||2]s|2|s]g g
e o o o o o -
JRPRY [N (U N U S N U N N U N N U U U U U U U - - SRR R AR RN R AR AR AR AR ARA AR AR RS
© 0
[ N N S TR TN TN NN S I I R IRl TR TSN TN (VR IR VR VR IR N N e A N T D e e e A I R A S A T T
olololo|lvlv|rNs|lcle|selsele|alalalala el BN KA RN A Rl I R S R () ity [ puy i e DN R RN I N
© 2lelelglglL|glgls|=|a|s|F|o|s|g|q|T|e|x|D © elelel|e|gle|g|gls|=|a|s|F|lo|s|d|q|(F|e|x|D
o |S|a|F|(v|o|R|s|d|~|~|~|[<|~|[~|-|N|q|q|q || o8 |Q|ls|F|v|d|R|s|s|=|F |2~ | |||
_W. p=g By By B N N N N N Y RN N N N RN R R s _W, puqg b= [ [ = [ =y ) i e ) g [ ) ) ) [ 2 [ 2y | [ [ = [ = | g
a 22222222222 (2222222222 a 212222222222 (2222222222
£ DD D|D|D|D|D|D|D|D|D|D|D|D|D|D|D|D|D|D|D £ D|lo|D|D || |a|0|0|2|0|D|D|D|D|D|D|D|D|D|D
5 (2222|2222 |2(2|2|2(2|2|2(2|2|2(2|2|2 uMMMMMMMMMMMMMMMMMMMMM
I - - Il I I e I e I I Il e e e e I I I I I P - -l Il Il e P e I I Il I I I e P Pl Pl el el Il I
L|L|L|L|o|o|b|Db|D|D|L|o|L|o|o|D|D|D| DD LL|L|h|o|L|D|o|o| Do |L| Do |o| LoD Do D

* only for Oval flange (N)

** only for Loose round flange (LF)

214

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

280
p H
[MPa] [m]
24—

240
2090 0
169 460
1294 420
0.8 — 80
0.4 — 40
0 0
010

P2
kW] 008
006
004
NPSH

(m]
3
1

215

PERFORMANCE CURVE
EVMSG1
0 USgpm. 2 4 6 8 10 12 14
| | | | | | | |
[ I I I [ I
0 Imp.gp.m. 2 4 6 8 10 12
I~ 900
H
“29‘/2.z‘kw\\ | L ggo [
- ‘ ‘ *\
| 2722w ~~ —
= T26/220mw1 | T =~
T T
[~ T24/22 w1 ~ T~ _
\22‘/ ‘ ~~ ~— t‘\\
22 KW | — -
i i =~ ~— ~ \\ N \ 600
::20/1 \\\ \\
R ~ ~ AN
l [ —] ~ N
I~ T18/sw— |, ~— NN N \C L 500
] ——_ \\\‘ N
|~ T16M5w— L _ T — N N
14‘/ | o B N - 400
11 kW I= S
| | T = — .
= =13/1.1 _I‘ — —~— T
= =12/1.1kw - i _'_\5\ :\ T~ \\\\1
T i — ‘:~\ e~ T \\ \\| a0
™ —10/0.75 kW — 4 _ T — T T~
— _—9/9_75 W— ~§~\\\\:\\\\
— —8/075kw—— 1 ¢ || — — —
——7/0.55 \w— - _+ ] :\ T — 200
=6/ ‘0-55 o \ T — T
R b | v T— Ny
——5/0.37 kW= o— — 4= —— \‘:\:\N
— T ‘ ‘ — B T
4/0.37 kv— —— —}— — \: 100
— 3/ 0.37 kW= 1 —+ —
::2/9.37 ov— 1= —+
| | .
0 10 20 30 40 50 Q [fmin]
[ T I T T T T T3
0 05 1 15 2 25 3 Qmh]
60
n
//
— — n% 0 %
—
-
"
— — 2
SINGLE IMPELLER kW
i .
0 10 20 30 40 50 Q [l/min]
|- 15 NPSH
~ [ft
—~—— 10
=5
0 10 20 30 40 50 Q [V/ming

Rotation speed =3500 min-'
Test standard: ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVMSG1

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN25
[ C
— e ——
2 2
& &
& & I
A G38 A c3B
Ve v
E= 2holes M10 B 4 holes 14
- N [ 638 < e NP Jﬂ/‘l%ﬁig@‘ G318
£ Geeliels 460k SIS st SIESEICI R, 21
H & i =
“%-‘ £ holes 012 | HL Bl s 100 18 4 holes 012 m o85 | || &
160 ‘ 210 149 ‘ 180
250 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
3~ Weight Pump + Weight Pump +
Pmax kW Size A H2 Pump Motor H2 Pump Motor
Pump Type [MPa] B Cc H3
EVMSG1 2/0.37 16 |037| 71 |e105| 139 114 216 | 250 | 14.3 20.1 275 | 17.7 235
EVMSG1 3/0.37 1.6 037 71 2105 | 139 14 216 | 271 14.7 20.5 296 18.1 239
EVMSG1 4/0.37 1.6 037 71 2105 | 139 114 216 | 292 15.1 20.9 317 18.5 243
EVMSG1 5/0.37 16 |037| 71 |e105| 139 114 216 | 313 | 156 21.4 338 19 24.8
EVMSG1 6/0.55 16 |055| 71 | @105 139 114 216 | 334 16 222 359 | 19.4 25.6
EVMSG1 7/0.55 1.6 055 71 2105 | 139 114 216 | 355 16.7 229 380 20.1 26.3
EVMSG1 8/0.75 16 |075| 80 |e120| 141 102 233 | 386 | 17.1 25.6 411 | 205 29
EVMSG1 9/0.75 16 |075| 80 |@120 | 141 102 233 | 407 | 17.6 26.1 432 21 29.5
EVMSG1 10/0.75 1.6 0.75| 80 2120 | 141 102 233 | 428 18 26.5 453 214 29.9
EVMSG1 11/1.1 1.6 1.1 80 2120 | 141 102 244 | 449 18.4 284 474 21.8 31.8
EVMSG1 12/1.1 16 11| 80 |[@120| 141 102 244 | 470 | 18.9 28.9 495 | 223 323
EVMSG1 13/1.1 1.6 1.1 80 2120 | 141 102 244 | 491 19.6 29.6 516 23 33
EVMSG1 14/1.1 1.6 1.1 80 2120 | 141 102 244 | 512 20 30 537 234 334
EVMSG1 16/1.5 1.6 15| 90 |[e140| 160 119 291 | 564 21 345 589 | 24.4 37.9
EVMSG1 18/1.5 1.6 1.5 90 2140 | 160 19 291 606 21.9 354 631 253 38.8
EVMSG1 20/1.5 25 1.5 90 2140 | 160 19 291 - - - 673 26.2 39.7
EVMSG1 22/2.2 25 22| 90 |e140 | 160 119 291 - - - 715 | 27.6 426
EVMSG1 24/2.2 25 22| 90 |g140 | 160 119 291 - - - 757 | 28.6 436
EVMSG1 26/2.2 25 22 90 2140 | 160 19 291 - - - 799 295 445
EVMSG1 27/2.2 25 2.2 90 2140 | 160 19 291 - - - 820 30 45
EVMSG1 29/2.2 25 22| 90 |e140| 160 119 291 - - - 862 | 30.9 45.9

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

216

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60Hz



60 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMSG1

/

//zﬁi

43-3
52-1
44-1
43-7

\

\N\

L\

107
75-1
2731
2121

i

oo O
SN\ AN
0

120-11
17
219

with Oval flange (N)
217

EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM S VERTICAL MULTISTAGE PUMPS 60 Hz

PIPE CONNECTION
EVMSG1

with Round flange (F)

218
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMSG1

N° PART NAME Mé;“Englé\L DIMENSIONS STANDARD

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing Cast Iron EN GJL-250-EN1561

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

31 Shaft EN 1.4301 (AISI 304)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)

43-7 Spacer EN 1.4301 (AISI 304)

441 Shaft sleeve bearing Tungsten carbide

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4404 (AISI 316L)

48 Impeller nut A2-70 UNI 7323 with inox insert M8

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM / FPM @12.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM / FPM

107 Liner ring EN 1.4301 (AISI 304) + PPS

1M Mechanical Seal SiC / Carbon / EPDM / FPM

111-3 Mechanical seal seat EN 1.4301 (AISI 304)

111-4 Seal holder EN 1.4301 (AISI 304)

111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)

115-1 O-Ring (outer casing) EPDM / FPM @129.54x5.34 OR 6510

115-4 O-Ring (cartridge sleeve) EPDM / FPM @11.91x2.62 OR 115

115-5 O-Ring (seal cover) EPDM / FPM @32.99x2.62 OR 3131

17 Flange gasket EPDM / FPM

120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10

120-3 Screw A2-70 UNI 7323 M4x10 1SO 4762

120-6 Screw for coupling Galvanized steel M6x25 1ISO 4762

120-11 Screw for counterflange A2-70 UNI 7323

120-13 | Screw for motor —MEC 71-80 Galvanized steel 8.8 strenght class 1ISO 898/1 M6x20 IS0 4017
MEC 90 M8x20 1SO 4017

128-1 Nut for tie rod Galvanized steel M10 UNI 5588

128-6 Nut for coupling Galvanized steel M6 ISO 4032

130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1 Pin for shaft Carbon Steel D4x32 UNI 4838

135-1 Washer Galvanized steel @10.5x21x2 UNI 6592

135-6 Washer Carbon Steel 6

13741 Impeller spacer EN 1.4301 (AISI 304)

140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G 3/8

2121 Plug EN 1.4301 (AISI 304) G 3/8

212-2 Venting plug EN 1.4404 (AISI 316L)

219 Counter flange Galvanized steel

245 Coupling guard EN 1.4301 (AISI 304)

273-1 Plug Washer EN 1.4301 (AISI 304)

219

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG1

M3 | 1114 | 115 | 1151 | 1164 | 1156

NN NI I R R R I I I R R I I
B I I I I N I I I I T B = R [
N N N R N
B G N N N N I
R IR A A E E R I S st ||| ||| |||
o~
S olc|un|o|st|lo|lw|o|lalt|e|n|o
SRS R Il el Bl e R Rl R I e e S RN R R RN R Llafafafa|a|afafa|a|a|a|oaloaloafoafoloafololola
S|t 5
~ KEININIRIRIRIRIRI NIRRT RN RN Bl Bl Bl Bl el
R~~~ |~|~|~|~|~|~|~|~|[~|~|~|~|~]|~ o
R el o el e e e e ol Il I I e B e e I e I e
o~
N R R e N N e I N N N I R I I I R A R Y -
Slw|w ||| ||| ||| ||| x|[]|
o~
[E-J (R [ [ [ [ [ [ (U | | |OUY [N | [N U U N N (N (N <
N e e e R Rt ol S N e R I R B e
o~
~
S]]~~~ ]|~|[~]+
S]]~~~ ]|~
Qlaja|a|a|a|a|a|oa|afoa|oa|oajofo|o]ofo]o]ofo]o
la|a|afafa|ajoaloafafoa]o|o|ofofofo]o|o|ofo|o
oNW111111111112222222222
Slel|ell=l<l=|=l=|<|<|=l<]<|<|=|<]|<|<|-|~|<
. e
S~~~ =I=I=1=1===|=|=|===|=|=|=|= ||~
wm444444444444444444444
M///1///1///1///////// h
G l<|t|v| ||| ||| || ||| 2|~
m111111111112222222222 > —
Slelel=l=lel=|=l=]<lc|=l=]<|<|=|<]<]|=|=|<|<
N bl
gl-[olo|~|olz|2|2|x| 2|2 g]]3|2|2|2|2 |
o
- Q||| v ||| ||| T2 ]|
A e e e e e e e e e e R e e e e e e e e ~
PG R I I R I I R R R I I R R R A A T )
Sl ]|~|[~]+ =
S ~olslolololal<lolelo M444444444444444444444
N[N[fo|stfwloI~lolo 2|5 2|3 F|F|Qla|d|d|Sfa A
G|t ||| ||| 2|7 |||~
P R e IR I I I B I I ol I I I I I R I I IR [ I S
2]
S| ]|
L e e I B B I el I I B I I R I I I [ I IR [ I I
3 M444444444444444///l1/
B I I I R I G B I I B Y R I
i3 Y Y (N (i [ G S ) ) N I I I I R e M444444444444444444444
R N I R I R N I I E E S EE N R NN Wv444444444444444444444
=
Slel=l=l<l<|<l=l<|=l<|<|=||=|=|=|=|=|<|<]|~ Slw|s|s|s|v| s |v|v|~|<| |||~
«
I N N N N R Slafa|lajafalajafoalaloafoa|ofjofo o]~~~ [~]|~
© 0
sinisinlglglele|S|<(=|=|=|a|e|o|~|a]|~|afn sinlsislelelele(Ricl=|==]e|e|o|o|a|afafa
o 2121221221515 eSS S |S s|s|=s|d| || d|a o (21212212855 SlS IS S |s s s =|Q|d|d| g
2 (222222 |2|g|o|=|a|a|F|o|z|s|q|F|e|=]|a a |2|geelelg|e|e|e|s|=|qd|a|F|o|d|S|d|F|s K|
> [Q|s|F|v|s|R|[d|a|~|[~|~|<|~||-|q|N|[q Q|| > |Q|a|F|s|d|R|s|s|=|F|~[F|T|2||q|q|d|Q|S|&
[l Il D ol e g [ [ [ I B S g [ (g [y g TS [ il D i [ [ [y S B [ [ [ [ [N [l [
- EOREOR O ROR OB NORRORNORNORRORNORNORRORRORNOR RORRON NOR RORROR NO] - RO EOR O RORNOR NORRORNOR O RORNOR NORRORRORNOR RORRORNOR NONROR NO]
£ AR AR R R R R R R A R R R R A R A R A R A R A R R R 2 ] £ alo|o|o|la|la|e|o|a|e|e|o|a|a|e|e|a|lalala|a
S 2121212121515 5121512 2 2 2 2 2 2 2 2 2 2| | & |2|E|E\E R R 5 5 2 5 5 G B G G G| g g
L d|o|o|dd|d|dldo|dccddddoocdldld L | do|o|o|d|dolo|o|o| oo oo o|o|d| o dldlo

* only for Oval flange (N)

220

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

[MPa]
24

2.0 -

08—

0.4 —

P2
(kW]

280

[m]

240

200

160

120

80

40

020

0.16

0.12

0.08

NPSH 4

(m]

221

PERFORMANCE CURVE
EVMS(L)3
0 USgpm. 5 10 15 20 25
| | | | |
[ I I I I
0 Impg.p.m. 5 10 15 20
I~ 900
H
——28/40w— Lo ™
——2200mv— | T~
=210 | Th—
\ \ = ~—
= —20/3.0 kw—_ e~ T~ N - 700
[ [ ~+~— ‘\
— —19/3.01w . \“\“ — \\
ﬂl\\: \\ \\\\\
——17/3.0kw : \\\\\\\ \\‘ - 600
_——1‘ 6/3.0‘kW \\ \“\\\ \\\ \‘ \\
— _1‘ 5/3 O‘k\/v\ [ — —— \‘ \\\ \
_—1‘ 4/2.2‘kw 1= \“\\\\\\ \\\\Q\ \\ -
- 3/2.2‘kW T+ ‘\_\ \\\ \‘\\\&
Y 2v—— 1 \\\“\\ \\\\\\\ \\| L 400
sow== 1 —
—— 0/1A5‘kw— 1 ——— \\\ ‘\ NN
- q
— —19/ 1sw— — o — ‘\ \\\\\\\\\1 — 300
— —‘8/1.5 w— — L ———— \\\ — N
— —:7/1 A |:<W~ 4 — —— \\\ Q!
T T T — T
— _‘6/ 1.1 TW‘ -+ e \\\‘ - 200
— —?/0.75 ) — o — \\: Ny
- —“l/ 0.75 —— — “: ~—
= —3l055 w— — E— - 100
=—2/0.37 ksW———1—
0
0 20 40 60 80 Q[l/min]
| T T T T 1,
0 2 3 4 5 Qm’n
T 70
n% n
e 50  [%]
— e
——
__— SINGLE IMPELLER kW
10
0 20 40 60 80 Q [/min]
NPSH
10 If
"
=5
0
0 20 40 60 80 Q [/min]

Rotation speed #3500 min-*
Test standard: ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

Oval flange (N) DIN Loose round flange (LF) - DN25 Victaulic® connection (V)
C
4 holes @14
B J S L
o~ a8 = i |
I I — — G338 I |
<« i 0 1«; © W, <= N
| <] 2 b P
2 o Ul el HE gl DI, i®
R e Dol | ﬂ
© 100 4 holes @12
] 100 18 4holes 912 m 285 8‘ 149" ‘ D
== =] 149 180 20 ‘ ST
AT e3s 250 210 —
ﬁ
s ]
| 7
i DIN Round flange (F) - DN25 Clamp connection (C)
|
i
g ! 2 holes M0 4 holes 214
| — — —=
{ g — T SN ‘
‘ 638 | e [ = © fx @ - o
| | hai Ml e=lS (3| s = 2
O:EM» . E[S S | o Af,@i& s //é{ | “’0’1 i 8
8! s 1 — =) e — ‘
‘ ‘ T 4 holes @12
100 4holes @12 || 5 100 16 4holes @12 285 54 149 - 7
149 149 180 162 ‘ o0
160 ‘.L. 250 210 —
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) | Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
Weight Weight Weight
3~ Weight Pump + Weight Pump + Weight Pump +
Pmax kW Size A H2 Pump Motor H2 Pump Motor H2 Pump Motor
Pump Type [MPa] B Cc H3
EVMS(L)3 2/0.37 16 [037| 71 |@105| 139 114 216 | 250 9.9 15.7 275 | 106 16.4 250 9.8 15.6
EVMS(L)3 3/0.55 1.6 |055| 71 | @105 | 139 114 216 | 271 10.3 16.5 296 1 17.2 271 10.3 16.5
EVMS(L)3 4/0.75 1.6 0.75| 80 2120 | 141 102 233 | 302 1 19.5 327 11.6 20.1 302 10.9 19.4
EVMS(L)3 5/0.75 1.6 0.75| 80 2120 | 141 102 233 | 323 1.4 19.9 348 121 20.6 323 11.3 19.8
EVMS(L)3 6/1.1 1.6 11| 80 |@120| 141 102 244 | 344 | 11.8 21.8 369 | 125 22,5 344 | 17 21.7
EVMS(L)3 7/1.1 1.6 1.1 80 2120 | 141 102 244 | 365 12.2 222 390 12.9 229 365 12.2 222
EVMS(L)3 8/1.5 1.6 1.5 90 2140 | 160 119 291 396 12.7 26.2 421 13.3 26.8 396 12.6 26.1
EVMS(L)3 9/1.5 1.6 15| 90 |o140| 160 119 291 | 417 | 131 26.6 442 | 137 27.2 417 13 26.5
EVMS(L)3 10/1.5 1.6 1.5 90 2140 [ 160 119 291 | 438 13.5 27 463 14.2 27.7 438 13.4 26.9
EVMS(L)3 11/2.2 1.6 2.2 90 2140 [ 160 119 291 | 459 13.9 28.9 484 14.6 29.6 459 13.8 28.8
EVMS(L)3 12/2.2 1.6 22| 90 |[e140| 160 119 291 | 480 | 14.3 29.3 505 | 14.9 29.9 480 | 14.2 29.2
EVMS(L)3 13/2.2 1.6 22 90 2140 | 160 119 291 501 15 30 526 15.7 30.7 501 15 30
EVMS(L)3 14/2.2 1.6 22 90 2140 | 160 119 291 522 15.4 304 547 16.1 31.1 522 15.4 304
EVMS(L)3 15/3.0 1.6 30 | 100 | @160 | 176 123 342 | 553 16 38 578 | 16.6 38.6 553 | 15.9 37.9
EVMS(L)3 16/3.0 25 3.0 | 100 | #160 [ 176 123 342 - - - 599 17.6 39.6 574 16.9 38.9
EVMS(L)3 17/3.0 25 3.0 | 100 | #160 [ 176 123 342 - - - 620 18.1 40.1 595 17.3 39.3
EVMS(L)3 19/3.0 25 3.0 | 100 | @160 [ 176 123 342 - - - 662 19 41 637 18.2 40.2
EVMS(L)3 20/3.0 25 3.0 | 100 | @160 | 176 123 342 - - - 683 | 19.4 41.4 658 | 18.7 40.7
EVMS(L)3 21/4.0 25 40| 112 |e160 | 193 138 364 - - - 704 19.9 48.4 679 19.1 47.6
EVMS(L)3 22/4.0 25 40| 112 | @160 | 193 138 364 - - - 725 20.3 48.8 700 19.6 48.1
EVMS(L)3 23/4.0 25 40| 112 | 0160 | 193 138 364 - - - 746 | 20.8 49.3 721 20 48.5

TECHNICAL DATA

EVMS(L)3

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

222

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW

EVMS(L)3

140
128-6
135-6
120-6

AN}

//;ﬁi

43-3
52-1
44-1
43-7

VA4
IANNANNAN

\

223

/

(AN

with Oval flange (N)

z\ﬁ\uﬂ\w—/l'

b

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION
EVMS(L)3

’(\

\

with Round flange (F)

with Loose round flange (LF)

with Clamp connection (C)

with Victaulic® connection (V)

224

EBARA Pumps Europe

_—J=-T.ET

otice.

erves the right to make changes without prior n

EBARA Pumps Europe S.p.A. res



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)3

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-7 Spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
4| impelernut in nox nser it nox incert v
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
111 Mechanical Seal SiC / Carbon / EPDM / FPM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM 2129.54x5.34 OR 6510
115-3 O-Ring EPDM / FPM
115-4 O-Ring (cartridge sleeve) EPDM / FPM 211.91x2.62 OR 115
115-5 O-Ring (seal cover) EPDM / FPM 232.99x2.62 OR 3131
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3 Screw A2-70 UNI 7323 M4x10 1SO 4762
120-6 Screw for coupling Galvanized steel M6x25 1SO 4762
120-11 | Screw for counterflange A2-70 UNI 7323
MEC 71-80 M6x20 1SO 4017
120-13 | Screw for motor —_————] Galvanized steel 8.8 strenght class ISO 898/1
MEC 90-100-112 M8x20 1SO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-5 Nut for tie rod A2-70 UNI 7323 M10 UNI 7474
128-6 Nut for coupling Galvanized steel M6 1SO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 UNI 4838
135-1 Washer Galvanized steel @10.5x21x2 UNI 6592
135-6 Washer Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

225

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)3

MM22222222222222///////
N I IR I I I R I R R I S I R I I I A I I Y
)
B I e I I I R e IR I I R I R I R I I I I R
- bla|a|a|a|ala|oajalalalalalolalalaloaloalala
©
) MZ22222222222222222222
e R R R I e e R I e e R I e I R I I I I
- Lla|lajala|lafa|oa|afoa|o|ofo|ofofo|o|ofo|o|ofo
o e e e R I I I e e IR I I I o I R IR I R I I 3
&
IS ) oo wlol~|o|o IR 2la|laflalalalalalafoa|loafofo|ofof~|<[~[~|~[~[~
Slafofs|w|o|~lolo|2/S|NM2ITL2|25(2|R[J|N|Q I
— o
R7.v444444444444444444444 N e e ol I e ol o e Il e I I ol Il o Il I e Il e
o~
R~~~ |~~~ [~~~ [~~~ |~~~ dla|afa|a|afa|o|ofo|ofofo]ofofo|o|ofo|ofofo
o~
e Rl el R Rl Bl et R Rl el R R I R R IR R R IR [N R R Y O O (O O O ) O ) o
o~
R G G I
@ Sl clalalalalalalalalelalclclalalcl<]<]=
[ [ Y N [ Y [ (Y (U [P [N [ [y [y [y i R N R [ (N [ o
B e e e o S R I I R I R R IR I (R I
Qlaja|a|a|a|a|a|oa|a|o|o|o|ofo oo fo]|o]o o]
lala|a|a|afalafa|oa|ofoafoafoa|o|ofofoafoaloa]o]o
eNW444444444444444444444
Slelel<|clc]l<|=l<|<|=l<|]<|=|=|<]|<|<]+~
4111111111112222222222 i
~ wm444444444444444444444
S=|=1={==I=1=1=]==|=|=|= === === |~| = . &
N1
M//l1/l/1l//1l/l1//1// Bl |s|v| |||y ||| ||| ||| ||~
M111111111111111111111 -3 Bl Ball Ball Bl el Rl Bl el Bl Al Bl Rl R Bl Rl Bl Bl Rl Rl Bl A
o o
S|-|olo|~|o|S(22|S2|J|R|NIQQ[SF8(8[2 AR AR AR AR AR AR AR AR AR AR AR AR AR AR AR AR AR AR AR AR AR
&111111111111111111111 w333333333333333333333
R I IR IR I I AR IR A R IR IR A IR IR I I AR A A M444444444444444444444
Slafo|s]w]o|~]o|o|e|z|lelzlele|r]2|2|5|Y|Q
RS N R I i oy Ry
M444444444444444444444
N N N N N N N —
FIEIRAEARARARARARARARARARAR AR ARAR AR ARAR AR AN
L e e I e I I I I I B I I I I I IR [ I IR [ I =
Slel| ||| ||| ||| |||~
b S ol ol ol e I I I Il I o o ol e I I e e Rl e =
M44444444444444////l/l
VR R R Rl Bl e Bl R A A A B R I A R R S I T O Y S
gl<|<lalo|<|o]o|~lo|ale|e]ca]lele]e]=]=]2]g ‘M444444444444444444444
e e i 1 B R Y
IR N [ [ N N N N (U [JURY N NI JNI NI (NUR [N N N N NI (N SIRARIRRARARARARARARIRARARIR IR IR AR ARA AR
slgle|e o|lala|alalalalalalalalale AN ola|laln|afo]|alalalalalale
P 3 g i I e i e N RN S BN R el R el R Pl g e Il e e el S N RN RN R e K Rl el g S
4 LiL|LI2IZ|Z(Z|Z|S|=|d|as|F|v|o|x|s|S|c|q| o @ el ||| ||| |N|a|F|v|s|IR|s|S|c||a
2 [(Q|s|F|v|s|R|z|a|=|(F|<|=|[=|=|=|~|=|q|8|a|& 2 (Jlos|F|v|s|r|a|s|=|=|c|2|F|=|=|=|3||q|a|x
S EARAEAEIEI A EYEA R EAEAEA R - EAEAEA A R E - EY S A EIEEA I R EY A EA DA R B R EA R KA T e Y R R
a (2222222222222 2|22|222|22 a (2222222 (2222222222222
£ DN DD 0| DD |0 | DD D DD D DD D |D|D|D|D|D £ DO D DD | D DD | D2 |D|D|D|D|D|2|D|D|D|D|D
s (2222|2222 |12|12|=2(=22==|2|2|=2 s |[S2[|2|2|2|=|=|=2|22|2(==s|2(=(=|1=(=(2|12(=2|2
a (== 1=21=2=212121=21=2121=20=2=212=2=222=22 2 [ I P D S I P P P I - I - I I I I I I I I
||| D|o|D|D|L|Dh|D||Dh|D|L|D|o|L|D|ofd|o L |D|o|L|D|o|L|D|o|L|Dh|o|o|Db|o|lL|D|o|d|o|d

* only for Oval flange (N)

** only for Loose round flange (LF)

226

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

[MPa]
24

2.0 -

08—

0.4 —

P2
(kW]

280

[m]

240

200

160

120

80

40

020

0.16

0.12

0.08

NPSH 4

(m]

227

PERFORMANCE CURVE
EVMSG3
0 USgpm. 5 10 15 20 25
| | | | |
[ I I I I
0 Impg.p.m. 5 10 15 20
— 900
H
——28/40w— gop
——2200mv— | T~
=210 | Th—
| | -+~ o
= —20/3.0 kw—_ e~ T~ N - 700
| I T~ ‘\
— —19/3.01w . \“\“ — \\
ﬂl\\: \\ \\\\\
——17/3.0kw : \\\\\\\ \\‘ - 600
_——1‘ 6/3.0‘kW \\ \“\\\ \\\ \‘ \\
— _1‘ 5/3 O‘k\/v\ —— — —— \‘ \\\ \
_‘1‘ 4/2.2‘kW = \\\\\ \\\\Q\ \\ o
- 3/2.2‘kW T+ ‘\_\ \\\ \‘\\\&
Y 2v—— 1 \\\“\\ \\\\\\\ \\| L 400
2T — — ~ NN
— 10/ 5w — — 1 —— \\\ NN\
- Q
A L e = o \\\\\\\\\1 L 300
— _‘8/ 15 l‘(W‘ 4 \\\ \\\ \ \
— —:7/1 1 |:<W~ 4 ———— I \\\ Q!
T T T — e
— _‘6/ 1.1 TW‘ -+ e \\\‘ - 200
— —?/0.75 ) — o — \\: Ny
- —4‘1/0.75 W= — ‘\ R
= —3l055 w— — — [ 100
=—=2/0.37 kxW\———
0
0 20 40 60 80 Q [Ifmin]
| T T T T 1,
0 2 3 4 5 Qm’n
‘ 70
n% n
— 50 [%]
— e
L 30
—
// SINGLE IMPELLER kW
10
0 20 40 60 80 Q [/min]
NPSH
10 If
——
=5
0
0 20 40 60 80 Q [/min]

Rotation speed #3500 min-*
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS 60 Hz

TECHNICAL DATA
EVMSG3

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN25
c c
1 18 ‘%4.}&
? e
L3 @
L3 @
A | G A | c38
/ ﬁ
S 2 holes M10 e 4 holes 214
SN W
I I =) =1
- i, ( —F G38 «l Pt [
- =15 =885
A Weeli=ls 4Ol J [HIPEHEREES
| .
‘%‘ 4 holes 012 | 100 18 4 holes @12 H
149
160 210 %0
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
3~ H2 Weight Pump + H2 Weight Pump +
Pmax | KW Size A Pump Motor Pump Motor
Pump Type [MPa] B C H3
EVMSGS3 2/0.37 16 |037| 71 |e105| 139 114 216 | 250 | 123 18.1 275 | 15.7 215
EVMSGS3 3/0.55 16 |055| 71 |e105| 139 114 216 | 271 | 127 18.9 296 | 16.1 22.3
EVMSG3 4/0.75 16 |075| 80 |e120| 141 102 233 | 302 | 134 21.9 327 | 16.8 253
EVMSGS3 5/0.75 16 |075| 80 |e120| 141 102 233 | 323 | 138 223 348 | 17.2 25.7
EVMSG3 6/1.1 1.6 11| 80 |[@120| 141 102 244 | 344 | 142 242 369 | 17.6 276
EVMSG3 7/1.1 16 11| 80 |[@120| 141 102 244 | 365 | 14.6 24.6 390 18 28
EVMSG3 8/1.5 1.6 15| 90 |[e140| 160 119 291 | 39 15 285 421 | 184 31.9
EVMSG3 9/1.5 1.6 15| 90 |[e140| 160 119 291 | 417 | 155 29 442 | 189 324
EVMSG3 10/1.5 16 15| 90 |[@140| 160 119 291 | 438 | 15.9 29.4 463 | 19.3 32.8
EVMSG3 11/2.2 1.6 22| 90 |e140| 160 119 291 | 459 | 16.3 31.3 484 | 197 34.7
EVMSG3 12/2.2 1.6 22| 90 |e140| 160 119 291 | 480 | 16.6 316 505 20 35
EVMSG3 13/2.2 1.6 22| 90 |e140| 160 119 291 | 501 | 17.4 324 526 | 20.8 35.8
EVMSG3 14/2.2 1.6 22| 90 |e140| 160 119 291 | 522 | 17.8 32.8 547 | 21.2 36.2
EVMSG3 15/3.0 1.6 30| 100 | @160 | 176 123 342 | 553 | 183 403 578 | 21.7 437
EVMSG3 16/3.0 25 30| 100 |e160 | 176 123 342 | - - - 599 | 22.7 447
EVMSG3 17/3.0 25 30| 100 | @160 | 176 123 342 | - - - 620 | 23.2 452
EVMSG3 19/3.0 25 30| 100 | @160 | 176 123 342 | - - - 662 | 24.1 46.1
EVMSG3 20/3.0 25 30| 100 | @160 | 176 123 342 | - - - 683 | 24.5 46.5
EVMSG3 21/4.0 25 40| 112 | @160 | 193 138 364 | - - - 704 25 53.5
EVMSG3 22/4.0 25 40 | 112 | o160 | 193 138 364 | - - - 725 | 254 53.9
EVMSG3 23/4.0 25 40 | 112 | o160 | 193 138 364 | - - - 746 | 259 54.4

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

228

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMSG3
140
128-6
32-1 2 135-6
162 120-6
L /Vf_\ —~
131-1 N el W / AN
130-2 . |
= ] 212
130-1 Y >
75
120-3 N
245 | 111-4
128-1 /‘Q N ) 120-13
135-1 N7 NI 111-3
o )
212-2 < g 115-5
4 : 111-5
111
& 46
47
N T 54
*\\ \
s & é}m *\\\ 5-2
52-1 S ’ 53
44-1 e 31
- J /—
3t V 7
43-7 ZBR 21
AN 5-1
- L 107
N = 75-1
6 i 273-1
48 - 212-1
120-11 ‘
117
219
with Oval flange (N)
229
EBARA Pumps Europe 5 ERARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 60 Hz

PIPE CONNECTION
EVMSG3

with Round flange (F)

230
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG3

N° PART NAME MQJ“EEIQL DIMENSIONS STANDARD

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing Cast Iron EN GJL-250EE1551

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

31 Shaft EN 1.4301 (AISI 304)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)

43-7 Spacer EN 1.4301 (AISI 304)

44-1 Shaft sleeve bearing Tungsten carbide

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4404 (AISI 316L)

48 Impeller nut A2-70 UNI 7323 with inox insert M8

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM / FPM @12.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM / FPM

107 Liner ring EN 1.4301 (AISI 304) + PPS

1M1 Mechanical Seal SiC/Carbon/EPDM / FPM

111-3 Mechanical seal seat EN 1.4301 (AISI 304)

111-4 Seal holder EN 1.4301 (AISI 304)

111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)

115-1 O-Ring (outer casing) EPDM / FPM 3129.54x5.34 OR 6510

115-4 O-Ring (cartridge sleeve) EPDM / FPM @11.91x2.62 OR 115

115-5 O-Ring (seal cover) EPDM / FPM 232.99x2.62 OR 3131

17 Flange gasket EPDM / FPM

120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10

120-3 Screw A2-70 UNI 7323 M4x10 1SO 4762

120-6 Screw for coupling Galvanized steel M6x25 1ISO 4762

120-11 Screw for counterflange A2-70 UNI 7323

120-13 | Screw for motor —MEC 71-80 Galvanized steel 8.8 strenght class ISO 898/1 M6x20 IS0 4017
MEC 90-100-112 M8x20 1SO 4017

128-1 Nut for tie rod Galvanized steel M10 UNI 5588

128-6 Nut for coupling Galvanized steel M6 1ISO 4032

130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1 Pin for shaft Carbon Steel D4x32 UNI 4838

135-1 Washer Galvanized steel 210.5x21x2 UNI 6592

135-6 Washer Carbon Steel 6

13741 Impeller spacer EN 1.4301 (AISI 304)

140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G 3/8

2121 Plug EN 1.4301 (AISI 304) G 3/8

212-2 Venting plug EN 1.4404 (AISI 316L)

219 Counter flange Galvanized steel

245 Coupling guard EN 1.4301 (AISI 304)

2731 Plug Washer EN 1.4301 (AISI 304)

231

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG3

M3 | 1114 | 115 | 1151 | 1164 | 1156

NlN|[N|[N[NN|N|N[N[N|[N NN N[N [N N[N NN
B N e I e e S e e R e e e e R R e
B N N e S N e G R e N e R
B R R R e R R R R R R R R e R R R B
Elv||l=||=|=|]|=]=|=|=|=|=||=|=]|=|~|~
S |||~
Blafo|t|o|o|~lo|ole|z|a]|e|z]ele|=|2|g|s|a] S
— m222222222222222222222
ARANARANARARANARANARARAR ARG AR RARARAR AR
m22222222222222///////
O |||l |=|~]|~]|~]|+
2§
[ e e e e I I I I I I I e I I I I I I e o
R R R B R R R B R R B B T S S S N S SR SR Y N
m444444444444444444444
R ||| |||~~~ &
N e e el e R R R e B B R B R R R R B R R R B
ISl R R e R B e R R R R R e R e e e e R e e
=R e R e e e e e e e e e R e e e e e e e e
%222222222222222222222
0o v m222222222222222222222
Z F (| e
~ EE R R Rl B R R Bl R B R R B B R R R R R R R B
3l Bl Bl Bl Bl I I I I I I Il Rl Rl Bl R R B R R R By
m %444444444444444444444
~|~[~|=~[~|~[=|~|~[~|~|~|~|~|~]~|~|~]|~|~ foe]
G ||| ||| ||| ||| |||~
gl-l=[=[-l=[--[=-[-]=[=]=[=]=]-[<]=[=[<]-] |. &
z
o S|~~~ |~|~|~|~|~|~|~|~|~|~|~|[~|~|~]|+~
Bl -|o|o|~]ol=|2|e|=|2|x|r]8|x|c|&]%|3|8|8]2 B
o
< EIRARARARARARARARARARARARARARAR AR AR AR AR AR AR
e R el e e R e e Il e e I e I I R I I I I e}
— w333333333333333333333
Slel=|<|=|=|<|=|=|=|=|=|=|=|=|=|=|=|=|=|~]|~ e}
Slalo|<|lo|o|rololals|a|e|zlelel~|2glslalg AR R R R R R A R A R RS RS R A R A Al A
[N [ P R 1 g Ny [ N [ (N [ N Oy IR AR R R AR R R R R R R R R RS R R R
@
o=~ |=|=|=|=|=|=|=|=||=|=|=|~|~|~]|< SERAMARARARARARARERIRIRARERIRERERERERER AR AR
Sl (RS RS N N [y G U O I [ [ iy [ (N R i e AR AR AR R AR A R R R Bl Bl e e el el
Rl R Rl o el Rl R B A A R T R R I I I R A O Y M444444444444444444444
S~ |a|o|s|w|o|l~|o|ao|2|2|=(Y2IL|=|R(2|R M444444444444444444444
o e e e e e e e e ol e e e e e o e e e e IR ARAR AR AR AR AR AR AR AR AR AR AR AR AR AR AR AR
e R Rl Rl el el I B e I Il R I I R I I I I I R Slajlalajafa|la|oafafloa|oafafo|o o~ <[~[~]~[~|~
|g|o|w vln|ln|n|afoloflo|alala|ale NEIFIN oln|lalalnfolololo]a|ala|e
PR D el I e e i e e o N RN RN ) R el e e N o [Zlgl5lalz|zl2|es|d|e|d|Y|e|e|e|e|e|s|2|s
e |2(2gg= =S| |s|o|=|q|a|F|w|o|=R|s|s|c|q|o e |2(2ggl= || |S|o|=s|q|a|Tf|w|o|=s|o|s|S|d|o
> ([N|o|g|lvw|[O|~N|O|B|v~ |||~ |~|~|~|~|~|N|N|N|N > (NI VWO IN|O|O |||~~~ ||| [N[N[N|N
T333333333333333333333 L I R R I I B R R R R e B e A B R R e R e e R )
[ RO ROR OB OB NORNORRORROR ROR ROR RORNORNORNORNORROR ROR ROR NOR NOR NO) [N RO OB NOR NORNORROR RO ROR ROR ROR OB NOR NOR NORNOR RO ROR NOR NOR JOR ROJ
£ |2|o|a|o|o|a|o|o|a|e|o|a|a|e|a|e|a|a|(a|a|n £ |2|o|a|le|o|a|le|o|a|le|o|a|e|e|a|e|o|a|(a|a|n
S (2222|2222 |12|12|2(=2(22=|2|2|2 S (2222222222222 |=(2(=(2|2|2|2|2
[ I 2 P P D I I I I I I I I I I I I I I [ I I I - - - I - = I I I I I B I I - e
Lo|o|b|o|o|b|L|b|b|L|b|b|u|b|o|d|Db|o|d|D Lo b|o|b|b|o|b|b|b|b|b|w|b|D|o|D|o|d)|d

* only for Oval flange (N)

232

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PERFORMANCE CURVE
EVMS(L)5
0 USgpm. 10 15 20 25 30 35 40 45
| ! ! ! ! | ! ! !
I T T T T T T T
0 Impgpm. 5 10 15 20 25 30 35
280
\ | — 900
p H L —19/754 —
[MPa] [m] S~
24 ~ - 800
20 _~17/7.5 — _ S
\ I
| —16/55w [~ ~
71‘5/5 5 S \\\ \\ -
— — O kW —0
209 o0 | = ™~ N
- —14/55mw — \"\\ N NG \\
~ T TN
L —1 ‘3/5.5 W — \‘\\~\\ \\ - 600
= BE —~ RN
167 160 —— } 0 k\IN\ T \\\ S~ \\\\\ \
L 11/a0w— __ T T OO N 500
L —1 ‘0/4 0 kW E— —~—— ] \\ \\\‘\\
! . | T \\ \\\\\ \
12 g OBoK— — \\\ ‘i\i\i X -
- —8/3.0kw L \\\\\‘\\\\\\\\
B | . kv:l\ T=r — \\\\\‘\\\ - 300
0.8 g0 = —6/2.20m— — o — ~~__
ﬁ‘s/z 2 ™~ \‘\ \\
| ij/ T I e e L 200
— —-4‘1/1.5 W— — . o —— \\\\
\ L — -~
04 — 40 F—==3/11wWw=—=— . ‘\ -
= —2/075 v — — — |— —
—
0— 0 0
0 20 40 60 80 100 120 140 160 Q[limin]
T T T T T T T T T T 3
0 1 2 3 4 5 6 7 8 9 10 Qmh
04 70
P2 et 0 —
kW] 036 — n% 50
]
028 ,l// 30
//
— SINGLE IMPELLER kW
020 | ‘ | 10
0 20 40 60 80 100 120 140 160 Q [imin]
NPSH & L 15
(m]
4 — 10
’/'
-5
0
0 20 40 60 80 100 120 140 160 Q[limin]
Rotation speed =3500 min-'
Test standard: 1ISO 9906:2012 - Grade 3B
233

Ift

(%]

NPSH
it

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMS(L)5

Oval flange (N) DIN Loose round flange (LF) - DN32 Victaulic® connection (V)
c
4 holes @18
== o H == E |
ka I ‘E 20 4holes @12 T
A | Gas ;gg 210 20
- o
| DIN Round flange (F) - DN32 Clamp connection (C)
kS i 2 holes M10 4 holes 018
| J T
« gl o2 e e <12
sl "k : fo ﬁ "1 —t
ﬁ ‘AT 4 holes 212 4 holes 912
1100 | 4 holes @12 1100 _| 19 oles &
149 149
160 ‘ 210 250
Dimensions [mm] and Weights [Kg]
Ovatfange ) | urefene ()| Vicaunc cornection
Weight Weight Weight
3~ Weight Pump + Weight Pump + Weight Pump +
Pmax. | KW Size A H2 Pump Motor H2 Pump Motor H2 Pump Motor
Pump Type [MPa] B C H3
EVMS(L)5 2/0.75 16 |075| 80 |e@120| 141 102 233 | 274 | 98 18.3 299 | 10.8 19.3 274 | 97 18.2
EVMS(L)5 3/1.1 16 11| 80 |[@120| 141 102 244 | 302 | 102 20.2 327 | 113 213 302 | 102 20.2
EVMS(L)5 4/1.5 1.6 15| 90 |@140 | 160 119 291 | 340 1 24.5 365 12 255 340 | 10.9 24.4
EVMS(L)5 5/2.2 1.6 22| 90 |e140| 160 119 291 | 368 | 11.4 26.4 393 | 125 27.5 368 | 114 26.4
EVMS(L)5 6/2.2 16 22| 90 |e140| 160 119 291 | 396 | 11.9 26.9 421 | 129 27.9 396 | 11.8 26.8
EVMS(L)5 7/3.0 1.6 30 | 100 | @160 | 176 123 342 | 434 | 127 34.7 459 | 13.7 357 434 | 126 34.6
EVMS(L)5 8/3.0 1.6 3.0 | 100 | @160 | 176 123 342 | 462 13 35 487 14 36 462 | 129 34.9
EVMS(L)5 9/3.0 1.6 30| 100 | @160 | 176 123 342 | 490 | 13.4 35.4 515 | 14.5 36.5 490 | 134 354
EVMS(L)5 10/4.0 16 40| 112 | o160 | 193 138 364 | 518 | 139 424 543 15 435 518 | 13.9 424
EVMS(L)5 11/4.0 1.6 40| 112 | 0160 | 193 138 364 | 546 | 14.7 43.2 571 | 157 44.2 546 | 14.6 43.1
EVMS(L)5 12/4.0 1.6 40| 112 | o160 | 193 138 364 | 574 | 158 443 599 | 16.8 453 574 | 15.7 442
EVMS(L)5 13/5.5 25 55| 132 | @300 | 220 152 399 | - - - 721 | 239 62.9 696 | 22.8 61.8
EVMS(L)5 14/5.5 2.5 55| 132 | @300 | 220 152 399 | - - - 749 | 244 63.4 724 | 233 62.3
EVMS(L)5 15/5.5 25 55| 132 | @300 | 220 152 399 | - - - 777 | 249 63.9 752 | 23.8 62.8
EVMS(L)5 16/5.5 25 55| 132 | @300 | 220 152 399 | - - - 805 | 255 64.5 780 | 24.4 63.4
EVMS(L)5 17/7.5 25 75| 132 | 8300 | 220 152 419 | - - - 833 | 26.1 72.1 808 25 71
EVMS(L)5 19/7.5 25 75| 132 | @300 | 220 152 419 | - - - 889 27 73 864 | 259 71.9

1.6 MPa=16 bar ;
- not available model

2.5 MPa=25 bar

234

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMS(L)5

140
p 128-6
135-6
49.1 120-6
162 s iy T
131-1 I I A
130-2 , \ /Ay N
" =\ |/ 75
130-1 y S Vab-
120-3 /é//// TSN ) 111-4
245 \ W 120-13
128-1 ‘Q 7 , 11-3
135-1 NUST/ANg 1155
2122 < | ’/?" = 111-5
4 52} L 11
115-4 ' 46
M50 — )\ M 47
1201 ———— ~ ] 5-4
32— | N .
433— ||| 2T 52
434 \@;::\ 53
52 ————— 1 I— 44-1
43-5 i — 31
137-1 \ > \A//// 21
48 s%\\ 7z 5-1
6 — Y E:% 107
115-3 iy i H 273-1
120-11 T | 75-1
219 @\ 212-1
TT—— 160
/1// 1285
@
with Oval flange (N)
235
EBARA Pumps Europe % ERARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SRS /{
(&=

X

.l\ 7N
««\\ﬁ\\\

2

5 a
TR

w

z2

oS

(ST

L

o

o

with Round flange (F)
with Clamp connection (C)

with Loose round flange (LF)
with Victaulic® connection (V)

236

EBARA Pumps Europe

_—J=-T.ET

otice.

erves the right to make changes without prior n

EBARA Pumps Europe S.p.A. res



60 H: EVMS

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE
EVMS(L)5

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
441 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
15 [mpetorn e e s
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
11 Mechanical Seal SiC / Carbon / EPDM / FPM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM 2129.54x5.34 OR 6510
115-3 O-Ring EPDM / FPM
115-4 O-Ring (cartridge sleeve) EPDM/ FPM 211.91x2.62 OR 115
115-5 O-Ring (seal cover) EPDM / FPM 232.99x2.62 OR 3131
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3 Screw A2-70 UNI 7323 M4x10 1SO 4762
. up to 4.0 kW . M6x25 I1SO 4762
120-6 Screw for coupling S —— Galvanized steel
above 5.5 kW M8x20 1SO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1SO 4017
120-13 Screw for motor MEC 90-100-112 Galvanized steel 8.8 strenght class 1ISO 898/1 M8x20 1ISO 4017
MEC 132 M12x40 1SO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel M12 1SO 4032
128-5 Nut for tie rod A2-70 UNI 7323 M10 UNI 7474
128-6 Nut for coupling Galvanized steel M6 1SO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 UNI 4838
135-1 Washer Galvanized steel 210.5x21x2 UNI 6592
135-6 Washer Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
X up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

237

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)5

W22222222222/l//l/
W lafafafafo|a|a]|o|o|o|ofofofo]o]|o]o
M11111111111111111 O lafafafofoafoafofofofofo|o|o|ofofofo
~ ©
< -
s~~~ |~[~|~|~|~|[~|~|~ m22222222222222222
Zlele]] =]l ]|<]]|=]]|<]+
p= Llo|ofa|afa|afofoafo|ofafa]ofofoafo]o
E0 0 T &l lalalalalalalalalalafa|~[~[<~]~]~]~
I
5 =} N wlo|~|o
glafolv[o|o|~]o|o]2|s|e|e]|t|e]e]|x|2 3
I
G lafafafafala]afo|o|o]ofofofofofofo -
dlafafafofoafoafofofofofo|o|o|ofofofo
~N
Yo [RUS [P [ (U U Y | (U (U U [ [ (U iy gy
N N N I R
— &
R A A A A A A A A R R IR RTINS
R R e e e e e e e e e e e e e e e
== [ [ [ (R [ [ N [ N [ G [N R R G U
I e e e e e e e e e e e e e e R
S|l ]|~|~]~
Lla|a|afa|aflala|o|ofofofo]o]|o]|ofofo
L lafafafafoa|o|o|o|o|o|ofofofo]|o]|o]o
N Elelelelelelelelelelele]e]le]le]<]<]~
NW44444444444444444 o
W11111111122222222 m44444444444444444
M/1//1//1//1//1/// S B |||t
m11111111122222222 AR R R Rl B Rl B B R B R R B R R R R
oo NI &
Al D A R N AR AR AR AR AR AR AR AR AR AR AR AR AR AR AR AR
o “|o|lv[~r[~o|c|o|lv(s|o|o -<
D e e e e R R e R R S R R A I R Slo|o|o|o|o|o|olofo|olofo|lolo|fo|o|o
B e e e e e e e e e e e e e e R B
& M44444444444444444
(o<l l<|<]<|<|<]<]<T=]<
@ M44444444444444444
S|nfofs|vlo|~olo|2|5|&2(TI2/2I52
M///////////444444
N R o o R o e e o e e e R R R e
FIRARARARARARARIRARARAR AR AR AR AR AR AR
o |||~~~ Al
el
EIRARARARANARARARARARARAR IR IR ARAREN
o RS [N N O I N NN (N Y ) N N () Y )y &
.n
M444444444441//l//
Bl ||~||~|a]|a|n|ea )
Pl c|alol<|o|o|m|o|o|o|e|c]|a|e]z]e M44444444444444444
e e e -1 B B
R I el R R R B I I I IR I e R I I I SIEARAR AR AR ARAR AR AR IR AR AR ARIR AR AR AR
'3 o|lala|w|ulv|v|v|n 0 olo|e|vlvlu|v|v|n
glz|2ldlSlglelgl 2l 2lelele|els|y P D i DN NS e e e S e S A A A T R N
W%MMWW%M%O12345679 N%WMWMM%%O12345679
= Py ey ey [ ey [ el [P ol (FoY (oY [ o [ o [ o [f o [ o [f o [Fo§ [ oY |} o} P |2|elo|olv|lv|elvlvlv|v|e|vlolv|n|re
a 22222222222 222222 o 2222222222222 2[22|2
£ DIDD|D[(D[D]|R|D|D[D|D|DR[(D|D|D[D|D E |Q(Q|2|A|2|Q[AQ[(R|R2|A[R|R|R|R|R|2|NQ
s (2222|2222 |12|12|=2(=2(=2=2 =R =3 = = = =3 (b= [N = (D= I3 [ [ I3 [ [ =3 b=
a (=== 1=2=21=2121=21=2121=2=22120=2022 a |[=(=21=21=21221=2121=21=2=21=21=202120202
L|L|L|L|o|w|D|Db|D|D|D|o|o|o|D|D|D L |L|L|n|D|D|DL|L|D|o|o|D|D|D|D|D)|D

* only for Oval flange (N)

** only for Loose round flange (LF)

=[] shaftin EN 1.4462 (AISI 329A)

128-3: only for motor above 5.5 kW (see drawing pag.247)

238

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PERFORMANCE CURVE
EVMSG5
0 USgpm. 10 15 20 25 30 35 40 45
| ! ! ! ! | ! ! !
I T T T T T T T
0 Impgpm. 5 10 15 20 25 30 35
280
\ | — 900
p H L —19/754 —
[MPa] [m] S~
24 ~ - 800
20 _~17/7.5 — _ S
\ I
| —16/55w [~ ~
71‘5/5 5 B \\\ \\ o
— — O kW —0
201 a0 = ™~ N\
- —14/55mw — \"\\ N NG \\
~ T TN
L —1 ‘3/5.5 W — \‘\\~\\ \\ - 600
= BE —~ RN
167 160 —— } 0 k\IN\ T \\\ S~ \\\\\ \
L 11/a0w— __ T T OO N 500
L —1 ‘0/4 0 kW = ~—~—— i \\ \\\‘\\
! . | T \\ \\\\\ \
12 ok — — — \\\ ‘i\i\i \ 400
- —8/3.0kw L \\\\\‘\\\\\\\\
— } 3.0 kv:l\ —_ | — \\\\\‘\\\ L 200
0.8 g0 = —6/2.20m— — o — ~~__
ﬁ‘s/z 2 ~ \‘\ \\
| ij/ T I e e L 200
— —-4‘1/1.5 W— — . T —— \\\\
\ L — -~
04— 40 —==3/11w——o — i ——~
= —2/075 v — — — |— —
—
0— 0 0
0 20 40 60 80 100 120 140 160 Q[limin]
T T T T T T T T T T 3
0 1 2 3 4 5 6 7 8 9 10 Qmh
04 70
P2 et 0 —
kW] 036 — n% 50
]
028 ,l// 30
//
— SINGLE IMPELLER kW
020 | ‘ | 10
0 20 40 60 80 100 120 140 160 Q [imin]
NPSH & L 15
(m]
4 — 10
’/'
-5
0
0 20 40 60 80 100 120 140 160 Q[limin]
Rotation speed =3500 min-'
Test standard: 1ISO 9906:2012 - Grade 3B
239

Ift

(%]

NPSH
it

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 60 Hz

TECHNICAL DATA
EVMSG5

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN32
C C
" [
2 2
& &
b ki
A | G3B A | | cam
v e
] =0
ES 2 oles M10 B 4 holes 218
i I
(= H \ H G38 B =t ) /:%,]% G38
- = - o |2 |
H W <= T D H =2 R e
i v S o HPCIHIEEE  f52ap
| .
100 | 4holes 012 l}] | 75 | ~ 100 2 4 holes 912 m 100 <
149 180 aEyT 180
160 210
250 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
3~ Weight Pump + Weight Pump +
Pmax kW Size A H2 Pump Motor H2 Pump Motor
Pump Type [MPa] B Cc H3
EVMSGS5 2/0.75 16 |075| 80 |@120 | 141 102 233 | 274 | 109 19.4 299 | 159 24.4
EVMSG5 3/1.1 1.6 11| 80 |[e120| 141 102 244 | 302 | 114 214 327 | 164 26.4
EVMSG5 4/1.5 1.6 1.5 90 2140 | 160 119 291 340 121 25.6 365 171 30.6
EVMSG5 5/2.2 1.6 22| 90 |e140| 160 119 291 | 368 | 126 276 393 | 17.6 326
EVMSGS5 6/2.2 1.6 22| 90 |e140| 160 119 291 | 396 | 13.1 28.1 421 | 1841 33.1
EVMSG5 7/3.0 1.6 3.0 | 100 | 2160 [ 176 123 342 | 434 13.8 35.8 459 18.8 40.8
EVMSGS5 8/3.0 1.6 3.0 | 100 | @160 | 176 123 342 | 462 14.1 36.1 487 19.1 411
EVMSG5 9/3.0 1.6 3.0 | 100 | @160 [ 176 123 342 | 490 14.6 36.6 515 19.6 41.6
EVMSG5 10/4.0 1.6 4.0 112 | 2160 | 193 138 364 | 518 15.1 43.6 543 20.1 48.6
EVMSG5 11/4.0 1.6 40| 112 | @160 | 193 138 364 | 546 15.8 443 571 20.8 49.3
EVMSG5 12/4.0 1.6 40 | 112 | 160 | 193 138 364 | 574 | 16.9 454 599 | 21.9 50.4
EVMSG5 13/5.5 25 55| 132 | @300 [ 220 152 399 - - - 721 29 68
EVMSG5 14/5.5 25 55| 132 | @300 [ 220 152 399 - - - 749 295 68.5
EVMSGS5 15/5.5 25 55 | 132 | @300 | 220 152 399 - - - 777 30 69
EVMSGS5 16/5.5 25 55| 132 | @300 [ 220 152 399 - - - 805 30.6 69.6
EVMSG5 17/7.5 25 75| 132 | @300 [ 220 152 419 - - - 833 31.2 77.2
EVMSG5 19/7.5 25 75| 132 | @300 | 220 152 419 - - - 889 | 32.1 78.1

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

240

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMSG5

212
75
with Oval flange (N)
241
EBARA Pumps Europe % ERARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 60 Hz

PIPE CONNECTION
EVMSG5

with Round flange (F)

242
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG5

N° PART NAME Mé\;l,-;glé" DIMENSIONS STANDARD
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250EE1551
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM / FPM 212.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM /FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS
1M1 Mechanical Seal SiC / Carbon / EPDM / FPM
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM / FPM @129.54x5.34 OR 6510
115-4 O-Ring (cartridge sleeve) EPDM / FPM @11.91x2.62 OR 115
115-5 O-Ring (seal cover) EPDM / FPM ©32.99x2.62 OR 3131
17 Flange gasket EPDM/ FPM
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10
120-3 Screw A2-70 UNI 7323 M4x10 ISO 4762
up to 4.0 kW M6x25 ISO 4762
120-6 Screw for coupling Galvanized steel
above 5.5 kW M8x20 ISO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 I1SO 4017
120-13 Screw for motor MEC 90-100-112 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 ISO 4017
MEC 132 M12x40 1SO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel M12 1SO 4032
128-6 Nut for coupling Galvanized steel M6 1SO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D4x32 UNI 4838
135-1 Washer Galvanized steel 210.5x21x2 UNI 6592
135-6 Washer Carbon Steel 26
137-1 Impeller spacer EN 1.4301 (AISI 304)
X up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 Plug EN 1.4301 (AISI 304) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304)

243

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG5

Wi |afa|oafa|ofoafoa|ofofo]ofoa|ofo]|o
e Y Y N N (N [N [N [P O [ [ [ () () [ i
||l ]|]=]|]]|~]~ oy
b= Q||| ||| T[T
N
lelelelelcle|<l]l=]=|<]=]|<|<]|]|~
= Llo|a|a|a|a|ala|oafoafoafofofofo]|o]o]o
- W22222222222///l//
Slafot|v|o|~|ofo|2s(¥(2T|2e|x|2 §
P RS G R U [N U N (PR U (N [P ) [P [ [ )
— &N
ARSI ARARARARARARARARARANIRARERAR] =
A A A A A A
S
[ e e I B I R R I I I [ I B I I e
N I e e e i e e o B o o S S R
— ~
A A A A A A A A A R R IR IR RIS
P e e e e e e e e e e e e e e e
-3 e R R [ I B e e e e o e e S S e
- la|la|a|a|aflala|a|o|ofofo]o]o]|ofo|o
I e R Rl Rl Rl B e e e e e e R e e e
X Y [ [ Y NI BN [P [P [ N N (N (N (U [ [
F<=2 IV IV IV VIR IV IV ISV ISV IV IV IGVIN IV IOV ISV QNN IV IS ar]
°NW11111111122222222 W44444444444444444
M/1//1//1//1//1/// B s ||| ||| ||| |||~
m11111111122222222 S s |~~~ |~|~|~|~|~]|~|+~
oo NI &
Al Il I I A N AR AR AR AR AR AR AR AR AR AR AR AR AR AR ARAR:
o “|o|lv|~s[~lo|c|o|lv|~|o|o <
M N A A N S N S R IR R I R Sleo|o|o|o|o|o|ololo|olofo|lofo|fo|o|o
%11111111111111111
M44444444444444444
PR [ R O R O (R N =
hatd K~~~ ~|~[~|~|~[~|~|~[x|<|x|x|~|~
S|njofslvlo|~olo|2|F|82(TI2/252 =
FIRARAR AR AR AR AR AR AR AR AR AR AR AR AR AR AR
~<l<l<l<l<l<l<T<l<l<l<l<[<|<]<]<< i
SIRARARARANANARARANARIRARIRIRARAREN
R e e I R B e e I e I I I I I I I =
M44444444444//////
b ol S [ [ [ () ) ) e e e s
M44444444444444444
Bl |~v|~||a|a|a||e =
0 N PN Y S IS P N P S e Y R B R ) M44444444444444444
2= [ [~ === [~ ]~] - &l l<[<|<[<|<|<|<]=|]<|<|<]=]<]<|~
N e R R e R R R B e R B R e B R B Sla|lafala|lafa|loafoafa|o|o |~~~ ~[~]|~
'3 olola|w|w|w|v|v|n ) olola|w|w|w|v|v|n
e [Z|Z|2|9|S|glglgZlZlZlele|e|e|x|s o [Zlzl2ldISglglgIZlg|g|e|e|elelss
e |29 (Y9|Q|Q|Q|S|F|d|a|TF|w|o|=|o e 122|919 |1Q|1Q2|1Q|g|s|a|o|f|v|s|=R|o
N BN I Il Bl Bl Bl BN Bl Bl el el el ol ol Dl e > |N§|d|F|(B|S|R|DS|S|v|~|~|~|~|~|~|~]|+
F lo|lo|lv|lv|lv|lvlvfvw|lv|lv|lvw|lvw|lvw|lw|w|wv|wv L wivlvivv|vfv|w|wlw|lwv|lv/vw|w|w|w
[- N RORROR NORROR OB NORROR NOR NURRORNOR NURRORROR NOR RORRO] [~ RO ROR RO NOR RORROR NORRORNOR NURRORNOR NOR RORNOR NOR RO)
E |Q(Q|2|2|Q[(R|R2|R[(D[(R|R[(A[(D[R|R[(A[D E |Q|I2(2(Q|2|Q(AQ[(R|2|A[R|R|Q|AD|R|2|NQ
R =R = = = = =3 D=1 [P b= (= =1 [ [ [ [ [ [} =R = =3 = I = (b= [N [ (D= I3 [ [ I3 = [ I3 b=
a (== 1=21=2=21=2121=21=2121=2=2220=222 a |=21=21=2=21=221=2121=21212121202120202
UL |Lb|b|o|b|b|L|L|o|DL|L|l|D ||| |D|b|D|b|D|o|o|D|o|D|D|o|l

* only for Oval flange (N)

=[] shaftin EN 1.4462 (AISI 329A)

128-3: only for motor above 5.5 kW (see drawing pag.247)

244

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PERFORMANCE CURVE
EVMS(L)10
0 USgpm. 20 30 40 50 60 70 80 90
| | | | | | | | | |
I T T T T T T T
0 Impgpm. 10 20 30 40 50 60 70
280
900
p H
[MPa] m = -—1‘6/1‘1 = |
24 — |1 o - 800
240 15/11 w=fF=— —~~
1 1 1 T ~
= —14/11kw—|— N
T \\ N\ - 700
2.0 200 \\‘ \ \\ \
—=—12/75w 1 \\‘ N \\
\ E—— N \\ N\ - 600
T s - — NS N \\‘
_ LT ——— N
16 160 10/7.5 kw=F=—"—" N < \\\
——9/5.5 kW— t—|— __ \\\ \\
g/‘ ‘ T~ N NN\
— —8/s. S N N
12 40 } ° T kw} — S~ \\\ AN - 400
= —7/55wW—t— T~ \\ N\ \ \\
| — OO
— —6/40m——— — \\\‘ \\\ \:\\ - 300
— T
08+ 80 5‘/ 4.(‘) kW‘ —_— — ‘\\\‘\\ \‘
| I — ™~ ™~ \\
T T T
= —4/3.0 \w— —|— — T~ ™~ N L 200
:\3/ | — ~L O
——3/2. 0w — t— — — ~ -~
- 4 } Z}ZKW} — e
—
=—2/15wW —=f——— E— T~ 100
L] —
— —1‘/0.7‘5 A T
od o 0
0 50 100 150 200 250 300 Q [l/min]
T T T T T T T T T T T 3
0 2 4 6 8 10 12 14 16 18 20 Q[m/h]
12 80
P 2 | ——
kW] 08 = ‘n%‘ ~ 60
04 e SINGLE IMPELLER kW 40
0 20
0 50 100 150 200 250 300 Q [l/min]
NPSH &
[m] 20
4 __.—” 10
0 0
0 50 100 150 200 250 300 Q [l/min]
Rotation speed =3500 min-'
Test standard: 1ISO 9906:2012 - Grade 3B
245

Ift

%]

NPSH
Ift

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMS(L)10

Oval flange (N) DIN Loose round flange (LF) - DN40
¢ 4 holes @18
e |
s G358
o = g2
+ > —+—"|° JNEEA
AT
hd I 20 4 holes 212 ‘ﬂ» 2110 8[
A | | G3m g;g
i DIN Round flange (F) - DN40
o I 4 holes @18
= } 2 holes M12
I
I =\ |
I Iy
1 —tsTo e N 638
« il e = 1% 8|2
gl — = ® — 5%{7 jJ
‘ 130 4 holes @12 18 4 holes 212 m 2110 g[
190 215
200 ‘ 250

Dimensions [mm] and Weights [Kg]

Victaulic® connection (V)

4 holes @12 T _

Ovalfange ) (L0088 o e () Vietaulc connecton (1
Weight Weight Weight
3~ Weight Pump + Weight Pump + Weight Pump +
Pmax. kW Size A H2 Pump Motor H2 Pump Motor H2 Pump Motor
Pump Type [MPa] B C H3
EVMS(L)10 1/0.75 1.6 0.75| 80 2120 | 141 102 233 | 343 19.7 28.2 343 20.7 29.2 343 19.6 28.1
EVMS(L)10 2/1.5 1.6 1.5 90 2140 | 160 119 291 | 353 19.8 33.3 353 20.9 34.4 353 19.8 33.3
EVMS(L)10 3/2.2 1.6 22 90 2140 | 160 19 291 383 20.7 35.7 383 217 36.7 383 20.7 35.7
EVMS(L)10 4/3.0 1.6 30 | 100 [@160 | 176 123 342 | 423 21.7 43.7 423 227 44.7 423 21.6 43.6
EVMS(L)10 5/4.0 1.6 40 | 112 (2160 | 193 138 364 | 453 225 51 453 23.5 52 453 225 51
EVMS(L)10 6/4.0 1.6 4.0 112 | 2160 | 193 138 364 | 483 233 51.8 483 24.4 52.9 483 233 51.8
EVMS(L)10 7/5.5 1.6 55| 132 | @300 | 220 152 399 | 611 31.2 70.2 611 323 713 611 31.2 70.2
EVMS(L)10 8/5.5 1.6 55 | 132 [ @300 | 220 152 399 | 641 324 71.4 641 33.5 725 641 324 714
EVMS(L)10 9/5.5 1.6 5.5 132 | 2300 | 220 162 399 | 671 33.3 72.3 671 34.3 73.3 671 33.2 72.2
EVMS(L)10 10/7.5 1.6 7.5 132 | 300 | 220 152 419 | 701 34.1 80.1 701 35.1 81.1 701 34.1 80.1
EVMS(L)10 11/7.5 25 75 | 132 | @300 | 220 152 419 - - - 731 36.8 82.8 731 35.7 81.7
EVMS(L)10 12/7.5 25 75 | 132 | 2300 | 220 152 419 - - - 761 37.7 83.7 761 36.6 82.6
EVMS(L)10 14/11 25 1" 160 | @350 | 259 180 440 - - - 851 477 110.2 851 46.6 109.1
EVMS(L)10 15/11 25 1 160 | @350 [ 259 180 440 - - - 881 48.6 111 881 47.6 1101
EVMS(L)10 16/11 25 1 160 | @350 [ 259 180 440 - - - 91 495 112 911 48.5 M

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

246

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMS(L)10

(C

a\ 120-13

140

120-6

( o J’ ; 1283
1311 \‘i&/ ¢ ZQ. 212
130-2 S ‘ . 75
130-1 \ 1114
120-3 ( 1113
o1 =
S — a
- 46
47
54

il

with Round flange (F)

247
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION

EVMS(L)10

with Loose round flange (LF)
with Clamp connection (C)

with Oval flange (N)

with Victaulic® connection (V)

248

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves

_—J=-T.ET

otice.

the right to make changes without prior n



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMS(L)10

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Washer EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L) 226x1.2
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
4 | mpelernut in now nser i nox nser w10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
111 Mechanical Seal SiC / Carbon / EPDM / FPM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM 2164.46x5.34 OR 6645
115-3 O-Ring EPDM / FPM
115-4 O-Ring (cartridge sleeve) EPDM / FPM 215.88x2.62 OR 121
115-5 O-Ring (seal cover) EPDM / FPM @37.77x2.62 OR 3150
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw for coupling from from 5.5 kW to 7.5 kW Galvanized steel M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1SO 4017
MEC 90-100-112 . M8x20 1SO 4017
120-13 | Screw for motor Galvanized steel 8.8 strenght class ISO 898/1
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
MEC 132 . M12 UNI 5588
128-3 Nut (motor) Galvanized steel
MEC 160 M16 1SO 4032
128-5 Nut for tie rod Galvanized steel M12 UNI 7474
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel @5x35 UNI 4838
135-1 Washer Galvanized steel D13x24x2.5 UNI 6592
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
i up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
2121 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
2731 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Nodular Cast Iron

249

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)10

M3 [ 1114 | 1115 | 1161 | 11537 1154 | 1155| 1156

ala|a|oafafafofo|o|o|~[<[~[~]|~
Nl oo fafo oo |o]o|o oo oo Olala|ala|afo|o|ofo|o|ofo]o] oo
«©
===~~~ |+~ m222222222222222
B e e R e R e e e e e e e B Qoo oo |o]ofe|efefo]e]ofo]e]e
A AR AN A A AN A A AN AN AN A m2222222222/////
g [ [P S R N (U U U R N (U U U U ™
~ S e e Il Il e e ol ol Il ol ol o e e
o~
S|le|an|ofs|v|o|~o|lo|2|c|M| TR -
dlafafofofafofofofofo|o|o|ofofo
— N
Glo|afa|ajaafoa]o]ofofofo]ofofo
™~
N R R R B B R R R R R B R B R R
e I O e = = e
G|~~~ |~|~|~
%111111122222222
I R e e e R e R e e e Y R
o= (R [N (g NG N U Y (N U (S I e
la|a|a|a|o|a|afafo|o|ofofo]|o]|o
[ S (U [ (U (R N N R N N U (U (U [ g ~
<
. P Y
Zz Lol fafN|N ol fafa]ofo | for
v~~~ s|v|v|v|x|~|~]~]~]~ mm444444/////////
W111111122222222 S B |||t ||| ||| |||~
gl-[=[~[<[=[=<[<[<[~[~[~[<]~]~]~ [ N Y I
oo e NN &
Al e A B R AR AR AR AR AR AR AR AR AR AR AR AR AR AR
fa (R (N O P I P e e B R S R B A R N —
2 A A A A R RN S|o|o|o|o|o|o|o|o|[o|o|o|o|o|o|o
8 Ellwlwl el ol <I<I<I<|<I<]<I<
A e R e e R R e R e e e e B B
M444444444444444
Slr|an|ofs|v|o|~ro|lo|2(c|d|T(R|C
M//////444444444
N R e R Il Rl IRl I R I B I I I I =
FIRARARARARARARIR AR IR AR AR AR AR
R R el R B e I I Il I I I I I I Al
el
SIRARARARARARARANARIR AR IR IR AR AN
R [N N O I N R [ (Y ) O N [ o 8
£
m4444444444l//l/
VR R R B R A A B I R I I I I Y S
Rlw|<|=|a]o|<|o|o]|o|~|o|o|c]|x|e M444444444444444
e e e -1 1 B
e el Rl R e I I I I I I I I I I SIRARARARARARAR AR AR AR AR AR AR AR
[ w9 - © IO ||
NN EEEE R NNNEERS NN EE R NN NE R
o LIz|YdIQI (T |(L(L|L|os|=s|qa|TF|w|@ o 21192 [(F|2|(L[(LQ|L|o|=s|q|TF ||
N N I B R I N EIEI R PR D B B B g |S|q|s|F|w|s|r|s (5|2 (=S| 2|=
S |o|lolololo|ololo|o|o|olololo]|e S |olololo|o|o|o|o|o|lo|o|o|o|o|e
~ Paq Dy AN DN DS DN BN By By D A D B B S ~ =y By By N P PN Y Y P RN N R RS
o (222222222 222222 o (22|22 (22222222222
S (2|2 = 2|2 2|2 S (222|222 |2|2|2(=(==|=|2
[ I = D D D P P P P ) D I I [ - = I I - I I I I I I I I -
L|L|L|L|o|o|D|Db|D|D|L|o|o|d|o U|L|L|o|D|D|L|D|o|o|D|D]| D)oo

* only for Oval flange (N)

** only for Loose round flange (LF)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

250

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PERFORMANCE CURVE
EVMSG10
0 USgpm. 20 30 40 50 60 70 80 90
| | | | | | | | | |
I T T T T T T T
0 Impgpm. 10 20 30 40 50 60 70
280
- 900
p H
[MPa] m = -—1‘6/1‘1 = |
24— LT — L
240 15/11 w=fF=— —~~ 80
] — <
= —14/11kw—|— N
T \\ N\ - 700
204 L N \\\\
—=—12/75w 1 \\‘ N \\
\ — N \\ N\ - 600
T s - — NS N \\‘
i | 1] ——— N
16 160 10/7.5 kw=F=—"—" N < \\\
——9/5.5 kW— t—|— __ \\\ \\
g/‘ ‘ T~ NN \\\> N
— —8/s. S N N
12 40 } ° T kw} — S~ \\\ AN - 400
= —7/55wW—t— T~ \\ N\ \ \\
| — ~ AR Y
- . —~——— NN NN
?/4? kwi — - \\\ \\\ q \\\ - 300
0.8 80 5/4.0 kw —_— T S ~ N
| I — ™~ ™~ \\
T T T
= —4/3.0 \w— —|— — T~ ™~ N L 200
1] —— ~l U
i w0 s I B — i
: PR —
=—2/15wW —=f——— T ~—~— 100
L] —
— —1‘/0.7‘5 A T
od o 0
0 50 100 150 200 250 300 Q [Vmin]
T T T T T T T T T T T 3
0 2 4 6 8 10 12 14 16 18 20 Q[mh]
12 80
P 2 | ——
kw] 08 P ‘n%‘ ~ 60
04  — SINGLE IMPELLER kW 40
0 20
0 50 100 150 200 250 300 Q [Vmin]
NPSH ®
i 2
4 __.—” 10
0 0
0 50 100 150 200 250 300 Q [Vmin]
Rotation speed =3500 min-'
Test standard: ISO 9906:2012 - Grade 3B
251

Ift

%]

NPSH
Ift

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVMSG10

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN40
C C
1 18 — T 18
? 2
4 g
> Kl
A | G3m A G38
S e
o~
* 2 holes M12 g 4 holes @18
R
[ AN R : : =
| H At 71 |o e G38
= o o
- - ﬁ]& <= vlw o /
g BB+ H : g [ @@ Nzgs g5 ;ﬂt\%{%/rf
130 | 4 holes 212 1100 | & ‘ 130 ‘ 20 4 holes 912 m 2110 <
190 215 o
200 250 190 215
280 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
3~ Weight Pump + Weight Pump +
Pmax | KW Size A H2 Pump  Motor H2 Pump  Motor
Pump Type [MPa] B Cc H3
EVMSG10 1/0.75 1.6 0.75| 80 | @120 ( 141 102 233 | 343 20.3 28.8 343 241 32.6
EVMSG10 2/1.5 1.6 1.5 90 |e140| 160 119 291 | 353 20.5 34 353 243 37.8
EVMSG10 3/2.2 1.6 22 90 2140 | 160 19 291 383 214 36.4 383 252 40.2
EVMSG10 4/3.0 1.6 3.0 | 100 | @160 [ 176 123 342 | 423 223 443 423 26.1 48.1
EVMSG10 5/4.0 1.6 40 | 112 [ o160 | 193 138 364 | 453 23.2 51.7 453 27 55.5
EVMSG10 6/4.0 1.6 4.0 112 | 2160 | 193 138 364 | 483 24 52,5 483 27.8 56.3
EVMSG107/5.5 1.6 55| 132 | 300 [ 220 152 399 | 611 31.9 70.9 611 35.7 747
EVMSG10 8/5.5 16 55| 132 | @300 | 220 152 399 | 641 33.1 721 641 36.9 75.9
EVMSG10 9/5.5 1.6 55| 132 | @300 | 220 152 399 | 671 33.9 729 671 37.7 76.7
EVMSG10 10/7.5 1.6 75 132 | @300 | 220 152 419 | 701 34.8 80.8 701 38.6 84.6
EVMSG10 11/7.5 25 75| 132 | @300 | 220 152 419 - - - 731 40.2 86.2
EVMSG10 12/7.5 25 75| 132 | @300 | 220 152 419 - - - 761 411 87.1
EVMSG10 14/11 25 " 160 | 2350 | 259 180 440 - - - 851 51.1 113.6
EVMSG10 15/11 25 1" 160 | 350 | 259 180 440 - - - 881 521 114.6
EVMSG10 16/11 25 1" 160 | @350 | 259 180 440 - - - M 53 115.5

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

252

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMSG10

arul)

120-13

140

120-6
128-3

N

Y/

OS>
?EI.'. 212

"» 75

114

1113

1155

1115

31

21
5-1
107
75-1
2731
2121

with Round flange (F)

253

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS 60 Hz

PIPE CONNECTION
EVMSG10

117
120-11
219

with Oval flange (N)

254
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMSG10

N° PART NAME MQJI\E’IZIQL DIMENSIONS STANDARD

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing Cast Iron EN GJL-250EN1551

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

31 Shaft EN 1.4301 (AISI 304)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-6 Washer EN 1.4404 (AISI 316L)

44-1 Shaft sleeve bearing Tungsten carbide

46 Ring (mechanical seal) EN 1.4404 (AISI 316L) @26x1.2

47 Ring Holder EN 1.4404 (AISI 316L)

48 Impeller nut A2-70 UNI 7323 with inox insert M10

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM / FPM ©12.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM / FPM

107 Liner ring EN 1.4301 (AISI 304) + PPS

1M1 Mechanical Seal SiC / Carbon / EPDM / FPM

111-3 Mechanical seal seat EN 1.4301 (AISI 304)

111-4 Seal holder EN 1.4301 (AISI 304)

111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)

115-1 O-Ring (outer casing) EPDM/ FPM 2164.46x5.34 OR 6645

115-4 O-Ring (cartridge sleeve) EPDM / FPM ©15.88x2.62 OR 121

115-5 O-Ring (seal cover) EPDM / FPM @37.77x2.62 OR 3150

17 Flange gasket EPDM/FPM

120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12

120-3 Screw A2-70 UNI 7323 M5x12 I1ISO 4762
up to 4.0 kW M6x25 1SO 4762

120-6 Screw for coupling from 5.5 kw to 7.5 kW Galvanized steel M8x20 1SO 4762
above 11 kW M10x30 1SO 4762

120-11 Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1SO 4017
MEC 90-100-112 M8x20 1SO 4017

120-13 Screw for motor Galvanized steel 8.8 strenght class ISO 898/1
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017

128-1 Nut for tie rod Galvanized steel M12 UNI 5588

128-3 Nut (motor) MEC 132 Galvanized steel M2 UNI 5588
MEC 160 M16 1SO 4032

130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1 Pin for shaft Carbon Steel 25x35 UNI 4838

135-1 Washer Galvanized steel @13x24x2.5 UNI 6592

137-1 Impeller spacer EN 1.4301 (AISI 304)

. up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

140 Coupling
above 5.5 kW Cast Iron

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G 3/8

2121 Plug EN 1.4301 (AISI 304) G3/8

212-2 Venting plug EN 1.4404 (AISI 316L)

219 Counter flange Galvanized steel

245 Coupling guard EN 1.4301 (AISI 304)

2731 Plug Washer EN 1.4301 (AISI 304)

255

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMSG10

M3 | 1114 | 1115 | 1151 [ 1154 | 1155 | 1155

aNlan ||| oo oo o oo
A I E ol A R A E R A E A n.444444444444444
N
I e e e S e S I S S 0
Slojo|a|afafofo|afafo|o|o]o|ofo
W2222222222///II
N P~
P [ (PN G [ R [N I (N [P [ [P [P ) [
~ o~
S| r|n|o|s|w|o|~o|lo|2(Z || T2 =
s[>
-~ o~
ARANARARARARARARESARARARARIRANI
N i e e o e e S S RS R
w o~
e e e e e I e I I e e e ol I e
= I e e e e e e e e e e e Y I
T o Il I I I I IV [RVR (VR (VR R RN RN Y
Lloa|a|afafa|a|o|ofofofo|o]ofofo
N N e N I e e N I R e e
PO [ U () U | (U U () U (N U
S |||+~ &
S Qla|lala|a|afa|aofo|ofofo|o|ofo WM444444/////////
W111111122222222 G lw|(w|[s|[s|s|s|||| | |[x|[x|x|
o T
gl [<[<[<[<[<[<[=]=[=[<[=<[<[<1~| |2 &l-|-[-|[<[-]<[-]<]<[<]-]<]-]-
o~ oo ~ &
Al Al N N FERAR AR AR AR AR AR AR AR AR AR AR AR AR AR
o
e |o|lv|l~s|lo|olw| s <
olo|~|o
(7|~ AR A A AN A R R R S|o|o|[o|o|o|o|o|o|o|lo[o[olo|o]|o
3 Elalel<lwlwlal<|<|<[<[<I=]<]=]<
N R Rl Rl Bl Bl Rl Bl R B Bl B B R B B <
L=~~~ |T|T|~|
Slr|an|oft|v|o|ro|lo|2(c|d|IT|(L|C —
NIRARAR AR AR AR AR AR AR AR AR AR AR AR AR
| <l<l<l<l<l<<l<T<<]<]<[<]<[< =
SIAAIRARARARARANANANARARIRIRAR:
L e e I e B e I I e R I ol I I =
M4444444444/////
b I [ [ [ [ N ) ) s
M444444444444444
Bl ||| |a|o|a|e &
0 [ N [ 0 [ S VNS PSS N P O R R ) m444444444444444
2|~ [~~~ gle||<|<|<|<|<|<|<|<|<|<|<|*]*
s |||~~~ |~|~|~|+ Slajla|lajafla|loafoala|o|o |~~~ ~[~|~
0 wlw|wv 0 wlw|w
AR R RCY RS KSR U REY Y I NG NG el e NEINEIEI IR E N NN
[ T |Y|QY (Y| Iv|s|s|(q|F|wv|s o (LS| |Y(L|le|e s =s|q|lTF|v|o
2 |S|q|a|F|(v|o|R|s|d|~|~|[~|[~|[~]|+ 2 [S[q|a|F(v|S|R|d|d|<|~|~|~|~|+
2 lelelelele|e|e|elelele|elale]|e 2 lelelelelelelelelele|e|elele]|e
sl=l=l==2========2] P B B B B B - B B B B B R
[- N RORNOR ROR RO NOR NOR RO NOR RO ROR NOR NORROR NOR NO) [ ROR ROR OB NORNORNOR RO RO RO ROR NOR NOR NOR NOR HO]
£ DID(D|D[(D[(RD[|AD[D[D|D|D|D[AD|ND|D 13 DID(D|D|D[(D[|D|D[RD|D[D|D[D|ND|D
S (222|222 |2|2(=|=|2(=|12|2 S (222|222 |2|12|12|2(2
[ I = D D 2 P P P P ) D I I a |=2(=21=21=21=21=21=21=2122120=22202
U|b|L|b)n|L|L|w|Db|b|L|L|W|D|l ||| |o||D|o|D|o|l|D||D|d

* only for Oval flange (N)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

256

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

280
p H
[MPa] m]
2.4

204 0,
61 100
129 120
0.8 - 80
04— 40
0 0
20

P2
kW] 16
2
08
NPSH 8

(m]
4
0

257

240 —

Rotation speed 3500 min-*

Test standard: ISO 9906:2012 - Grade 3B

PERFORMANCE CURVE
EVMS(L)15
0 USgpm. 20 40 60 80 100 120
| | | | | | |
[ T T T [
0 Impgpm. 20 ) 60 80 100
— 900
I~ 121850 H
I B
‘ - — L 800 [ft]
— ~k
11/18.5 kW _ L \\\‘
= Y T~
_'10/‘15kw\~ \\ S~ - 700
| == —~ ™~
— T 915w — S~
- — S
1 —— T N - 600
— T 8/M5w— T — ~ \\\
| —— ~— - . \\
[ —
71 wi— - B— —— \\ - 500
‘ —_— Sy — \\\
S —— ~
——6/11w——_ T = —~— ~ N
—— — - 400
‘ \\\\‘ \
= —5/75w— __
T —— \\\ \\
—
7‘.5kW~—_ -1 —_— ~—
——
__'3/5‘.5kw—— — - ; T~ - 200
‘ —
[
= —2B30w— —— — — - ™
‘ 100
—=—1/1.5w— ;
0
0 100 200 300 400 Q[lfmin]
| T T T T 1
0 10 15 20 25 Q[m/h]
80
‘/// :1
P n% 60 [%)]
T m 40
//
SINGLE IMPELLER kW
| | | | | | 20
I I
0 100 200 300 400 Q [/min]
NPSH
L — 2w
— 10
0
0 100 200 300 400 Q[l/min]

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM S VERTICAL MULTISTAGE PUMPS 60 Hz

TECHNICAL DATA
EVMS(L)15

Dimensional sketch

Oval flange (N) DIN Loose round flange (LF) - DN50 Victaulic® connection (V)
C
4 holes @18
e %\
—t — R G38
© =388 e
st % e |
&> T
k4 I 22 4 holes @12 m> @125 gx
4‘ ‘ ‘ 215
A G38 250
ﬁ
E ==
| DIN Round flange (F) - DN50
|
ES | 2 holes M12 £ holes 018
| iy,
| L
| —— o ZR G358
" <[ [3|e |5
<+ l & SRR ]
* - S 18 %
s U e —t LTl |
‘ 4 holes 912
130 4 holes @12 22 Aholes 012 2125 <
190 — 215
200 ‘ 250
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) | Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
Weight Weight Weight
3~ H2 Weight Pump + H2 Weight Pump + H2 Weight Pump +
Pmax. | KW Size A Pump Motor Pump Motor Pump Motor
Pump Type [MPa] B C H3
EVMS(L)15 1/1.5 1.6 1.5 90 2140 | 160 119 291 387 16.9 30.4 387 18.8 32.3 387 16.9 30.4
EVMS(L)15 2/3 1.6 3.0 | 100 | @160 | 176 123 342 | 397 17.3 39.3 397 19.1 411 397 17.2 39.2
EVMS(L)15 3/5.5 1.6 55 | 132 | @300 [ 220 152 399 | 534 255 64.5 534 27.4 66.4 534 255 64.5
EVMS(L)15 4/7.5 1.6 75 | 132 | @300 [ 220 152 419 | 574 26.7 727 574 28.6 746 574 26.7 727
EVMS(L)15 5/7.5 1.6 7.5 | 132 | @300 [ 220 152 419 | 614 27.8 73.8 614 29.7 75.7 614 27.8 73.8
EVMS(L)15 6/11 1.6 1" 160 | @350 | 259 180 440 | 684 37.7 100.2 684 39.5 102 684 37.6 100.1
EVMS(L)15 7/11 1.6 1 160 | @350 | 259 180 440 | 724 39.5 102 724 41.4 103.9 724 39.5 102
EVMS(L)15 8/15 25 15 | 160 M | 2350 | 317 238 498 - - - 764 42.7 131.6 764 40.8 129.7
EVMS(L)15 9/15 25 15 | 160 M | @350 | 317 238 498 - - - 804 44 132.9 804 421 131
EVMS(L)15 10/15 25 15 |160M | 2350 | 317 238 498 - - - 844 453 134.2 844 43.4 132.3
EVMS(L)15 11/18.5 25 18.5| 160L | 2350 | 317 238 542 - - - 884 46.6 150.6 884 44.7 148.7
EVMS(L)15 12/18.5 25 18.5| 160 L | @350 | 317 238 542 - - - 924 47.9 151.9 924 46 150

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

258

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMS(L)15

120-13

with Round flange (F)

259
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION

EVMS(L)15

i 39

with Loose round flange (LF)

with Oval flange (N)

with Clamp connection (C)

with Victaulic® connection (V)

260

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves

_—J=-T.ET

otice.

the right to make changes without prior n



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMS(L)15

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Washer EN 1.4404 (AISI 316L) @26x2.5
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
A2-70 UNI 7323 A4-70 UNI 7323
48 Impeller nut with inox insert with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM / FPM 212.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
1M1 Mechanical Seal SiC / Carbon / EPDM / FPM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM 2164.46x5.34 OR 6645
115-3 O-Ring EPDM / FPM
115-4 O-Ring (cartridge sleeve) EPDM / FPM 215.88x2.62 OR 121
115-5 O-Ring (seal cover) EPDM / FPM @37.77x2.62 OR 3150
120-1 Tie-rod Galvanized steel 6.8 strenght class 1ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 I1SO 4762
up to 4.0 kW M6x25 I1SO 4762
120-6 Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel M8x20 ISO 4762
above 11 kW M10x30 ISO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 90-100-112 M8x20 I1SO 4017
120-13 | Screw for motor MEC 132 M12x40 UNI 5739
MEC 160 M16x50 ISO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel M2 UNI 5588
MEC 160 M16 ISO 4032
128-5 Nut for tie rod Galvanized steel M12 UNI 7474
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel @5x35 UNI 4838
135-1 Washer Galvanized steel @13x24x2.5 UNI 6592
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Carbon Steel

261

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)15

N°

M3 | 1114 [ 1115 | 1151 [1153°| 1154 | 1155

m

107

75 | 751

48 | 521

47

45™ | 46

N°

162 | 212 | 2121|2122 | 219° | 245 | 2731 [615*

160

140

321|432 | 433 | 434 | 436 | 4441

3™

2

7

52 | 53 | 54

51

1
1
1
1
1
1

1
1
1
1

120-1(120-3 | 1206 |120-11*(12013| 128-1| 1283 | 1285 | 1286 | 130-1 | 130-2 | 131-1 | 1351 [ 1356 | 137-1

4

4
4

4
4

4
4
4

Pump Type

EVMS(L)15 1/1.5
EVMS(L)15 2/3

EVMS(L)15 3/5.5

EVMS(L)15 4/7.5

EVMS(L)15 5/7.5

EVMS(L)15 6/11

EVMS(L)15 7/11

EVMS(L)15 8/15

EVMS(L)15 9/15

EVMS(L)15 10/15

EVMS(L)15 11/18.5

EVMS(L)15 12/18.5

Pump Type

151/11.5
15 2/3

15 3/5.5

154/7.5

155/7.5
156/11
15 7/11
15 8/15
15 9/15

15 10/15

15 11/18.5
15 12/18.5

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

EVMS(L

* only for Oval flange (N)

** only for Loose round flange (LF)

# [ shaftin EN 1.4462 (AISI 329A)

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

262

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

280
p H
[MPa] m]
2.4

204 0,
61 100
129 120
0.8 - 80
04— 40
0 0
20

P2
kW] 16
2
08
NPSH 8

(m]
4
0

263

240 —

Rotation speed #3500 min-"

Test standard: 1ISO 9906:2012 - Grade 3B

PERFORMANCE CURVE
EVMSG15
0 USgpm. 20 40 60 80 100 120
| | | | | | |
[ T T T [
0 Impgpm. 20 ) 60 80 100
— 900
I~ 121850 H
I B
| T~ g0
e \.L
11/18.5kw _ L \\\‘
= T T~
_'10/‘15kw\~ \\ S~ - 700
| == —~ ™~
— T 915w — S~
- — S
1 —— T N - 600
— T 8/5w— T — ~ \\\
| —— ~— - . \\
[ —
71 wi— - B— —— \\ - 500
—_—— Sy — \\
A G aa=— e N
—— B— - 400
‘ \\\\‘ \
= —5/75w— __
T —— \\\ \\
P—
4/ e — — 300
——— ] —
7‘.5 kW — —_— ~—
—
__'3/5‘.5 KW — —— - ; T~ - 200
‘ —
[
= —2B30w——— — — - ™
‘ 100
—=—1/1.5w— ;
0
0 100 200 300 400 Q[lfmin]
| T T T T 1
0 10 15 20 25 Q[m/h]
80
] :1
P n% 60  [%)]
— 40
//
SINGLE IMPELLER kW
| | | | | | 20
I I
0 100 200 300 400 Q[l/min]
NPSH
— 20 If
//
— 10
0
0 100 200 300 400 Q[l/min]

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMSG15

Oval flange (N) DIN Round flange (F) - DN50
C C
I — °
o« o«
2 2
© kg
¢ &
A | Gas A | | s
e VR
{ —
! o
I 2 holes M12 T 4 holes @18
1 '*x I
[ G368 5 S — )il
. | I = =] e o = 638
« et 4 <~ I=iglge NN
s oo i© ke s il == bl
‘H B ——Hx H i
130 | Ardesot2 | [100] || R Lo || 2 aresora || |oras) || &
190 215 —
200 250 190 215
300 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
3~ Weight Pump + Weight Pump +
Pmax kW Size A H2 Pump Motor H2 Pump Motor
Pump Type [MPa] B Cc H3
EVMSG15 1/1.5 1.6 15| 90 |e140| 160 119 291 | 387 | 212 34.7 387 | 269 40.4
EVMSG15 2/3 1.6 3.0 | 100 | @160 [ 176 123 342 | 397 216 43.6 397 273 49.3
EVMSG15 3/5.5 1.6 55| 132 | 300 [ 220 152 399 | 534 29.8 68.8 534 35.5 745
EVMSG15 4/7.5 1.6 75| 132 | 2300 | 220 152 419 | 574 31 77 574 | 36.7 82.7
EVMSG15 5/7.5 1.6 75| 132 | @300 | 220 152 419 | 614 | 321 78.1 614 | 37.8 83.8
EVMSG15 6/11 1.6 11 160 | 350 | 259 180 440 | 684 42 104.5 684 47.7 110.2
EVMSG15 7/11 1.6 11 | 160 | @350 | 259 180 440 | 724 | 43.8 106.3 724 | 495 12
EVMSG15 8/15 25 15 | 160 M | 2350 | 317 238 498 - - - 764 50.8 139.7
EVMSG15 9/15 25 15 | 160 M | 2350 | 317 238 498 - - - 804 52.1 141
EVMSG15 10/15 25 15 [160M | @350 | 317 238 498 - - - 844 53.4 142.3
EVMSG15 11/18.5 25 |185|160L | 8350 | 317 238 542 - - - 884 | 54.7 158.7
EVMSG15 12/18.5 25 185|160 L | @350 | 317 238 542 - - - 924 56 160

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

264

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMSG15

120-13

120-6
128-3

111-4

\ M’ 1113
. 1155
)}"i’ll“{@% 1115

A

=

273-1
2121

with Round flange (F)

265

N
.\ ’

212
75

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS 60 Hz

PIPE CONNECTION
EVMSG15

117
120-11
219

with Oval flange (N)

266
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG15

N° PART NAME Mé&ﬁglél‘ DIMENSIONS STANDARD

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing Cast Iron EN GJL-250EN1551

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

31 Shaft EN 1.4301 (AISI 304) - EN 1.4462 (AISI 329A)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)

43-6 Washer EN 1.4404 (AISI 316L) @26x2.5

44-1 Shaft sleeve bearing Tungsten carbide

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4404 (AISI 316L)

48 Impeller nut A2-70 UNI 7323 with inox insert M10

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM / FPM 212.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM / FPM

107 Liner ring EN 1.4301 (AISI 304) + PPS

M Mechanical Seal SiC / Carbon / EPDM / FPM

111-3 Mechanical seal seat EN 1.4301 (AISI 304)

111-4 Seal holder EN 1.4301 (AISI 304)

111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)

115-1 O-Ring (outer casing) EPDM / FPM ©164.46x5.34 OR 6645

115-4 O-Ring (cartridge sleeve) EPDM / FPM 215.88x2.62 OR 121

115-5 O-Ring (seal cover) EPDM / FPM @37.77x2.62 OR 3150

17 Flange gasket EPDM/ FPM

120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12

120-3 Screw A2-70 UNI 7323 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762

120-6 Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel 6.8 strenght class ISO 898/1 M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762

120-11 Screw for counterflange A2-70 UNI 7323
MEC 90-100-112 M8x20 1SO 4017

120-13 Screw for motor MEC 132 Galvanized steel 8.8 strenght class 1ISO 898/1 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017

128-1 Nut for tie rod Galvanized steel M12 UNI 5588

128-3 Nut (motor) MEC 132 Galvanized steel M1z UNI 5588
MEC 160 M16 1SO 4032

130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1 Pin for shaft Carbon Steel @5x35 UNI 4838

135-1 Washer Galvanized steel D13x24x2.5 UNI 6592

137-1 Impeller spacer EN 1.4301 (AISI 304)

) up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

140 Coupling
above 5.5 kW Cast Iron

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G 3/8

2121 Plug EN 1.4301 (AISI 304) G 3/8

212-2 Venting plug EN 1.4404 (AISI 316L)

219 Counter flange Galvanized steel

245 Coupling guard EN 1.4301 (AISI 304)

2731 Plug Washer EN 1.4301 (AISI 304)

267

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

268

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

M3 [ 1114 | 1115 | 1161 | 1154 | 1155

m
1
1
1
1
1
1
1
1
1
1
1
1

162 | 212 | 2121 [ 2122 | 219* | 245 (2731
1
1
1
1
1
1
1
1
1
1
1
1

S|lr|an|ofs|v|o|~|o|o(2||N
RINIRARINARANIRARARIRAN:
7)) s s
o [ I e R R R R R I IR IR I
M _ %111112222222
R R e R R R R R B R B
w L R |||~~~
D - Lla|a|a|afalafo|oa|ofofofo
[11] O ISl R R e e e e e R R R R
G M <=2 IV IV IV IV ISV ISV ISV ISV IOV IV IOV lEoY) W111111111111
< n
A—N Rm °NW1111,,|2222222 mm44//////////
—” ms m1/////////// wlw444444444444 =
=l = = S
U YV m111112222222 R R B R R B R R B R R R B N
i (@]
M —“E - NI RIS S ®
T A A - AR AR AR AR AR AR AR AR AR AR AR Q.
- N m113577913579 = mu
A A A Rl Rl Rl s Slo|o|o|o|o|o|o|o|o|o|o|m <
C ) %111111111111 M44////////// W
=N e} el =l T=1=1- = ©
R i %//4444444444 %
[T} S|v|n|[ofst|(w|o|~|o|lo|2|o|Y = - &
V AR AR AR AR ARAR AR AR AR AR AR AR Ag
~| |||~~~ = %m
MN444444444444 3m|
o |||~ |+~ = — 5
m4444444///// Bw
P R e e e e e e e e e g <
Il\m
M444444444444 NS
VR R R R A IR I I IR I Y = o =
M444444444444 )4.m
F|~|~|[~|n|[o|o|t|w|o|~|o|o S N4m
m (1m
ol e R R Rl R R IR I IR I I AR AR AR A ()
& g &z <
[ c w g
B I N e e e e e e S Slaflafa|a|a|o|o|~~~[~[~ © - =
= = = 2
— = .
T T ©
[0 0| ®© 2 C b
0 wlelol | lo|lw|2|2|2 0 wlvlvl | |w|lw|2|22 OS3
[ hall ool ol g Nl Il Rl Il Il R 3 Bl I} [T Il (el ol Rl Il Il Il Il Bl IR 3 B [ -—
2 |F|Q|a|(F|(v|o|R|s|5|~|~|+ 2 [SQ|o|F|v|s|R|s|a|=|-]|+ o
F |eole|ele|e|ololololeol o 2 |eleleleloloiplololeloio)l =] |~
o |o|lo|lo|lo|lo|o|ojo|o|o|o|o o |o|lo|lo|olo|o|o|o|o|o|lolal > ©
£ Dlo|lo|la|a|a|a|la|o|o|o|a £ DD |D|R|0|0|D|D|D|D|D c !
S P =0 = =1 = = =3 = [ [ = [ S D= =N =N I [N = =3 [ [ =3 [ =] *8
o P I I I I I D S I P I o S>> (>>|>>|>|>>]>> 0*2
L|L|L|L|o|o|D|D|D|D)|D|d L|L|L|o|D|D|D|D|L|L|d|d * ¥ o«




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PERFORMANCE CURVE

EVMS(L)20
0 USgpm. 20 40 60 80 120 140
I = I T I T I I| =
0 Imp.g.p.m. 20 40 60 80 100 120
280
900
p H
[MPa] [m]
247 240 _\_\.1 0/18.5kw = 800
9esw_ | \+\\‘\\“-\\ L 700
209 00— —
T 8/15kw— |
T 75 w— | \
1.6 — 160 — _ N
\ \ o
| 611w — | \
124 120 —=5/11 kW——oco— \ \I - 400
— —4/750w— —| \
—_ | \ \ — 300
0.8 — 80
I~ —3l75w— —| L \ \\'
——t
— —2/a0kw— —f 1
04 - 40 ~
100
——1/22kw— —f — \|
-+
\
\
0 0 I — 0
0 100 200 300 400 500 Q [Vmin]
T T T T T T T T
0 5 10 15 20 25 30 Q[mih
2 80
P2 | — |
W] 20 N% T~ 60
’ / ¥
SINGLE IMPELLER kW
12 i 20
0 100 200 300 400 500 Q [Vmin]
NPSH 2
m g %
// 20
4
N 10
0 0
0 100 200 300 400 500 Q [Vmin]
Rotation speed #3500 min-*
Test standard: 1ISO 9906:2012 - Grade 3B
269

Ift

[%]

NPSH
[ff

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

Oval flange (N) DIN Loose round flange (LF) - DN50 Victaulic® connection (V)
Cc
4 holes @18
B (. I
S d oI |
T - I ,,E[S,Tg 8 ﬁf
? o] === s %
$ > i = =
ki
] ‘ 130 22 4holes @12 m 125
190 215
A | | G 300 250
DIN Round flange (F) - DN50 Clamp connection (C)
£ 2 holes M12 4 holes 218
- R
= - %t@
T | — X G3/8
s G38 = |l 138 / Py
<= <
ol AF=15 e 8| e L I N | °
5] W= el |
‘ ‘H’ 4 holes @12
130 4 holes @12 || 130 22 4holes 912 2125 &
190 190 215
200 ‘i_ 300 250
Dimensions [mm] and Weights [Kg]
Loose round flange (LF) | Victaulic® connection (V)
Motor Oval flange (N) Round flange (F) Clamp connection (C)
Weight Weight Weight
3~ H2 Weight Pump + H2 Weight Pump + H2 Weight Pump +
Pmax. | KW Size A Pump Motor Pump Motor Pump Motor
Pump Type [MPa] B Cc H3
EVMS(L)20 1/2.2 1.6 22 90 2140 | 160 119 291 387 16.9 31.9 387 18.7 33.7 387 16.8 31.8
EVMS(L)20 2/4.0 1.6 4.0 112 | 2160 | 193 138 364 | 397 17.3 45.8 397 19.1 47.6 397 17.2 45.7
EVMS(L)20 3/7.5 1.6 75| 132 [ 2300 | 220 152 419 | 534 | 255 71.5 534 | 274 73.4 534 255 715
EVMS(L)20 4/7.5 1.6 75 | 132 | @300 [ 220 152 419 | 574 26.8 72.8 574 28.6 74.6 574 26.7 72.7
EVMS(L)20 5/11 1.6 11 160 | @350 | 259 180 440 | 644 36.2 98.7 644 38 100.5 644 36.1 98.6
EVMS(L)20 6/11 1.6 1" 160 | @350 | 259 180 440 | 684 36.4 98.9 684 38.3 100.8 684 36.4 98.9
EVMS(L)20 7/15 25 15 |160M | 2350 | 317 238 498 - - - 724 41.2 130.1 724 39.3 128.2
EVMS(L)20 8/15 25 15 |160M | 2350 | 317 238 498 - - - 764 42.5 131.4 764 40.6 129.5
EVMS(L)20 9/18.5 25 185|160 L | #8350 | 317 238 542 - - - 804 | 43.9 147.9 804 42 146
EVMS(L)20 10/18.5 25 185|160 L | 2350 | 317 238 542 - - - 844 45.2 149.2 844 43.3 147.3

TECHNICAL DATA

EVMS(L)20

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

270

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60Hz



EVMS

VERTICAL MULTISTAGE PUMPS

60 Hz

SECTIONAL VIEW
EVMS(L)20

| bi@/
A e R R
k\%@\ I8 _

N
-
NN

[a2]

- © < - %
o o o © < - N~ ® T o o]
I ¥ & 754 - - - - = ©o ~ Y - — [SEENGT N
- - - - N \ \ A T T - - - S T 0 Mm N O - N N N -~

TTTVY

28574 \V/ZARY,'s /i

- 90 90 o J v d W W O eI N~
®» ® 6 N O = < = < < © ®
- v < - - v o - - -~

with Round flange (F)

= EaaraA

EBARA Pumps Europe

271

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION

EVMS(L)20

i 39

with Loose round flange (LF)

with Oval flange (N)

with Clamp connection (C)

with Victaulic® connection (V)

272

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves

_—J=-T.ET

otice.

the right to make changes without prior n



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TAB
EVMS(L)20

LE

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVMS EVMSL
4 Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
31 Shaft EN 1.4301 (AISI 304) - EN 1.4404 (AISI 316L) -
EN 1.4462 (AISI 329A) EN 1.4462 (AISI 329A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-6 Washer EN 1.4404 (AISI 316L) @26x2.5
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.4301 (AISI 304)
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
A2-70 UNI 7323 A4-70 UNI 7323
48 Impeller nut with inox insert with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM / FPM @12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM / FPM
107 Liner ring EN 1.4301 (AISI 304) + PPS | EN 1.4404 (AISI 316L) + PPS
11 Mechanical Seal SiC/Carbon/EPDM / FPM
111-3 Mechanical seal seat EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
115-1 O-Ring (outer casing) EPDM / FPM ©164.46x5.34 OR 6645
115-3 O-Ring EPDM / FPM
115-4 O-Ring (cartridge sleeve) EPDM / FPM @15.88x2.62 OR 121
115-5 O-Ring (seal cover) EPDM / FPM @37.77x2.62 OR 3150
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6 Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel M8x20 1ISO 4762
above 11 kW M10x30 ISO 4762
120-11 Screw for counterflange A2-70 UNI 7323
MEC 90-100-112 M8x20 1SO 4017
120-13 Screw for motor MEC 132 Galvanized steel 8.8 strenght class ISO 898/1 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel M2 UNI 5588
MEC 160 M16 ISO 4032
128-5 Nut for tie rod Galvanized steel M12 UNI 7474
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel @5x35 UNI 4838
135-1 Washer Galvanized steel @13x24x2.5 UNI 6592
137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
. up to 4.0 kW Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
140 Coupling
above 5.5 kW Cast Iron
160 Base Die cast Aluminium EN AB-AISI11 Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) G 3/8
212-2 Venting plug EN 1.4404 (AISI 316L)
219 Counter flange EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
615 Flange Carbon Steel

273

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

QUANTITY FOR MODEL

EVMS(L)20

N°

M3 [ 1114 | 1115 | 1161 | 11537 1154 | 1155

m

107

75 | 7541

521

8

47

45 | 46

245 | 2731 |615™

162 | 212 | 2121 | 2122 | 219

160

140

N°

321|432 | 433 | 434 | 436 | 441

3™

2

7

52 | 53 | 54

51

1
1
1
1
1
1
1
1
1
1

120-1|120-3 | 1206 |120-11%120-13| 128-1 | 1283 | 1285 | 1286 | 130-1 | 130-2 | 1311 | 1351 | 1356 | 1371

4
4
4
4
4
4

Pump Type

EVMS(L)20 1/2.2
EVMS(L)20 2/4.0
EVMS(L)20 3/7.5
EVMS(L)20 4/7.5
EVMS(L)20 5/11
EVMS(L)20 6/11
EVMS(L)20 7/15
EVMS(L)20 8/15
EVMS(L)20 9/18.5
EVMS(L)20 10/18.5

Pump Type

20 1/2.2
20 2/4.0
20 3/7.5
20 4/7.5
20 5/11

20 6/11

20 7/15
20 8/15
20 9/18.5
20 10/18.5

128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

** only for Loose round flange (LF)
#e+ [ shaft in EN 1.4462 (AISI 329A)

* only for Oval flange (N)

EVMS(L
EVMS(L,
EVMS(L,
EVMS(L,
EVMS(L,
EVMS(L,
EVMS(L
EVMS(L
EVMS(L,
EVMS(L,

274

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PERFORMANCE CURVE

EVMSG20
0 USgpm. 20 40 60 80 120 140
| I I I I | I
I T T T T T
0 Imp.g.p.m. 20 40 60 80 100 120
280
900
p H
[MPa] [m]
247 240 _\_\.1 0/18.5kw = 800
9esw_ | \+\\‘\\“-\\ L 700
209 00— —
T 8/15kw— |
T 75 w— | \
1.6 — 160 — _ N
\ \ o
| 611w — | \
124 120 —=5/11 kW——oco— \ \I - 400
— —4/750w— —| \
—_ | \ \ — 300
0.8 — 80
I~ 375w —— — \ \\'
—
— —2/a0kw— —f 1
04 - 40 ~
L 100
——1/22kw— —f — \|
-+
\
\
0— 0 I — 0
0 100 200 300 400 500 Q [Vmin]
T T T T T T T T
0 5 10 15 20 25 30 Q[mih
24 80
P2 | — |
W] 20 N% T~ 60
’ / ¥
SINGLE IMPELLER kW
12 i 20
0 100 200 300 400 500 Q [min]
NPSH 2
m g 30
// 20
4
N I 10
0 0
0 100 200 300 400 500 Q [imin]
Rotation speed #3500 min-*
Test standard: 1ISO 9906:2012 - Grade 3B
275

Ift

[%]

NPSH
[ff

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVMS

VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMSG20

Oval flange (N) DIN Round flange (F) - DN50
c [
B ) } B
2 2
@ ©
& ©
A | c38 A | cas
e
o
T 2 holes M12 < 4 holes 18
I i I
i c38 H = S jmuN
Iz ‘ M i S ey [0 N G3
- &~ - 23S |e e
gl =i ¢ HH=gge
gl LGP : f LPEIHESES N
‘ & E S
o
130 4holes 12 [|| {100, 5 130 22 4 holes 212 H ‘ 9125 &|
190 215 e
20 ‘ 250 190 215
300 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
3~ Weight Pump + Weight Pump +
Pmax kW Size A H2 Pump Motor H2 Pump Motor
Pump Type [MPa] B Cc H3
EVMSG20 1/2.2 1.6 22 90 |@140| 160 119 291 | 387 21.2 36.2 387 26.9 419
EVMSG20 2/4.0 1.6 40 | 112 [ o160 | 193 138 364 | 397 216 50.1 397 27.3 55.8
EVMSG20 3/7.5 1.6 7.5 132 | @300 | 220 152 419 | 534 29.9 75.9 534 35.6 81.6
EVMSG20 4/7.5 1.6 75 132 | 2300 | 220 152 419 | 574 311 771 574 36.8 82.8
EVMSG20 5/11 1.6 1" 160 | @350 | 259 180 440 | 644 40.5 103 644 46.2 108.7
EVMSG20 6/11 1.6 1 160 | @350 | 259 180 440 | 684 40.7 103.2 684 46.4 108.9
EVMSG20 7/15 25 15 | 160 M | 2350 | 317 238 498 - - - 724 49.4 138.3
EVMSG20 8/15 25 15 [160M | 2350 | 317 238 498 - - - 764 50.7 139.6
EVMSG20 9/18.5 25 18.5| 160L | @350 | 317 238 542 - - - 804 52 156
EVMSG20 10/18.5 25 185|160 L | @350 | 317 238 542 - - - 844 53.4 157.4

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- not available model

276

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL VIEW
EVMSG20

120-13

120-6
128-3

111-4

\ M’ 1113
. 1155
)}"i’ll“{@% 1115

A

=

273-1
2121

with Round flange (F)
277

N
.\ ’

212
75

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM S VERTICAL MULTISTAGE PUMPS 60 Hz

PIPE CONNECTION
EVMSG20

117
120-11
219

with Oval flange (N)

278
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE

EVMSG20

N° PART NAME Mé&ﬁg‘é" DIMENSIONS STANDARD

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing Cast Iron EN GJL-250EN1551

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

31 Shaft EN 1.4301 (AISI 304) - EN 1.4462 (AISI 329A)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)

43-6 Washer EN 1.4404 (AISI 316L) 226x2.5

441 Shaft sleeve bearing Tungsten carbide

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4404 (AISI 316L)

48 Impeller nut A2-70 UNI 7323 with inox insert M10

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM / FPM @12.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM / FPM

107 Liner ring EN 1.4301 (AISI 304) + PPS

1M Mechanical Seal SiC/Carbon/EPDM / FPM

111-3 Mechanical seal seat EN 1.4301 (AISI 304)

111-4 Seal holder EN 1.4301 (AISI 304)

111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)

115-1 O-Ring (outer casing) EPDM / FPM @164.46x5.34 OR 6645

115-4 O-Ring (cartridge sleeve) EPDM / FPM ©15.88x2.62 OR 121

115-5 O-Ring (seal cover) EPDM / FPM @37.77x2.62 OR 3150

17 Flange gasket EPDM / FPM

120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M12

120-3 Screw A2-70 UNI 7323 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762

120-6 Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel 6.8 strenght class ISO 898/1 M8x20 1ISO 4762
above 11 kW M10x30 1SO 4762

120-11 Screw for counterflange A2-70 UNI 7323
MEC 90-100-112 M8x20 ISO 4017

120-13 | Screw for motor MEC 132 Galvanized steel 8.8 strenght class ISO 898/1 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017

128-1 Nut for tie rod Galvanized steel M12 UNI 5588

128-3 Nut (motor) MEC 132 Galvanized steel w2 UNI 5588
MEC 160 M16 1SO 4032

130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

131-1 Pin for shaft Carbon Steel @5x35 UNI 4838

135-1 Washer Galvanized steel @13x24x2.5 UNI 6592

137-1 Impeller spacer EN 1.4301 (AISI 304)

. up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

140 Coupling
above 5.5 kW Cast Iron

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G 3/8

2121 Plug EN 1.4301 (AISI 304) G3/8

212-2 Venting plug EN 1.4404 (AISI 316L)

219 Counter flange Galvanized steel

245 Coupling guard EN 1.4301 (AISI 304)

2731 Plug Washer EN 1.4301 (AISI 304)

279

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVM S VERTICAL MULTISTAGE PUMPS 60 Hz

QUANTITY FOR MODEL
EVMSG20

o
Pump Type N
4 |51 (52|53 (54| 6 | 7 |21 |31™|321(432|433 (434 (436|441 46 | 47 | 48 | 521 | 75 | 751 | 107 | 111 1113|1114 [ 1115 | 1151 1154 | 1155
EVMSG20 1/2.2 1 1 / 1 1 1 1 1 1 1 1 1 1 1 1 2 1 1 1 1 4 1 1 1 1 1 2 1 1
EVMSG20 2/4.0 1 1 / 1 1 1 1 2 1 1 1 1 1 ! 1 2 1 1 1 1 4 2 1 1 1 1 2 1 1
EVMSG20 3/7.5 1 1 1 1 1 1 1 3 1 1 3 1 1 / 1 2 1 1 1 1 4 3 1 1 1 1 2 1 1
EVMSG20 4/7.5 1 1 2 1 1 1 1 4 1 1 5 1 1 / 1 2 1 1 1 1 4 4 1 1 1 1 2 1 1
EVMSG20 5/11 1 1 2 2 1 1 1 5 1 1 5 2 2 ! 2 2 1 1 2 1 4 5 1 1 1 1 2 1 1
EVMSG20 6/11 1 1 3 2 1 1 1 6 1 1 7 2 2 ! 2 2 1 1 2 1 4 6 1 1 1 1 2 1 1
EVMSG20 7/15 1 1 4 2 1 1 1 7 1 1 9 2 2 / 2 2 1 1 2 1 4 7 1 1 1 1 2 1 1
EVMSG20 8/15 1 1 5 2 1 1 1 8 1 1 1" 2 2 / 2 2 1 1 2 1 4 8 1 1 1 1 2 1 1
EVMSG20 9/18.5 1 1 6 2 1 1 1 9 1 1113 ] 2 2 ! 2 2 1 1 2 1 4 9 1 1 1 1 2 1 1
EVMSG20 10/18.5 1 1 7 2 1 1 11104 1 1115 2 2 / 2 2 1 1 2 1 4 (10| 1 1 1 1 2 1 1
N°
Pump Type
117* 1201 | 1203 | 1206 |120-11*(120-13| 128-1 | 1283 | 1286 | 130-1 | 1302 | 131-1| 135-1 | 1356 | 137-1| 140 | 162 | 212 | 2121|2122 | 219" | 245 |273-1

EVMSG20 1/2.2 2 4 4 4 4 4 4 / 4 3 4 1 4 4 1 2 1 1 4 1 2 2 4

EVMSG20 2/4.0 2l a|la|la|lal|lalals|ala3|al1|alalr]|2]1]1]a]1]2]2]3s

EVMSG20 3/7.5 2 4 4 4 4 4 4 4 / 3 4 1 4 ! 1 2 1 1 4 1 2 2 4

EVMSG20 4/7.5 2 4 4 4 4 4 4 4 ! 3 4 1 4 ! 1 2 1 1 4 1 2 2 4

EVMSG20 5/11 2 4 4 4 4 4 4 4 / 3 4 1 4 ! 1 2 1 1 4 1 2 2 4

EVMSG20 6/11 2 4 4 4 4 4 4 4 / 3 4 1 4 ! 1 2 1 1 4 1 2 2 4

EVMSG20 7/15 / 4 4 4 / 4 4 4 / 3 4 1 4 / 1 2 1 1 4 1 / 2 4

EVMSG20 8/15 / 4 4 4 / 4 4 4 / 3 4 1 4 / 1 2 1 1 4 1 / 2 4

EVMSG20 9/18.5 / 4 4 4 ! 4 4 4 / 3 4 1 4 / 1 2 1 1 4 1 / 2 4

EVMSG20 10/18.5 / 4 4 4 ! 4 4 4 / 3 4 1 4 / 1 2 1 1 4 1 / 2 4

* only for Oval flange (N)

=[] shaft in EN 1.4462 (AISI 329A)
128-6 / 135-6: with Aluminium coupling (see drawing pag.211)

280

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz VERTICAL MULTISTAGE PUMPS EVM S

PACKING DRAWING
EVMS(.)1-3-5-10-15-20

TYPE 1
f 7
| N
- Z \/X
TYPE 2
7
r
| N
LR
TYPE 3

R

J/WM/M/LB

281
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVMS

VERTICAL MULTISTAGE PUMPS

PACKING DATA

EVMS(.)1-3-5
Pumps Pumps with motor ~3

Pump Type P?;':":]‘g Weight [Kg] + Pack Type P:[a:‘l::‘r]\g Weight [Kg] + Pack Type
X Y z EVMS(L) EVMSG X Y z EVMS(L) EVMSG
EVMS(.)1 2/0.37 385 | 400 | 385 | 12.6 1 19.6 1 385 | 400 | 585 | 19.2 1 26.2 1
EVMS(.)1 3/0.37 385 [ 400 | 385 | 13.1 1 20.0 1 385 | 400 | 585 | 19.7 1 26.6 1
EVMS(.)1 4/0.37 385 | 400 | 385 | 13.5 1 20.5 1 385 | 400 | 770 | 20.4 1 27.4 1
EVMS(.)1 5/0.37 385 | 400 | 585 | 14.5 1 21.4 1 385 | 400 | 770 | 20.9 1 27.8 1
EVMS(.)1 6/0.55 385 | 400 | 585 | 14.9 1 21.8 1 385 | 400 | 770 | 21.7 1 28.7 1
EVMS(.)1 7/0.55 385 | 400 | 585 | 15.6 1 225 1 385 | 400 | 770 | 224 1 294 1
EVMS(.)1 8/0.75 385 | 400 | 585 | 16.0 1 22.9 1 385 | 400 | 770 | 25.2 1 32.1 1
EVMS(.)1 9/0.75 385 | 400 | 585 | 16.4 1 23.4 1 385 | 400 | 770 | 256 1 326 1
EVMS(.)1 10/0.75 385 | 400 | 585 | 16.9 1 23.8 1 385 | 400 | 770 | 26.0 1 32.9 1
EVMS(.)1 11/1.1 385 | 400 | 585 | 17.3 1 243 1 385 | 400 | 970 | 286 1 35.6 1
1 | EVMS(.)112/1.1 385 | 400 | 585 | 17.7 1 24.7 1 385 | 400 | 970 | 29.0 1 36.0 1
EVMS(.)1 13/1.1 385 | 400 | 585 | 18.4 1 254 1 385 | 400 | 970 | 29.7 1 36.7 1
EVMS(.)1 14/1.1 385 | 400 | 770 | 19.3 1 26.3 1 385 | 400 | 970 | 30.1 1 37.1 1
EVMS(.)1 16/1.5 385 | 400 | 770 | 20.3 1 27.3 1 385 | 400 | 970 | 34.6 1 416 1
EVMS(.)1 18/1.5 385 | 400 | 770 | 21.2 1 28.2 1 385 | 400 | 1170 | 36.1 1 43.1 1
EVMS(.)1 20/1.5 385 | 400 | 770 | 22.1 1 29.1 1 385 | 400 | 1170 | 37.0 1 44.0 1
EVMS(.)1 22/2.2 385 | 400 | 970 | 24.0 1 30.9 1 385 | 400 | 1170 | 39.9 1 46.9 1
EVMS(.)1 24/2.2 385 | 400 | 970 | 24.9 1 31.9 1 385 | 400 | 1170 | 40.9 1 47.8 1
EVMS(.)1 26/2.2 385 | 400 | 970 | 25.8 1 32.8 1 385 | 400 | 1170 | 41.8 1 48.7 1
EVMS(.)1 27/2.2 385 | 400 | 970 | 26.3 1 33.3 1 500 | 525 | 1350 | 62.2 3 69.1 3
EVMS(.)1 29/2.2 385 | 400 | 970 | 27.2 1 34.2 1 500 | 525 | 1350 | 63.1 3 70.0 3
EVMS(.)3 2/0.37 385 | 400 | 385 | 12.5 1 17.6 1 385 | 400 | 585 | 19.1 1 24.2 1
EVMS(.)3 3/0.55 385 | 400 | 385 | 12.9 1 18.0 1 385 | 400 | 585 | 19.9 1 25.0 1
EVMS(.)3 4/0.75 385 | 400 | 385 | 13.5 1 18.7 1 385 | 400 | 770 | 23.2 1 28.4 1
EVMS(.)3 5/0.75 385 | 400 | 585 | 14.5 1 19.6 1 385 | 400 | 770 | 23.7 1 28.8 1
EVMS(.)3 6/1.1 385 | 400 | 585 | 14.9 1 20.0 1 385 | 400 | 770 | 25.6 1 30.7 1
EVMS(.)3 7/1.1 385 | 400 | 585 | 15.3 1 204 1 385 | 400 | 770 | 26.0 1 31.1 1
EVMS(.)3 8/1.5 385 | 400 | 585 | 15.7 1 20.8 1 385 | 400 | 970 | 305 1 35.6 1
EVMS(.)39/1.5 385 | 400 | 585 | 16.1 1 21.3 1 385 | 400 | 970 | 30.9 1 36.1 1
EVMS(.)3 10/1.5 385 | 400 | 585 | 16.6 1 21.7 1 385 | 400 | 970 | 31.4 1 36.5 1
EVMS(.)3 11/2.2 385 | 400 | 585 | 17.0 1 221 1 385 | 400 | 970 | 33.3 1 38.4 1
3 | EVMS(.)312/2.2 385 | 400 | 585 | 17.3 1 22.4 1 385 | 400 | 970 | 336 1 38.7 1
EVMS(.)3 13/2.2 385 | 400 | 770 | 18.6 1 23.7 1 385 | 400 | 970 | 34.4 1 39.5 1
EVMS(.)3 14/2.2 385 | 400 | 770 | 19.0 1 241 1 385 | 400 | 970 | 34.8 1 39.9 1
EVMS(.)3 15/3.0 385 | 400 | 770 | 19.5 1 24.6 1 385 | 400 | 1170 | 42.9 1 48.0 1
EVMS(.)3 16/3.0 385 | 400 | 770 | 20.5 1 25.6 1 385 | 400 | 1170 | 43.9 1 49.0 1
EVMS(.)3 17/3.0 385 | 400 | 770 | 21.0 1 26.1 1 385 | 400 | 1170 | 44.4 1 49.5 1
EVMS(.)3 19/3.0 385 | 400 | 770 | 21.9 1 27.0 1 400 | 510 | 1200 | 45.3 1 59.4 2
EVMS(.)3 20/3.0 385 | 400 | 770 | 22.3 1 27.4 1 400 | 510 | 1200 | 45.7 1 59.8 2
EVMS(.)3 21/4.0 385 | 400 | 770 | 22.8 1 27.9 1 400 | 510 | 1200 | 61.7 2 66.8 2
EVMS(.)3 22/4.0 385 | 400 | 970 | 23.6 1 28.7 1 400 | 510 | 1200 | 62.1 2 67.2 2
EVMS(.)3 23/4.0 385 [ 400 | 970 | 24.1 1 29.2 1 500 | 525 | 1350 | 73.5 3 78.6 3
EVMS(.)5 2/0.75 385 | 400 | 385 | 12.7 1 17.8 1 385 | 400 | 770 | 224 1 275 1
EVMS(.)5 3/1.1 385 | 400 | 585 | 13.7 1 18.8 1 385 | 400 | 770 | 244 1 29.5 1
EVMS(.)5 4/1.5 385 | 400 | 585 | 14.4 1 19.5 1 385 | 400 | 770 | 28.6 1 33.7 1
EVMS(.)5 5/2.2 385 | 400 | 585 | 14.9 1 20.0 1 385 | 400 | 770 | 30.6 1 35.7 1
EVMS(.)5 6/2.2 385 | 400 | 585 | 15.3 1 20.5 1 385 | 400 | 770 | 31.0 1 36.2 1
EVMS(.)5 7/3.0 385 | 400 | 585 | 16.1 1 21.2 1 385 | 400 | 970 | 39.4 1 445 1
EVMS(.)5 8/3.0 385 | 400 | 585 | 16.4 1 21.5 1 385 | 400 | 970 | 39.7 1 44.8 1
EVMS(.)5 9/3.0 385 | 400 | 585 | 16.9 1 22.0 1 385 | 400 | 970 | 40.2 1 45.3 1
5 | EVMS(.)5 10/4.0 385 | 400 | 770 | 17.9 1 23.0 1 400 | 510 | 1200 | 47.8 1 61.9 2
EVMS(.)5 11/4.0 385 | 400 | 770 | 18.6 1 23.7 1 400 | 510 | 1200 | 48.5 1 62.6 2
EVMS(.)5 12/4.0 385 | 400 | 770 | 19.7 1 24.8 1 400 | 510 | 1200 | 58.6 2 63.7 2
EVMS(.)5 13/5.5 385 | 400 | 970 | 27.2 1 32.3 1 500 | 525 | 1350 | 87.1 3 92.2 3
EVMS(.)5 14/5.5 385 | 400 | 970 | 27.7 1 32.8 1 500 | 525 | 1350 | 87.6 3 92.7 3
EVMS(.)5 15/5.5 385 | 400 | 970 | 28.2 1 33.3 1 500 | 525 | 1350 | 88.1 3 93.2 3
EVMS(.)5 16/5.5 385 | 400 | 970 | 28.8 1 33.9 1 500 | 525 | 1350 | 88.7 3 93.8 3
EVMS(.)5 17/7.5 385 | 400 | 970 | 29.4 1 345 1 500 | 525 | 1350 | 96.3 3 101.4 3
EVMS(.)5 19/7.5 385 | 400 | 970 | 30.3 1 35.4 1 500 | 525 | 1540 | 99.9 3 105.0 3

282

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PACKING DATA

EVMS(.)10-15-20
Pumps Pumps with motor ~3
Pump Type Packing [mm] Weight [Kg] + Pack Type Packing [mm] Weight + Packing [Kgf]
X Y z EVMS(L) EVMSG X Y z EVMS(L) EVMSG
EVMS(.)10 1/0.75 385 [ 400 | 585 | 23.1 1 26.5 1 385 | 400 | 770 | 323 1 35.7 1
EVMS(.)10 2/1.5 385 | 400 | 585 | 23.3 1 26.7 1 385 | 400 | 770 | 37.5 1 40.9 1
EVMS(.)10 3/2.2 385 [ 400 | 585 | 24.1 1 27.6 1 385 (400 | 770 | 39.8 1 43.3 1
EVMS(.)10 4/3.0 385 [ 400 | 585 | 25.1 1 28.5 1 400 | 510 | 1200 | 48.4 1 61.4 2
EVMS(.)10 5/4.0 385 | 400 | 585 | 25.9 1 29.4 1 400 | 510 | 1200 | 65.3 2 68.8 2
EVMS(.)10 6/4.0 385 | 400 | 585 | 26.8 1 30.2 1 400 | 510 | 1200 | 66.2 2 69.6 2
EVMS(.)10 7/5.5 385 | 400 | 770 | 35.2 1 38.6 1 400 | 510 | 1200 | 84.6 2 88.0 2
10 | EVMS(.)10 8/5.5 385 | 400 | 770 | 36.4 1 39.8 1 400 | 510 | 1200 | 85.8 2 89.2 2
EVMS(.)10 9/5.5 385 (400 | 770 | 37.2 1 40.6 1 400 | 510 | 1200 | 86.6 2 90.0 2
EVMS(.)10 10/7.5 385 | 400 | 770 | 38.0 1 415 1 500 | 525 | 1350 | 105.3 3 108.8 3
EVMS(.)10 11/7.5 385 [ 400 | 970 | 40.1 1 435 1 500 | 525 | 1350 | 107.0 3 110.4 3
EVMS(.)10 12/7.5 385 | 400 | 970 | 41.0 1 444 1 500 | 525 | 1350 | 107.9 3 111.3 3
EVMS(.)10 14/11 400 | 510 | 1200 | 51.0 2 54.4 2 500 | 525 | 1540 | 137.1 3 140.5 3
EVMS(.)10 15/11 400 | 510 | 1200 | 51.9 2 55.4 2 500 | 525 | 1540 | 138.0 3 141.5 3
EVMS(.)10 16/11 400 | 510 | 1200 | 62.4 2 65.9 2 500 | 525 | 1540 | 138.9 3 142.4 3
EVMS(.)15 1/1.5 385 | 400 | 585 | 21.2 1 29.3 1 385 | 400 | 770 | 35.4 1 435 1
EVMS(.)15 2/3.0 385 | 400 | 585 | 21.5 1 29.7 1 400 | 510 | 1200 | 44.8 1 62.6 2
EVMS(.)15 3/5.5 385 | 400 | 770 | 30.3 1 38.4 1 400 | 510 | 1200 | 79.7 2 87.8 2
EVMS(.)15 4/7.5 385 | 400 | 770 | 31.5 1 39.6 1 400 | 510 | 1200 | 87.9 2 96.0 2
EVMS(.)15 5/7.5 385 | 400 | 770 | 32.6 1 40.7 1 400 | 510 | 1200 | 89.0 2 97.1 2
0 EVMS(.)15 6/11 385 | 400 | 770 | 424 1 50.6 1 500 | 525 | 1350 | 126.2 3 134.4 3
EVMS(.)15 7/11 400 | 510 | 1200 | 54.3 2 62.4 2 500 | 525 | 1350 | 128.1 3 136.2 3
EVMS(.)15 8/15 400 | 510 | 1200 | 55.6 2 63.7 2 500 | 525 | 1350 | 155.8 3 163.9 3
EVMS(.)15 9/15 400 | 510 | 1200 | 56.9 2 65.0 2 500 | 525 | 1540 | 159.8 3 167.9 3
EVMS(.)15 10 /15 400 | 510 | 1200 | 58.2 2 66.3 2 500 | 525 | 1540 | 161.1 3 169.2 3
EVMS(.)15 11/18.5 400 | 510 | 1200 | 59.5 2 67.6 2 500 | 525 | 1540 | 177.5 3 185.6 3
EVMS(.)15 12/18.5 400 | 510 | 1200 | 60.8 2 68.9 2 500 | 525 | 1540 | 178.8 3 186.9 3
EVMS(.)20 1/2.2 385 [ 400 | 585 | 21.1 1 29.3 1 385 | 400 | 770 | 36.8 1 45.0 1
EVMS(.)20 2/4.0 385 | 400 | 585 | 21.5 1 29.7 1 400 | 510 | 1200 | 60.9 2 69.1 2
EVMS(.)20 3/7.5 385 | 400 | 770 | 30.3 1 38.5 1 400 | 510 | 1200 | 86.7 2 94.9 2
EVMS(.)20 4/7.5 385 | 400 | 770 | 31.5 1 39.7 1 400 | 510 | 1200 | 87.9 2 96.1 2
P EVMS(.)20 5/11 385 | 400 | 770 | 40.9 1 49.1 1 500 | 525 | 1350 | 124.7 3 132.9 3
EVMS(.)20 6/11 385 | 400 | 970 | 41.6 1 49.7 1 500 | 525 | 1350 | 125.0 3 133.1 3
EVMS(.)20 7/15 400 | 510 | 1200 | 45.1 1 62.3 2 500 | 525 | 1350 | 154.3 3 162.5 3
EVMS(.)20 8/15 400 | 510 | 1200 | 46.4 1 63.6 2 500 | 525 | 1540 | 158.3 3 166.5 3
EVMS(.)20 9/18.5 400 | 510 | 1200 | 47.8 1 64.9 2 500 | 525 | 1540 | 174.8 3 182.9 3
EVMS(.)20 10 /18.5 | 400 | 510 | 1200 | 49.1 1 66.3 2 500 | 525 | 1540 | 176.1 3 184.3 3

283

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

VERTICAL MULTISTAGE PUMPS

300
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS EVM
PRODUCT FEATURES

[General]

1. Pump Type
The EVM is non-self-priming, vertical multistage in line, centrifugal pumps.

2. Model range
The EVM comes in 32,45 and 64 m3/h flow sizes for the majority market needs.

3. Maximum operating pressure
The EVM can be operated at 16,25 or 30 bar as maximum.

4. Operating temperature range
The EVM can be operated from - 15 to + 120 °C as the maximum.

5. Material options
AISI 304, AISI 316 and Cast iron versions are available.

6. Motor
The EVM can be coupled with the commercial motors that are acquired in the markets.

7. Certifications

Atmosferes
explosibles approval

ATEX 2014/34/UE

&

Drinking water approval

DM174/2004

2
TIFQ

prodotto conforme
D.M.174/2004

Mechanical seal SiC/Carbon_FPM - -
EVMG . - -
EVM ° - -
EVML ° - -

e Standard

8. Conform to the provisions of the European directives C €

[Main Product Features]

1. Robust constructions
¢ Commercial motors can be fitted to all of the pump models with additional ball bearing on the bracket
e Stainless cast bottom casing to ensure 30 bar working pressure
* Rolling groove pump shaft for high torque transmissions

2. Energy saving

* High efficiency IE2 motor.

* The VFD (Variable frequency drive) can be fitted on the motor for the pressure boosting systems
3. Easy maintenance

The cartridge shaft seal enables the plug in replacement of the shaft seal without disassembling the motor
bracket.

301
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM

VERTICAL MULTISTAGE PUMPS

PRODUCT SPECIFICATIONS

PUMP
Version EVMG EVM EVML
Nominal flow rate (m3/h ) 32 | 45 | ed 32 | 45 | e 2 | 45 | e
Operating ] ;
range Maximum working pressure 1.6/3.0 MPa (16 bar/ 30 bar)
Liquid temperature range -15°Cto 120 °C
Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
EVM 32 EN 1.4301 (AISI 304) + PTFE EN 1'440;T(?és' 816) +
Liner ring
EVM 45-64 EN 1.4401 (AISI 316) + PTFE
Bottom casing Cast Iron ASTMCF8 ASTMCF8M
Casing cover Cast Iron Cast Iron + Castlron +
9 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Key Shaft EN 1.4404 (AISI 316L) [ | ([ ] | [ ] [ ] | [ J | [ J [ J | ([ | [
Components | shaft sleeve bearing Tungstene carbide
Material
type Cartridge mechanical seal
Shaft Seal
material Silicon Carbide / Carbon / FPM
O-ring EPDM FPM
Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Motor Bracket Cast Iron
Tie rod Carbon Steel
Coupling Carbon Steel
Base Cast Iron
Pipe
. Round Flange (DIN) [ ([ ] [ ] [ ] [ ] [} [} [ [
connection
Legend: @ Available
MOTOR
Frequency 60 Hz
Phase Three Phase
Rotation speed = 3500 min'
Rl _ 40+37 KW
Source Power rating
5.5+ 50 HP
Volt 220/380 V - 5% /+ 10% (up to 4kW) 265/460 + 10% V (up to 4kW)
oltage
9 380/660 V - 5% /+ 10% (above 5.5 kW) 460 + 10% V (above 5.5 kW)
Type TEFC
- IE2 : up to 4.0 kW (220-380V / 265-460V)
Efficiency Level
IE2 : above 5.5 kW (380-660V / 460V)
Type
No° of poles 2
Protection degree IP 55
Insulation Class F (temperature rise class B)
Thermal Protection PTC is available for the above 22 kW included
Casing Material Aluminium
Others
IMB14 (up to 4 kW)
Flange mount (IEC motor)
IMB5 (above 5.5 kW)

302

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz VERTICAL MULTISTAGE PUMPS EVM
SHAFT SEAL
EVM(.)32-45-64
1. Shaft Seal
D1 D1
= |
T |
i
N 3 d
- d 1
1 3 ;
TG I
inn Q |
(Llg/d ML
il i
up to 25 bar up to 30 bar
Cartridge Unbalanced type Cartridge Balanced type

2. Type of Shaft Seal and Dimensions [mm]

Max Material
Size | operating d D1 L L1 L2 L3 S 1 5 3
[mm] | pressure | [mm] | [mm] | [mm] | [mm] | [mm] | [mm] | [mm]| Stationary Seal .
. Rotary Seal Ring | Rubber
[bar] Ring
25 39 |265(125| 50 | 3.5 ) . )
25 25 43 Carbon graphite | Silicon carbide FPM
30 50 | 385 | 11.5 - -
303
EBARA Pumps Europe % ERARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM

VERTICAL MULTISTAGE PUMPS

TYPE KEY
EVM(.)32-45-64

Evm][_J[82][ J[tJ[-JlollFI1[e6 ][ Ji/it40ii i

Phase motor
null = 3 phase

|Motor in kW_ pag.403

Pole
Null = 2 pole

Frequency

6 = 60Hz

Code for pipe connection

F = Round flange

Number of reduced diameter impellers

0111213

Example for pump without motor:
EVM32 1-0F6

P.IVA 01234660221 c €
Ea-mpo !;nnn vo,‘:o
38023 Cles (TN) -ITALY  MADE IN ITALY

TYPE ©) [O)
Q‘Hmax (O m |tmn @m‘@
e @ tmin |H @ n
R G W nin* ()

[ ANO PN

Me> () Hoef (1) %

Lhhzoeedotedz

a a4
W N = O © ©

|Space

|Dash

| Number of impellers

Flow rate [m3/h]
32|45 |64

Code for model series
null = AISI 304 version
L = AISI 316 version

G = Cast Iron version

| Series name

Example for pump with motor:
EVM32 1-0F6/4.0

NAMEPLATE
“TYPE” Pump model
‘Q’ Indicates upper and lower flow rate limits
“H” Indicates head limits corresponding to minimum and maximum flow rate
“Hmax” Maximum head
“Hmin” Minimum head
“P2” Rated power of the motor (output at shaft)
“HP” Rated power of the motor expressed in HP (Horse Power)
“Hz” Frequency
“min-1" Speed of rotation
“PIN®” Pump item number
“N” Material code
“MEI” Index of the pump’s quality in relation to its efficiency
“Hyd. Eff.” Hydraulic efficiency of the pump

304

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS EVM
PERFORMANCE RANGE

USgpm. 5 10 52 40 50 60 70 80 90100 120 140 160180200 250 300 350400 500 600
Il Il Il Il Il Il Il | Il 1 1 | Il 11 1 Il | Il Il Il |
T T T T T T T T T LU T T T 1T T T T T T
mpgpm. 5 10 52 0 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500
404 40
p H 1200
Pal 304 1M a9 00 N
- 900
2.5 250 = o = = - T L 800 ff]
i g i _7
20 a0 ] ~ ] w
| . i , - 600
I | \ ! 1
15 150 1 ! i ==\C \ ™ 50
II ! I v ™~
124 1 T i ; ! o
| 1 | | -
104 10 | BRd iScad imaRAR i
; | : | i - 300
08 80 i i T L 250
| ! [
| | AR
06 0 h : I A a0
, |
054 % 1 3 5 10— 154420-321—451-64 “
n 1 f—
044 W I | L
0.3 30 } = | i=: L 100
e B WA MUY WEARRARA 74!>77_7_7_777777777777777777*7”””””””, B na;»ﬁf:f\sf B EENN ARNSE . N ————
| ! | »
02 Pl - i — L ]
IS8 . !
015 15 e A 2\ i 50
b | 40
| I
0.1 10 I
0.09- 9 i E
0.08 8 L
0.07 7
0.06 6 —20
0.05- 5
910 5 2 30 40 5 60 8 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500
QUVmin]
T T T T T T T T T T T T T 1
i 15 2 3 4 5 6 0 5 6 70 100 Qi
100 R ..
nog 45164
4 N -
i
& 1 = 32
50 e e ==
40 // gl
L)
2
910 52 3 4 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500
Q[/min]

EBARA Pumps Europe 5 ERARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



EVM VERTICAL MULTISTAGE PUMPS

CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906:2012 - Grade 3B.

The curves refer to effective speed of asynchronous motors at 60 Hz, 2 poles.

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity of v = 1 mm?/s
(1 cSt).

The NPSH curve is an average curve obtained in the same conditions of performance curves.

During the pump selection, consider to get a safety margin of at least 0.5 m.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best efficiency point.

Symbols explanation:

Q - volume flow rate

H - total head

P, - pump power input (shaft power)

n - pump efficiency

NPSH - net positive suction head required by the pump

306

B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

SELECTION CHART

EVM(.)32-45-64
. Q = Capacity
Pump Type Motor Maximum
working |/min_ 0| 250 | 450 | 600 | 700 | 800 | 950 | 1100 | 1200 | 1500 | 1700
[kW] | [HP] Size pressure  Im3h 0| 15 27 36 42 48 57 66 72 90 102
Three phase [MPa] i .
H = Total manometric head in meters
EVM(.)32 1-0F6/4.0 4.0 5.5 112 M 34.7 314 | 283 | 243 | 206 | 16.5 - - - - -
EVM(.)32 2-2F6/5.5 5.5 7.5 1328 56.5 52.5 | 43.5 | 336 | 25.7 - - - - - -
EVM(.)32 2-0F6/7.5 7.5 10 1328 69.5 63 | 56.6 | 485 | 41 33.1 - - - - -
EVM(.)32 3-3F6/7.5 7.5 10 1328 84.5 79 | 653 | 50.5 | 385 - - - - - -
EVM(.)32 3-0F6/11 11 15 160 M 16 104 94 85 | 725 | 62 | 495 - - - - -
EVM(.)32 4-3F6/11 11 15 160 M 119 110 | 935 | 745 | 59 - - - - - -
EVM(.)32 4-0F6/15 15 20 160 M 139 125 | 113 97 | 825 | 66 - - - - -
EVM(.)32 5-3F6/15 15 20 160 M 152 143 | 124 | 99.5 | 79.5 | 61.5 - - - - -
EVM(.)32 5-2F6/15 15 20 160 M 158 147 | 130 | 107 | 86.5 | 67.5 - - - - -
32 EVM(.)32 5-0F6/18.5 18.5 25 160 L 169 157 | 141 | 121 | 100 | 79.5 - - - - -
EVM(.)32 6-3F6/18.5 18.5 25 160 L 186 174 | 152 | 124 | 100 | 77.5 - - - - -
EVM(.)32 6-0F6/22 22 30 180 M 203 189 | 170 | 145 | 121 | 95.5 - - - - -
EVM(.)32 7-3F6/22 22 30 180 M 25 220 205 | 180 | 148 | 120 93 - - - - -
EVM(.)32 7-2F6/22 22 30 180 M ’ 221 210 | 186 | 155 | 127 | 99.5 - - - - -
EVM(.)32 7-0F6/30 30 40 200 L 237 220 | 198 | 169 | 141 | 112 - - - - -
EVM(.)32 8-3F6/30 30 40 200 L 254 237 | 209 | 172 | 140 | 109 - - - - -
EVM(.)32 8-0F6/30 30 40 200 L 271 252 | 226 | 194 | 161 | 127 - - - - -
EVM(.)32 9-3F6/30 30 40 200L 3.0 288 268 | 237 | 196 | 160 | 125 - - - - -
EVM(.)32 9-0F6/30 30 40 200 L ’ 305 283 | 255 | 218 | 181 | 143 - - - - -
EVM(.)32 10-4F6/30 30 40 200 L 316 295 | 259 | 213 | 173 | 135 - - - - -
EVM(.)45 1-1F6/5.5 5.5 7.5 1328 31 - 28 | 263 | 246|223 | 17.7 | 11.9 - - -
EVM(.)45 1-0F6/7.5 7.5 10 1328 39.8 - 36.9 | 356 | 344 | 32.7 | 28.8 | 23.8 | 20 - -
EVM(.)45 2-2F6/11 11 15 160 M 62 - 56.5 | 53.5 | 50.5 | 46 | 37.7 | 26.9 - - -
EVM(.)45 2-1F6/11 1 15 160 M 71 - 65.5 | 63 60 | 565 | 49 | 387 - - -
EVM(.)45 2-0F6/15 15 20 160 M 79.5 - 745 | 72 70 67 60 | 50.5 | 43.5 - -
EVM(.)45 3-3F6/15 15 20 160 M 93 - 85 | 805|765 | 70 | 575 | 42 - - -
EVM(.)45 3-2F6/15 15 20 160 M 1.6 102 - 94 90 86 |[80.5| 69 | 535 - - -
EVM(.)45 3-1F6/18.5 18.5 25 160 L 11 - 103 | 99.5 | 96 91 80 | 65.5 | 54.5 - -
EVM(.)45 3-0F6/22 22 30 180 M 119 - 112 | 109 | 106 | 101 91 775 | 67 - -
45 EVM(.)45 4-3F6/18.5 18.5 25 160 L 133 - 122 | 117 | 112 | 104 89 | 685 | 53 - -
EVM(.)45 4-2F6/22 22 30 180 M 142 - 131 | 127 | 122 | 115 | 100 | 80.5 | 65.5 - -
EVM(.)45 4-1F6/30 30 40 200 L 150 - 140 | 136 | 131 | 125 | 111 | 925 | 78 - -
EVM(.)45 4-0F6/30 30 40 200 L 159 - 149 | 145 | 141 | 135 | 122 | 104 91 - -
EVM(.)45 5-3F6/30 30 40 200 L 173 - 160 | 154 | 148 | 139 | 120 95 | 76.5 - -
EVM(.)45 5-2F6/30 30 40 200 L 181 - 169 | 163 | 157 | 149 [ 131 | 107 89 - -
EVM(.)45 5-1F6/30 30 40 200 L 190 - 178 | 172 | 167 | 159 | 142 | 119 | 102 - -
EVM(.)45 5-0F6/37 37 50 200 L 25 199 - 187 | 182 | 177 | 170 | 153 | 131 | 114 - -
EVM(.)45 6-3F6/37 37 50 200 L 212 - 197 | 190 | 183 | 173 | 151 | 122 | 100 - -
EVM(.)45 6-2F6/37 37 50 200 L 221 - 206 | 200 | 193 | 183 | 162 | 134 | 113 - -
EVM(.)45 6-1F6/37 37 50 200 L 230 - 215 | 209 | 203 | 194 | 173 | 146 | 125 - -
EVM(.)64 1-1F6/7.5 7.5 10 132 S 33.9 - - 30.7 | 29.8 | 28.9 | 274 | 2563 | 235 | 15.6 -
EVM(.)64 1-0F6/11 11 15 160 M 42.5 - - 38.5 | 37.7 | 36.8 | 356 | 33.9 | 325 | 26 | 19.9
EVM(.)64 2-2F6/15 15 20 160 M 68 - - 62 | 605 | 59 | 56.5| 53 | 49.5 | 353 -
EVM(.)64 2-1F6/18.5 18.5 25 160 L 76.5 - - 70 | 685 | 67 | 645|615 | 585 | 455 | 334
EVM(.)64 2-0F6/22 22 30 180 M 85 - - 775 | 76 75 73 70 | 67.5 | 56 45
64 EVM(.)64 3-3F6/22 22 30 180 M 16 102 - - 935 | 91 89 | 855|805 | 76 55 -
EVM(.)64 3-2F6/30 30 40 200 L 110 - - 101 99 97 | 935 | 89 |[845 | 655 | 47
EVM(.)64 3-1F6/30 30 40 200 L 119 - - 109 | 107 | 105 | 102 | 97.5 | 93.5 | 75.5 | 58.5
EVM(.)64 3-0F6/30 30 40 200 L 128 - - 117 | 115 | 113 | 110 | 106 | 103 86 70
EVM(.)64 4-3F6/30 30 40 200 L 144 - - 132 | 130 | 127 | 123 | 116 | 111 85 | 60.5
EVM(.)64 4-2F6/37 37 50 200 L 153 - - 140 | 138 | 135 | 131 | 125 | 120 [ 955 | 72
EVM(.)64 4-1F6/37 37 50 200 L 162 - - 148 | 146 | 143 | 139 | 134 | 129 | 106 | 83.5

1.6 MPa=16 bar ; 2.5 MPa=25 bar; 3.0 MPa = 30 bar

307

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVM VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVM(L)32
0 USgpm. 50 100 150 200 250
| | | | | |
I T T T T
0 Imp.g.p.m. 50 100 150 200
0.8 — 80
250
p H
[MPa) m H
R — - [ﬁ]
06— 60 |- — — 200
' 2,
EEEn. ~%,,
~ - \\
~_ — 150
\Q/SS N
04— 40 L
E— \\\ \\\
I  —— 1-0,. 100
‘\
02— 20 ~
. ~— NPSH
—~ m 1L os
NPSH 0T
] 5
—_— 10
0— 0 0
0 200 400 600 800 Q [imin]
T T T T T T 1
0 10 20 30 40 50 Qmn]
: |
P2 2.0 —
[kw] 6 2\2 —T
. " \\ ~—"
10 —_ 1
2 | ——
0 200 400 600 800 Q [imin]
80 ‘
1 20
% 70
— = \\Q
60 e 2.2> 1-0
50
0 200 400 600 800 Q [imin]
Rotation speed 3480 min-"
Test standard: 1ISO 9906:2012 - Grade 3B
308

B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVM(L)32
0 USgpm. 50 100 150 200 250
| | | | | |
| T T | T
0 Impg.p.m. 50 100 150 200
16— 160
- 500
p H
[MPa] m H
— it
T
12+ 120 e ~<_ — 400
—~ \4~0/,%
—— _ \\ T‘\\\
T —— \\{% .
IR S — — — kw
08— 80 — 3D ™
1
\\\ S | iy \ \\\
Lo - 200
\ \
04— 40 ~ NPSH
ml M 400
NPSH R
4// 52
i
10
0— 0 0
0 200 400 600 800 Q [imin]
| T T T T T |
0 10 20 30 40 50 Qmdn]
16 -
P2 4-‘0 ———
w2 43 —
8 3_‘0 \zf’-—-—
‘ "
KRG
4 L
0 200 400 600 800 Q [imin]
80
n
[%] 70 4-0
~ N — 30
60 = N 43
-3
50
0 200 400 600 800 Q [imin]

Rotation speed 3500 min-"!
Test standard: ISO 9906:2012 - Grade 3B

309
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM

VERTICAL MULTISTAGE PUMPS

20—

[MPa]

0.5

P2
[kw]

(%]

200

[m]

150

100

50

80

70

60

50

PERFORMANCE CURVE
EVM(L)32
0 USgpm. 50 100 150 200 250
| | | I I I
I T T T T
0 Impgpm. 50 100 150 200
- 600
:::\‘\::\ - 500
1 = \%
Sy
22/,
N *{ L 400
NN
St \\\
\\ L 300
\\
N\
NPSH | 500
[m] [ft]
10
30
/,/ - 100
NPSH | 5
—] 10
0
0 200 400 600 800 Q [limin]
T T T T T T 1
0 10 20 30 40 50 Qmdn)
5-0
T =
52 -
53 _\4//
\
0 200 400 600 800 Q [limin]
5-0
' 52
~ |
vd ~ 53
0 200 400 600 800 Q [imin]
Rotation speed =3500 min-'
Test standard: ISO 9906:2012 - Grade 3B

[f]

310

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

PERFORMANCE CURVE

EVM(L)32
0 USgpm. 50 100 150 200 250
| | | | | |
I T T T T
0 Impg.pm. 50 100 150 200
32— 32
1000
p H
[MPa] [ml
24— 240 — 800
. : —— . - 600
B e~ \\0_/%—/%
16— 160 6.3 &
\7&\5kw \\
TN N
\\ - 400
N
\
08— 80 ™~ NPSH
ml M =200
NPSH b o
4// 52
T 10
0 0 0
0 200 400 600 800 Q [limin]
T T T T T T 1
0 10 20 30 40 50 Q[m
22 |
P2 6-0
U g
14 /,C/,
6-3
10 |
0 200 400 600 800 Q [imin]
80
n
[%] 70 —— 6,0
60
/ ~ 6-3
50
0 200 400 600 800 Q [Vmin]
Rotation speed =3510 min-'
Test standard: ISO 9906:2012 - Grade 3B
311

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



VERTICAL MULTISTAGE PUMPS

2.4

[MPa]

0.6 —

P2
[kw]

[%]

240

(m]

180

120

60

24

20

80

70

60

50

PERFORMANCE CURVE
EVM(L)32
0 USgpm 50 100 150 200 250
| | | | | |
f T T T T
0 Impg.pm 50 100 150 200
S S S
T R e [
N o
\ 30/\—
\(2/2% \ — 600
7.
S22 Py \\\\
— 500
N
N\
NN\ - 400
NN
N
N — 300
NPSH
m) i) [ 2%
10
30
" 100
NPSH ’l/ P ol
— 10
0
0 200 400 600 800 Q [Vmin]
T T T T T T 1
0 10 20 30 40 50 Q min]
7-0
\ —
72 — —_—F
| [— —
7-3 —=
0 200 400 600 800 Q [Vmin]
7-0
P ~ |
— N
0 200 400 600 800 Q [Vmin]
Rotation speed 3520 min-*
Test standard: 1ISO 9906:2012 - Grade 3B

[t

312

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

32
p
[MPa]
24—
1.6 —
0.8 —
0 -
P2
[kw]
n
[%]
313

320

[m]

240

160

80

80

70

60

50

PERFORMANCE CURVE
EVM(L)32
0 USgpm. 50 100 150 200 250
| | | | | |
| T T T T
0 Impg.pm. 50 100 150 200
L 1000
T T - 800
\\\&0/30“4/
&y,
SR04, SN
N
~ N\ - 600
N
N
N
\\
\\ NPsH [ 400
[m] [f]
P 0 4
> - 200
7 2
NPSH - 5
— 10
0
0 200 400 600 800 Q [imin]
| T T T T T |
0 10 20 30 40 50 Q[mn]
83 T
\ \ -~
T~
0 200 400 600 800 Q [imin]
P 80
= [
/ S 89
0 200 400 600 800 Q [Umin]

Rotation speed 3540 min-*

Test standard: 1ISO 9906:2012 - Grade 3B

[ff

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM

VERTICAL MULTISTAGE PUMPS

324

[MPa]

24—

0.8 —

P2
[kw]

[%]

320

[m]

240

160

80

31

27

23

80

70

60

50

PERFORMANCE CURVE
EVM(L)32
0 USgpm. 50 100 150 200 250
| | | | | |
I T T T T
0 Impgpm. 50 100 150 200
::h\:\\\ - 1000
—— T : ™ ‘\ H
— — \4/
e o sy, - 800
-~ /\30+\
\3’0*
w
Ny
\\ - 600
\\
N
NPSH [ 400
ml [ff
10
P 30
> - 200
20
NPSH /,// 5
— 10
0
0 200 400 600 800 Q [limin]
T T T T T T 1
0 10 20 30 40 50 Qmn]
10-4
00 —
| '//
9-3 =
‘ ~—1
0 200 400 600 800 Q [Vfmin]
— 9-0
\
- Y 104
~ <
~ 9-3
0 200 400 600 800 Q [Vfmin]
Rotation speed #3530 min-*!
Test standard: 1ISO 9906:2012 - Grade 3B
314

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVM(L)32

Dimensional sketch

Round flange (F) - DN65

c 1
B
T I
I I
[ae] =
T O
E
e
Al _
= G3/8
N
I
N° SN holes 218
G3/8
r g {C}H’
3 =
gl et
N° 4 holes @14 145
240
280
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
3~ Weight
H2 SN Weight  Pump +
kW  Size A Pump Motor
Pmax
Pump Type [MPa] B c H3
EVM(L)32 1-0F6/4.0 1.6 40 [ 112M | 2160 | 196 155 306 503 4 56 825
EVM(L)32 2-2F6/5.5 1.6 55| 132S | 9300 | 225 160 328 524 4 58 96.6
EVM(L)32 2-0F6/7.5 1.6 7.5 | 1328 | 9300 | 225 160 350 524 4 58 98.4
EVM(L)32 3-3F6/7.5 1.6 75| 1328 | 2300 | 225 160 350 572 4 74 114.4
EVM(L)32 3-0F6/11 1.6 11 | 160 M | 2350 | 248 194 476 703 4 74 136.5
EVM(L)32 4-3F6/11 1.6 " 160 M | 2350 | 248 194 476 751 4 77 139.5
EVM(L)32 4-0F6/15 1.6 15 | 160 M | @350 | 317 238 498 751 4 7 165.9
EVM(L)32 5-3F6/15 1.6 15 | 160 M | @350 | 317 238 498 799 4 96 184.9
EVM(L)32 5-2F6/15 1.6 15 | 160 M | @350 | 317 238 498 799 4 96 184.9
EVM(L)32 5-0F6/18.5 1.6 18.5| 160L | @350 | 317 238 542 799 4 96 200
EVM(L)32 6-3F6/18.5 25 18.5| 160L | @350 | 317 238 542 847 8 99 203
EVM(L)32 6-0F6/22 25 22 | 180M | 2350 | 360 268 577 847 8 99 262
EVM(L)32 7-3F6/22 25 22 | 180M | 2350 | 360 268 577 895 8 102 265
EVM(L)32 7-2F6/22 25 22 | 180M | 2350 | 360 268 577 895 8 102 265
EVM(L)32 7-0F6/30 25 30 | 200L | @400 | 399 300 658 910 8 105 333
EVM(L)32 8-3F6/30 25 30 | 200L [ 2400 | 399 300 658 958 8 105 333
EVM(L)32 8-0F6/30 3.0 30 | 200L | 2400 | 399 300 658 958 8 105 333
EVM(L)32 9-3F6/30 3.0 30 | 200L | @400 | 399 300 658 | 1006 8 108 336
EVM(L)32 9-0F6/30 3.0 30 | 200L | @400 | 399 300 658 | 1006 8 108 336
EVM(L)32 10-4F6/30 3.0 30 | 200L | 2400 | 399 300 658 | 1054 8 108 336

1.6 MPa=16 bar ; 2.5 MPa=25 bar; 3.0 MPa = 30 bar

315

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

EVM VERTICAL MULTISTAGE PUMPS

SECTIONAL VIEW
EVM(L)32

7//4{

%

%
d

75-1
273-1
e 212-1

Pump without ball bearing

316
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

m

VM

SECTIONAL VIEW
EVM(L)32

274-2
150
, 274-3

I—-lj_] 51

130-2

120-6

Pump with single ball bearing

317

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



60 Hz

EVM VERTICAL MULTISTAGE PUMPS

SECTIONAL VIEW
EVM(L)32

1207 274-2
135-4 \\ 150
120-13 [ ]

T TN
|
128-3 Nt \l ‘I'
120-8 Ny
245 e 70-1
140-2 il 56
aningg i " T
131-1 ¢ t: 3f . 162
| |4 il
130-2 ' T U ,' 140-1
|
130-4 ! ! 301
| I
111-4 e % | 135-3
130-1 ‘. ] | 120-5
120-3 l'.‘ ﬂ};z :' 120-6
128-1 L =Y 6 ) 120-4
135-1 \ T — 273
‘ 3 i 75
1 h-l\ Y
‘,r 1 XX e ||| ] N P
L | 11
115-1

1115 — ||

g

o E\ -
L 1155
™
™~

!
i

115-4

-
s —

|
[
\
i
1]
/ﬁ/ x o
47 ! ! 111-2
274-1 / ‘ Bl \ 130-3
!
\
|
\
\
\
\
\
\
j—
1
il
LD

s
i

/

\
r
44////

Pump with single ball bearing

318
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS EVM
SECTIONAL VIEW
EVM(L)32
1207 e 129
1354 o 136
120-13 ——H ! U]V i 70-1
N T Y
g 7/\‘:;[) \\\ | |‘| //F //
128-3 L\ .‘ | /.
120-8 N\ | Q Q‘ " Yy
245 \viie) = -
140-2 L&; | A i 56
131-1 Y i = ) 162
1302 " my| | [ ! 140-1
130-4 ". ‘ 39-1
|
1114 '. 4 | 135-3
130-1 | N | 120-5
120-3 | X;~ .‘ 120-6
128-1 ! B3 ! i 120-4
N J

/
/1

-
—

75-1
2731
2121

Pump with double ball bearingm

319

EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVM(L)32

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVM EVML
5-1 Suction casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-2 Intermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN 1.4308 (ASTM CF8) EN 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
1 Casing cover Cast Iron + EN 1.4301 (AISI 304) EN 1213;; I(r:InSI+316L)
21 Impeller
- EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
21-1 Reduced impeller
31 Shaft EN 1.4404 (AISI 316L)
39-1 Key Carbon Steel 12x8x90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
48 Impeller nut A2-70 UNI 7323 with inox insert A4-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
56 Ball bearing see table page 322
70-1 Ring for bearing EN 1.4301 (AISI 304)
75 O-Ring (plug) EPDM FPM
75-1 O-Ring (plug) EPDM FPM
107 Liner ring PTFE / EN 1.4301 (AISI 304) PTFE / EN 1.4401 (AISI 316)
1111 Mechanical Seal Silicon carbide / Carbon / FPM
111-2 Mechanical seal cartridge EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
111-3 Mechanical seal seat EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
111-4 Seal holder Brass OT 58 UNI 5705 EN 1.4404 (AISI 316L)
111-5 Adjusting ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
115-1 O-Ring (outer casing) EPDM FPM 3208.91x5.34
115-4 O-Ring (cartridge sleeve) EPDM FPM @24.99x3.59
115-5 O-Ring (seal cover) EPDM FPM @44.04x3.53
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1

320

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

SECTIONAL TABLE
EVM(L)32

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVM EVML

120-3 Screw (mechanical seal) A2-70 UNI 7323 M5xX10 UNI 5931

120-4 Screw (casing cover) Galvanized steel 8.8 strenght class 1ISO 898/1 M10x25 UNI 5739

120-5 Screw for coupling EVM32 1 Galvanized steel 8.8 strenght class ISO 898/1 M6x16 UNI 5931
EVM32 3 to 10 M8x20 UNI 5931

120-6 Screw for coupling —EVM32 11033 Galvanized steel 8.8 strenght class 1ISO 898/1 Mox16 UNI 5931
EVM32 3-0 to 10-3 M8x20 UNI 5931

120-7 Screw (bearing) Galvanized steel 8.8 strenght class ISO 898/1 M6x10 UNI 5739
EVM32 3-0 to 10-3 M12x25 UNI 5739

120-8 Screw (bearing housing) —_—————] Galvanized steel 8.8 strenght class 1ISO 898/1
EVM32 2-0 to 3-3 M10x30 UNI 5739

120-10 Screw (base plate) Galvanized steel 8.8 strenght class ISO 898/1 M12x40 UNI 5739
EVM32 1 M8x20 UNI 5739

120-13 Screw for motor EVM32 2-0 to 3-3 Galvanized steel 8.8 strenght class ISO 898/1 M12x30 UNI 5739
EVM32 3-0 to 10-3 M16x65 UNI 5739

128-1 Nut for tie rod Galvanized steel M16 UNI 5588

128-3 Nut (motor) Galvanized steel M16 UNI 5588

129 Lock nut Carbon Steel

130-1 Set screw A2-70 UNI 7323 M6x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

130-3 Set screw (mechanical seal) A2-70 UNI 7323 M6x6 UNI 5923

130-4 Set screw (coupling pin) Carbon Steel M10x10 UNI 5923

131-1 Pin for shaft Carbon Steel

135-1 Washer (Tie rod) Galvanized steel 17x30x3 UNI 6592

135-3 Washer (coupling) Galvanized steel 10.5x17.5x2.2 UNI 1751

135-4 Washer (bearing) Carbon Steel 06:04 UNI 1751

136 Locking washer (coupling) Carbon Steel

137-1 Impeller spacer EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316)

140 Coupling Brass OT 58 UNI 5705

140-1 Coupling (motor side) Carbon Steel

140-2 Coupling (pump side) Carbon Steel

150 Spacer Carbon Steel

160 Base Cast iron EN-GJL-200-EN 1561

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

2121 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

245 Coupling guard EN 1.4301 (AISI 304)

273 Plug Washer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

2731 Plug Washer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

2741 C-type snap ring (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 226 UNI 7435

274-2 C-type snap ring (coupling) Carbon Steel TC 80 250 UNI 7435

274-3 C-type snap ring (bracket) Carbon Steel TC 80 2110 UNI 7437

613 Flange Carbon Steel

321

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

EVM VERTICAL MULTISTAGE PUMPS

QUANTITY FOR MODEL
EVM(L)32

Pump Type N
5-2|5-3| 11| 21 |21-1|39-1|43-2|43-3(434 44-1| 51 [52-1| 56 |70-1| 107 [111-5|120-4[120-5]120-7|120-8(128-3| 129 [135-3|1354| 136 | 140 | 140-1(140-2| 150 |274-2(274-3
EVM(L)32 1-0F6/4.0 P2 I O A | / / / 1 1 1 U2 I B A A O 1 / 2 / / / / / / / 1 / / / / /
EVM(L)32 2-2F6/5.5 A I B A A ) / / 1 1 1 1111 /7]2 1 / / / 4 / / / / / 1 / / 1 1 1
EVM(L)32 2-0F6/7.5 P e I A A / / 1 1 11111172 1 / / / 4 / / / / / 1 ! / 1 1 1
EVM(L)32 3-3F6/7.5 111773 / 1 1 1 1 1T{1(1|/7]3 1 / / / 4 / / / / ! 1 ! / 1 1 1
EVM(L)32 3-0F6/11 111(1]3 / 1 1 1 1 1 11111113 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 4-3F6/11 2111|113 1 2 1 1 1 1111 1]4 1 4 4 3 4 4 / 4 3 / ! 1 1 1 1 /
EVM(L)32 4-0F6/15 2 (1147 1 2 1 1 1 1111 1]4 1 4 4 3 4 4 / 4 3 / ! 1 1 1 1 /
EVM(L)32 5-3F6/15 3|11(1]2]3 1 3 1 1 1 11111115 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 5-2F6/15 3|11(1]3]2 1 3 1 1 1 11111115 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 5-0F6/18.5 31|15/ 1 3 1 1 1 1111 1]5 1 4 4 3 4 4 / 4 3 / ! 1 1 1 1 /
EVM(L)32 6-3F6/18.5 4111133 1 4 1 1 1 1111 1]6 1 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)32 6-0F6/22 411(1]6 / 1 4 1 1 1 11111116 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)32 7-3F6/22 5|11(1]4]3 1 5 1 1 1 11111117 1 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)32 7-2F6/22 5(111]|5]|2 1 5 1 1 1 11 (1 |1]7 1 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 !
EVM(L)32 7-0F6/30 511 (1]7 / 1 5 1 1 1 11111117 1 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)32 8-3F6/30 6(1|1]5]|3 1 6 1 1 1 1111 1]8 1 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)32 8-0F6/30 6 (1 |1]|8]/ 1 6 1 1 1 1111 1]8 / 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
EVM(L)32 9-3F6/30 7111|163 1 7 1 1 1 11111 1]9 / 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)32 9-0F6/30 7(1|11]9 / 1 7 1 1 1 1111 1]9 / 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)32 10-4F6/30 712|164 1 712 (2|2 |1|2|1]|1[10] / 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
BEARINGS
EVM(L)32
Pump Type N
56
EVM(L)32 1-0F6/4.0 /
EVM(L)32 2-2F6/5.5 6310 ZZ C3
EVM(L)32 2-0F6/7.5 6310 ZZ C3
EVM(L)32 3-3F6/7.5 6310 ZZ C3
EVM(L)32 3-0F6/11 63132Z C3
EVM(L)32 4-3F6/11 63132Z C3
EVM(L)32 4-0F6/15 6313 ZZ C3
EVM(L)32 5-3F6/15 6313 ZZ C3
EVM(L)32 5-2F6/15 6313 ZZ C3
EVM(L)32 5-0F6/18.5 6313 ZZ C3
EVM(L)32 6-3F6/18.5 6313 ZZ C3
EVM(L)32 6-0F6/22 631527 C3
EVM(L)32 7-3F6/22 6315Z72Z C3
EVM(L)32 7-2F6/22 6315Z2Z C3
EVM(L)32 7-0F6/30 6315 ZZDT C3*
EVM(L)32 8-3F6/30 6315 ZZDT C3*
EVM(L)32 8-0F6/30 6315 ZZDT C3*
EVM(L)32 9-3F6/30 6315 ZZDT C3*
EVM(L)32 9-0F6/30 6315 ZZDT C3*
EVM(L)32 10-4F6/30 6315 ZZDT C3*

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

322

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

0.8 80

[MPa] [m]

0.6 — 60

0.4 — 40

0.2 — 20

P2
[kw]

2

80
n
[%] 70

60

50

323

PERFORMANCE CURVE
EVMG32
0 USgpm. 50 100 150 200 250
| | | | ! |
| T | T T
0 Impg.pm. 50 100 150 200
- 250
— .
2,
I — | \\0/25,%
~_ Ny
~_ 150
TN ng/
\55% \\
- \\ \\
——
‘\
\‘\ NPSH
~ m [ | s
NPSH R k!
4// 52
10
0
0 200 400 600 800 Q [i/min]
| T T T T T |
0 10 20 30 40 50 Q[mdn)
2-0
[ —T
212 \\ ~—"
10 — T
\______—"
0 200 400 600 800 Q [Ymin]
20
— \\
= 2-2
0 200 400 600 800 Q [Ymin]

Rotation speed =3480 min-'
Test standard: ISO 9906:2012 - Grade 3B

[ft]

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE
EVMG32
0 USgpm. 50 100 150 200 250
| | | | | |
f T T T T
0 Impgpm. 50 100 150 200
16— 160
- 500
p H
[MPa] M
124 120 \| — 400
—_— —
T~ \¢0/75/\—
W
—— | \\ ‘\\\
I — ‘\{3/7, - 300
I — —— &
08— 80 — 3N ™
1
\\ \ 5 ! kw \ \\\
~3,
L N - 200
N
04— 40 N NPSH
m I = 100
NPSH 0w
4// 52
e 10
0 0 0
0 200 400 600 800 Q [Vmin]
T T T T T T 1
0 10 20 30 40 50 Qmdn)
16 -
w12 43 —
g 30 o — —
‘ \/7
R e
4 L
0 200 400 600 800 Q [imin]
80
n
(6 70 40
~ \ = 30
60 — N 43
3-3
50
0 200 400 600 800 Q [Vmin]
Rotation speed #3500 min-*
Test standard: 1ISO 9906:2012 - Grade 3B

[ft

324

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

2.0 200

[MPa] ml

0.5+ 50

P2
(kW]

80
[%] 70
60

50

325

PERFORMANCE CURVE
EVMG32
0 USgpm. 50 100 150 200 250
| | | | |
I T T T
0  Imp.g.p.m. 50 100 150 200
- 600
= L 500
B ~— \310/785
S
5,\2/'75\
N *{ - 400
5‘3/75 \\
ky, \
\\ L 300
\\
NG
NPSH | 500
[m] [ft]
10
30
7 - 100
NPSH — s %
] — 10
0
0 200 400 600 800 Q [imin]
T T T T T T 1
0 10 20 30 40 50 Qmn)
5-0
T =
5‘-2 — — —
53— :/
\
0 200 400 600 800 Q [imin]
5-0
~ — 5‘-2
el |
0 200 400 600 800 Q [imin]

Rotation speed =3500 min-'
Test standard: 1ISO 9906:2012 - Grade 3B

[ft

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



60 Hz
EVM VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMG32
0 USgpm. 50 100 150 200 250
| | | | | |
I T T T T
0  Imp.g.p.m. 50 100 150 200
324 320
1000
p H
[MPa] ml H
Ift]
24— 240 — 800
——-~:\~\~:::'\ 6 - 600
l\\\ \\0_/;2»/%
16— 160 6-37
\78'\5*!4/ \\
N N
\\ 400
N
N\
08— 80 ~ NPSH
M I |- 200
NPSH 07
74// 5
— 10
0— 0 0
0 200 400 600 800 Q [imin]
T T T T T T 1
0 10 20 30 40 50 Qmn]
2
P2 6-0
14 /VC/,
6-3
10
0 200 400 600 800 Q [iimin]
80
[:/1] 70 60
g
60
~ 6:3
50
0 200 400 600 800 Q [imin]
Rotation speed 3510 min-"
Test standard: 1ISO 9906:2012 - Grade 3B
326

B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

2.4 240

[MPa] [m]

0.6 — 60

P2
[kw]

80
[%] 70
60

50

327

PERFORMANCE CURVE
EVMG32
0 USgpm. 50 100 150 200 250
| | | | | |
I T T T T
0  Imp.g.p.m. 50 100 150 200
-"‘:\:1:;: ~— - 700 H
SN Qtn,
\(2/9% < — 600
2.
3/2?4,“/ \\\\
- 500
N
N\
N\, - 400
N\
N
N 300
NPSH
m [ [ 20
" " 100
NPSH " 50
— 10
0
0 200 400 600 800 Q [Imin]
T T T T T T 1
0 10 20 30 40 50 Q[md]
‘ —
7-0
I —
72 — ==
| —
7-3 =
\
0 200 400 600 800 Q [Vmin]
70
~ 73
0 200 400 600 800 Q [Vmin]
Rotation speed 3520 min-"
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



VERTICAL MULTISTAGE PUMPS

3.2

[MPa]

24—

0.8

P2
[kw]

%]

320

[m]

240

160

80

28

24

20

80

70

60

50

PERFORMANCE CURVE
EVMG32
0  USgpm. 50 100 150 200 250
| | | | | |
| T | T |
0 Imp.g.p.m. 50 100 150 200
- 1000
H
—— It
It R e - 800
\\\&0/30/%
S.
. %\
N
\\\ - 600
N
TN
\\
‘\ NPsH | 400
[m] [fY
P i
- - 200
2
NPSH /,// 5
— 10
0
0 200 400 600 800 Q [imin]
| T T T T |
0 20 30 40 50 Qmdn]
8-3 T
~—_ \ ~
T~
0 200 400 600 800 Q{/min]
N 63
0 200 400 600 800 Q [i/min]
Rotation speed =3540 min-'
Test standard: 1ISO 9906:2012 - Grade 3B
328

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE
EVMG32
0 USgpm. 50 100 150 200 250
| | | | | |
f T T T T
0 Impg.pm. 50 100 150 200
329 30—
— T — 1000
p H T
[MPa] mo T —— ] ‘t H
T 7 o If
\ \ .,
\\ 9 %0’% — 800
24— 240 S “0/3 \
0ty
}3/5\
P
\\i\\
\\ - 600
16— 160 \\
N
NsH | 400
[m] [f]
0.8 80 10
P 30
- - 200
2
NPSH /,// 5
— 10
0 0 0
0 200 400 600 800 Q [imin]
T T T T T T 1
0 10 20 30 40 50 Qmn]
31
Pa 10-4
[kw] 9\0 _—
; 0~ =z
93 =
19 ‘ \/
0 200 400 600 800 Q [imin]
80 ‘
n }
% 70 0
T 10‘ 4
" —
60 \( ‘
~ 9-3
50 ‘
0 200 400 600 800 Q [imin]

Rotation speed =3530 min-'
Test standard: ISO 9906:2012 - Grade 3B

329
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA
EVMG32

Dimensions [mm] and Weights [Kg]

Round flange (F) - DN65
¢ 1
B
T T
I I
® =
T Q
E
-
A -
% 1 G3/8
N
I
N° SN holes 218
G 3/8
8 oV
(S
&8
N 4holesotd] |9 |23 2145
170 240
210 280
320
Motor Round flange (F)
3~ Weight
H2 SN Weight  Pump +
kW  Size A Pump Motor
Pmax
Pump Type [MPa] B C H3
EVMG32 1-0F6/4.0 1.6 4.0 [ 112M | 2160 | 196 155 306 503 4 56 82,5
EVMG32 2-2F6/5.5 1.6 55| 1328 | @300 | 225 160 328 524 4 58 96.6
EVMG32 2-0F6/7.5 1.6 75| 132S | @300 | 225 160 350 524 4 58 98.4
EVMG32 3-3F6/7.5 1.6 75| 1328 | 9300 | 225 160 350 572 4 74 114.4
EVMG32 3-0F6/11 1.6 1" 160 M | 2350 | 248 194 476 703 4 74 136.5
EVMG32 4-3F6/11 1.6 11 | 160 M | 2350 | 248 194 476 751 4 7 139.5
EVMG32 4-0F6/15 1.6 15 | 160 M | @350 | 317 238 498 751 4 7 165.9
EVMG32 5-3F6/15 1.6 15 | 160 M | @350 | 317 238 498 799 4 96 184.9
EVMG32 5-2F6/15 1.6 15 | 160 M | @350 | 317 238 498 799 4 96 184.9
EVMG32 5-0F6/18.5 1.6 18.5| 160L | @350 | 317 238 542 799 4 96 200
EVMG32 6-3F6/18.5 25 18.5| 160L | @350 [ 317 238 542 847 8 99 203
EVMG32 6-0F6/22 25 22 | 180M | 2350 | 360 268 577 847 8 99 262
EVMG32 7-3F6/22 25 22 | 180M | 2350 | 360 268 577 895 8 102 265
EVMG32 7-2F6/22 25 22 | 180M | 2350 | 360 268 577 895 8 102 265
EVMG32 7-0F6/30 25 30 | 200L | 2400 | 399 300 658 910 8 105 333
EVMG32 8-3F6/30 25 30 | 200L | 2400 | 399 300 658 958 8 105 333
EVMG32 8-0F6/30 3.0 30 | 200L | @400 | 399 300 658 958 8 105 333
EVMG32 9-3F6/30 3.0 30 | 200L | 2400 | 399 300 658 | 1006 8 108 336
EVMG32 9-0F6/30 3.0 30 | 200L | @400 | 399 300 658 | 1006 8 108 336
EVMG32 10-4F6/30 3.0 30 | 200L | @400 | 399 300 658 | 1054 8 108 336

1.6 MPa=16 bar ; 2.5 MPa=25 bar; 3.0 MPa = 30 bar

330

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60Hz



60 Hz

VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW
EVMG32

Pump without ball bearing

331
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM

VERTICAL MULTISTAGE PUMPS

75-1
273-1
212-1

SECTIONAL VIEW
EVMG32
274-2
120-13 — 150
140 [ 274-3
131-1

1201 —— |

43-2

433 —0 |

52-1
44-1
43-4
137-1

,
|
A
N
/UL[f

48

31—

6

45\

613

Pump with single ball bearing

332

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW
EVMG32
120-7 274-2
135-4 NS 150
120-13 ———] 1] 70-1
N
51 L {
1
128-3 Vi i b d
N II i
120-8 \\i " J
245 N
140-2 i 56
\ 17 f j]
131-1 ( = ) 162
1302 i Ty | [T ; 140-1
130-4 i i 391
111-4 ! % | 135-3
130-1 | ™ | 120-5
120-3 | §;= i 120-6
128-1 L T € ) 1204
135-1 \ T =— 273
] \ % 75
i i - 212
{ : 11
™ 115-1
$ b \\
’{}—_ ~~ \ 115-5
1115 — i 111-3
115-4 L J i § 111-1
431 7#: i ™ 1112
47 | 5.4
2741 | \ 130-3
i 435
J : L
i
|
i
|
I
J I o
i
i
i
i
i
i
i

212-1 45\ % J L A

613 | N2
T 5 [ =i

Pump with single ball bearing

333
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM VERTICAL MULTISTAGE PUMPS 60 H:

SECTIONAL VIEW
EVMG32

1207 ————= 29
135-4 } 136

120-13 ——H’ 1 A} { ]V j 70-1
r

]

128-3
120-8

245
140-2 56
131-1 162
130-2 140-1
130-4 39-1
111-4 135-3
130-1 120-5
120-3 120-6
128-1 120-4
1351 \ 273

i 75

I
O SO
=
[y

|

N

=

N

1

//7////l4

120 ———

e —
_\ i .
—

44-1

434 —
137-1

48

75-1 H—

2731 6— |

2121 45 — ]

" \\'

Pump with double ball bearingm

334
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

SECTIONAL TABLE
EVMG32

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMG
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250 -EN1561
7 Outer casing EN 1.4301 (AISI 304)
1 Casing cover Cast Iron EN GJL-250 -EN1561
21 Impeller
- EN 1.4301 (AISI 304)
211 Reduced impeller
31 Shaft EN 1.4404 (AISI 316L)
39-1 Key Carbon Steel 12x8x90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
56 Ball bearing see table page 337
70-1 Ring for bearing EN 1.4301 (AISI 304)
75 O-Ring (plug) EPDM
75-1 O-Ring (plug) EPDM
107 Liner ring PTFE / EN 1.4301 (AISI 304)
1111 Mechanical Seal Silicon carbide / Carbon / FPM
11-2 Mechanical seal cartridge EN 1.4301 (AISI 304)
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder Brass OT 58 UNI 5705
111-5 Adjusting ring EN 1.4301 (AISI 304)
115-1 O-Ring (outer casing) EPDM 2208.91x5.34
115-4 O-Ring (cartridge sleeve) EPDM 224.99x3.59
115-5 O-Ring (seal cover) EPDM D44.04x3.53
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1

335

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMG32

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMG

120-3 Screw (mechanical seal) A2-70 UNI 7323 M5xX10 UNI 5931

120-4 Screw (casing cover) Galvanized steel 8.8 strenght class ISO 898/1 M10x25 UNI 5739
EVM32 1 M6x16 UNI 5931

120-5 Screw for coupling Galvanized steel 8.8 strenght class ISO 898/1
EVM32 3 to 10 M8x20 UNI 5931

120-6 Screw for coupling —EVMSZ 11033 Galvanized steel 8.8 strenght class ISO 898/1 M6x16 UNI 5931
EVM32 3-0 to 10-3 M8x20 UNI 5931

120-7 Screw (bearing) Galvanized steel 8.8 strenght class ISO 898/1 M6x10 UNI 5739

120-8 Screw (bearing housing) —EVM32 010103 Galvanized steel 8.8 strenght class 1ISO 898/1 M12x25 UNI 5759
EVM32 2-0 to 3-3 M10x30 UNI 5739

120-10 | Screw (base plate) Galvanized steel 8.8 strenght class ISO 898/1 M12x40 UNI 5739
EVM32 1 M8x20 UNI 5739

120-13 | Screw for motor EVM32 2-0 to 3-3 Galvanized steel 8.8 strenght class ISO 898/1 M12x30 UNI 5739
EVM32 3-0 to 10-3 M16x65 UNI 5739

128-1 Nut for tie rod Galvanized steel M16 UNI 5588

128-3 Nut (motor) Galvanized steel M16 UNI 5588

129 Lock nut Carbon Steel

130-1 Set screw A2-70 UNI 7323 M6x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

130-3 Set screw (mechanical seal) A2-70 UNI 7323 M6x6 UNI 5923

130-4 Set screw (coupling pin) Carbon Steel M10x10 UNI 5923

131-1 Pin for shaft Carbon Steel

135-1 Washer (Tie rod) Galvanized steel 17x30x3 UNI 6592

135-3 Washer (coupling) Galvanized steel 10.5x17.5x2.2 UNI 1751

135-4 Washer (bearing) Carbon Steel 06:04 UNI 1751

136 Locking washer (coupling) Carbon Steel

137-1 Impeller spacer EN 1.4301 (AISI 304)

140 Coupling Brass OT 58 UNI 5705

140-1 Coupling (motor side) Carbon Steel

140-2 Coupling (pump side) Carbon Steel

150 Spacer Carbon Steel

160 Base Cast iron EN-GJL-200-EN 1561

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304)

2121 Plug EN 1.4301 (AISI 304)

245 Coupling guard EN 1.4301 (AISI 304)

273 Plug Washer EN 1.4301 (AISI 304)

2731 Plug Washer EN 1.4301 (AISI 304)

2741 C-type snap ring (mechanical seal) EN 1.4301 (AISI 304) 226 UNI 7435

C-type snap ring (coupling) 250 UNI 7435
274-2 C-type snap ring (bracket) Carbon Steel TC 80 265 UNI 7435
Flange 75 UNI 7535
274-3 C-type snap ring (bracket) Carbon Steel TC 80 2110 UNI 7437
613 Flange Carbon Steel

336

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

QUANTITY FOR MODEL

EVMG32

Pump Type N
5-2|5-3| 11| 21 |21-1|39-1|43-2|43-3(434 44-1| 51 [52-1| 56 |70-1| 107 [111-5|120-4[120-5]120-7|120-8(128-3| 129 [135-3|1354| 136 | 140 | 140-1(140-2| 150 |274-2(274-3
EVMG32 1-0F6/4.0 P2 I O A | / / / 1 1 1 U2 I B A A O 1 / 2 / / / / / / / 1 / / / / /
EVMG32 2-2F6/5.5 A I B A A ) / / 1 1 1 1111 /7]2 1 / / / 4 / / / / / 1 / / 1 1 1
EVMG32 2-0F6/7.5 P e I A A / / 1 1 11111172 1 / / / 4 / / / / / 1 ! / 1 1 1
EVMG32 3-3F6/7.5 111773 / 1 1 1 1 1T{1(1|/7]3 1 / / / 4 / / / / ! 1 ! / 1 1 1
EVMG32 3-0F6/11 111(1]3 / 1 1 1 1 1 11111113 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVMG32 4-3F6/11 2111|113 1 2 1 1 1 1111 1]4 1 4 4 3 4 4 / 4 3 / ! 1 1 1 1 /
EVMG32 4-0F6/15 2 (1147 1 2 1 1 1 1111 1]4 1 4 4 3 4 4 / 4 3 / ! 1 1 1 1 /
EVMG32 5-3F6/15 3(1|1]2]3 1 3 1 1 1 1111 1]5 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVMG32 5-2F6/15 3(1 1|32 1 3 1 1 1 11111115 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVMG32 5-0F6/18.5 31|15/ 1 3 1 1 1 1111 1]5 1 4 4 3 4 4 / 4 3 / ! 1 1 1 1 /
EVMG32 6-3F6/18.5 4111133 1 4 1 1 1 1111 1]6 1 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 /
EVMG32 6-0F6/22 411(1]6 / 1 4 1 1 1 11111116 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVMG32 7-3F6/22 5|11(1]4]3 1 5 1 1 1 11111117 1 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 /
EVMG32 7-2F6/22 5(111]|5]|2 1 5 1 1 1 11 (1 |1]7 1 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 !
EVMG32 7-0F6/30 511 (1]7 / 1 5 1 1 1 11111117 1 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVMG32 8-3F6/30 6(1|1]5]|3 1 6 1 1 1 1111 1]8 1 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVMG32 8-0F6/30 6 (1 |1]|8]/ 1 6 1 1 1 1111 1]8 / 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
EVMG32 9-3F6/30 7111|163 1 7 1 1 1 11111 1]9 / 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVMG32 9-0F6/30 7(1|11]9 / 1 7 1 1 1 1111 1]9 / 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVMG32 10-4F6/30 712|164 1 712 (2|2 |1|2|1]|1[10] / 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
BEARINGS
EVMG32
Pump Type g;

EVMG32 1-0F6/4.0 /

EVMG32 2-2F6/5.5 6310 ZZ C3

EVMG32 2-0F6/7.5 6310 ZZ C3

EVMG32 3-3F6/7.5 6310 ZZ C3

EVMG32 3-0F6/11 6313ZZ C3

EVMG32 4-3F6/11 63132Z C3

EVMG32 4-0F6/15 6313 ZZ C3

EVMG32 5-3F6/15 6313 ZZ C3

EVMG32 5-2F6/15 6313 ZZ C3

EVMG32 5-0F6/18.5 6313 ZZ C3

EVMG32 6-3F6/18.5 6313 ZZ C3

EVMG32 6-0F6/22 63152Z C3

EVMG32 7-3F6/22 63152Z C3

EVMG32 7-2F6/22 6315727 C3

EVMG32 7-0F6/30 6315 ZZDT C3*

EVMG32 8-3F6/30 6315 ZZDT C3*

EVMG32 8-0F6/30 6315 ZZDT C3*

EVMG32 9-3F6/30 6315 ZZDT C3*

EVMG32 9-0F6/30 6315 ZZDT C3*

EVMG32 10-4F6/30 6315 ZZDT C3*

337

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVM

VERTICAL MULTISTAGE PUMPS

04— 40
p H
[MPa] m
0.3 30
0.2 20
0.1 10
0- 0
7
P2
(kW]
3
80
n
%] 70
60
50

PERFORMANCE CURVE
EVM(L)45
0 USgpm 50 100 150 200 250 300 350
| L ' T ' T ' — 1 —
0 Impgpm. 50 100 150 200 250 300
T . L 120
\\%&5/%
N
N
—— _ — 100
- _ \\\
\\\ 7\7/ \
\{i fy - 80
N
\\\
AN L 60
NPSH | 49
[m] [ft]
8
NPSH — 20 20
// 4
I 10
0
0 200 400 600 800 1000 1200 Q [Vmin]
T T T T T T T T T
0 10 20 30 40 50 60 70 Q[m]
L
M >
S~
~—T
0 200 400 600 800 1000 1200 Q [Vmin]
—
1-0
A N
o 4\\
N
1-1=
|
0 200 400 600 800 1000 1200 Q [Vmin]
Rotation speed =3505 min-'
Test standard: ISO 9906:2012 - Grade 3B

[ff

338

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

0.8 —

[MPa]

0.6 —

0.4 —

0.2

[kw]

339

PERFORMANCE CURVE
EVM(L)45
0 USgpm. 50 100 150 200 250 300 350
| | l | | l | l
| T T T T T T
0 Impgpm. 50 100 150 200 250 300
y R - 250
T— 2.
O S B 0/75 kw H
T If
~ 2. |
g0 === - ™ 7/77k|/y — 200
\\Q/QW \\\ \\
N N\ L 150
\\ \\ N
40 N\
N N
N\
\‘ NpsH | 100
\ (m] [f]
20 8
]
— 6 20 50
NPSH L
— 4
T 10
2
0 0
0 200 400 600 800 1000 1200 Q [i/min]
| T T T T T T T T
0 10 20 30 40 50 60 70 Qmdn
14
2-0
T \\ ////”
22 - — -
\\//’_
6
0 200 400 600 800 1000 1200 Q [i/min]
80 |
—~ 2-0
— N SN
70 S
NG
21 N\
60 =S
22
50 |
0 200 400 600 800 1000 1200 Q [i/min]

Rotation speed =3520 min-'
Test standard: ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVM(L)45
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
I T T T T T T
0 Impgp.m. 50 100 150 200 250 300
129 0= ‘
P H = R 3.
[MPa] [m] T —_ Yz, 350 H
— —— 3 ~. ]
\\\\§\§\~\ — ~7/18*5k \\
— —— v N\ a0
0.9 - 90 — = S — 3~2/75 T \\ \
T T e~ kw
—_ 2o \\\
QW — 250
\\‘ \\\
N \\ ]
06— 60 ~ N 200
\\ \ NPSH
ft
\\ ml [ 50
8 —
. — 20 |-100
03 30 .y — — 6
L— // 4 -
I
,/// 2 — 10 |50
0 0 0
0 200 400 600 800 1000 1200 Q [Vmin]
T T T T T T T T T
0 10 20 30 40 50 60 70 Qmn]
20
P2 30 ——
(kW] " 31 < ]
32 L h———
3 — T
8
0 200 400 600 800 1000 1200 Q [Vmin]
80 |
n y
e — Ty \
(%] ~ N )
; \>\\>\\\\ 3}0
/ 32 7 \\\ 3-1
33 +— )
60 |
0 200 400 600 800 1000 1200 Q [Vmin]
Rotation speed #3520 min-*
Test standard: 1ISO 9906:2012 - Grade 3B
340

B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60Hz

VERTICAL MULTISTAGE PUMPS

EVM

0.8

0.4 —

P2
[kw]

(%]

341

PERFORMANCE CURVE
EVM(L)45
0 USgpm. 50 100 150 200 250 300 350
| | | | | I | |
T T T T T T T
0 Imp.g.pm. 50 100 150 200 250 300
160 =————
] T - 500
H I - \\\ 4. 0/30 H
m FP——a T~ &
T —_— e — 4‘7/ ft
— - —] \@‘,}W\\\\ [ft]
-~ _ - — 4. l
120 — \4\2'/2\2{ \\‘\ 400
N~
N
N \\
NGO N\ \\ - 300
N \\
80 \\
\\ NPsH | 200
[m] [f]
40 8
— 6 —— 20 [ 100
NPSH L
— 4
””/ 10
2
0 0
0 200 400 600 800 1000 1200 Q [Vmin]
T T T T T T T T T
0 10 20 30 40 50 60 70 Q[mn]
30
40
. p—
4-1 /’==
_ — I —
——
10
0 200 400 600 800 1000 1200 Q [imin]
80
——
RN Nl 40
70 - N
6 \ 4-2
43
50
0 200 400 600 800 1000 1200 Q [imin]

Rotation speed 3530 min-*
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVM(L)45
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
I T T T T T T
0 Imp.g.p.m. 50 100 150 200 250 300
209 200 =—""7
p H Tt T T 5.0, L 600
[MPa] mo . T T — — 5 7/37 kw H
=TT . i [t
—_ \\%’Ok\w NG
15 150 TIN50 1 SN N L 500
™\ \\
\\\\ \, - 400
OO\
104 100 AN
: N\
\\ 300
AN
N
NPSH | 9g0
(m] [fY]
05— 50
8
NPSH L — j 2 {100
_—-—"’ 9 10
0— 0 0
0 200 400 600 800 1000 1200 Q [Vfmin]
T T T T T T T T T
0 10 20 30 40 50 60 70 Q[mn]
35
P2 5-0
LU 5.1 0
R —
15
0 200 400 600 800 1000 1200 Q [lfmin]
80
n —_— 50
[%] |
70 yd NN
/ NN\ 5.2
5-3
60
0 200 400 600 800 1000 1200 Q [lfmin]
Rotation speed 3540 min-"!
Test standard: ISO 9906:2012 - Grade 3B
342

B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60Hz



60 Hz VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE
EVM(L)45
0 USgpm. 50 100 150 200 250 300 350
| ! ! ! ! ! ! !
| T | T T T T
0 Imp.g.p.m. 50 100 150 200 250 300
24— 240
P e e ——
MP. —~i D e 1 — =700 H
R J TS e e > < 0
—— Lz N
\%/37
18— 180 \L‘W\\\\ 600
Q\\ — 500
NN N\
NN
124 120 u\\\ — 400
NPSH
[m] [ft]
300
8 —
06 60 — — 6 ——20 |- 200
NPSH =
- // 4 —
I
L 2_— 10 100
0 0 0
0 200 400 600 800 1000 1200 Q Vimin]
| T T T T T T T T
0 10 20 30 40 50 60 70 amdn]
40
P2 6-1
[KW] " 6‘2 - //::
N —
6-3 — [N=—=
20
0 200 400 600 800 1000 1200 Q min]
80
§ = %\ 6-1
(%] Ve NN
70 v \‘§ 6-2
AN
N—" 6-3
60
0 200 400 600 800 1000 1200 Q Vimin]

Rotation speed 3530 min-"
Test standard: ISO 9906:2012 - Grade 3B

343
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVM(L)45

Dimensional sketch

Round flange (F) - DN80
c 1
B
i i
I I
® =
T O
B
N
L, .
A -
G3/8
N
I
N° 8 holes 18
G3/8
D § RN F
il ==
N 4hoesota] /|9 |20 2160
190 | 266
251 331
365
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
3~ Weight
H2 Weight  Pump +
kW  Size A Pump Motor
Pmax
Pump Type [MPa] B c H3
EVM(L)45 1-1F6/5.5 1.6 55| 132S | @300 | 225 160 328 | 546 56 94.6
EVM(L)45 1-0F6/7.5 1.6 75| 132S | 300 | 225 160 350 | 546 56 96.4
EVM(L)45 2-2F6/11 1.6 11 | 160M | 8350 | 248 194 476 | 749 58 120.5
EVM(L)45 2-1F6/11 1.6 1 | 160M | 8350 | 248 194 476 | 749 58 120.5
EVM(L)45 2-0F6/15 1.6 15 | 160 M | @350 | 317 238 498 | 749 58 146.9
EVM(L)45 3-3F6/15 1.6 15 | 160 M | @350 | 317 238 498 | 822 74 162.9
EVM(L)45 3-2F6/15 1.6 15 | 160 M | 9350 | 317 238 498 | 822 74 162.9
EVM(L)45 3-1F6/18.5 1.6 18.5| 160L | 350 | 317 238 542 822 74 178
EVM(L)45 3-0F6/22 1.6 22 | 180M | 2350 | 360 268 577 | 822 74 237
EVM(L)45 4-3F6/18.5 16 |185| 160L | 8350 | 317 238 542 | 894 77 181
EVM(L)45 4-2F6/22 1.6 22 | 180M | 2350 | 360 268 577 | 894 77 240
EVM(L)45 4-1F6/30 1.6 30 | 200L | 2400 | 399 300 658 | 909 77 305
EVM(L)45 4-0F6/30 16 30 | 200L | 2400 | 399 300 658 | 909 77 305
EVM(L)45 5-3F6/30 25 30 [ 200L | 2400 | 399 300 658 | 981 96 324
EVM(L)45 5-2F6/30 25 30 [ 200L | 2400 | 399 300 658 | 981 96 324
EVM(L)45 5-1F6/30 25 30 | 200L | 2400 | 399 300 658 | 981 96 324
EVM(L)45 5-0F6/37 25 37 | 200L | 2400 | 399 300 658 | 981 96 338
EVM(L)45 6-3F6/37 25 37 | 200L | 2400 | 399 300 658 | 1053 99 341
EVM(L)45 6-2F6/37 25 37 | 200L | 2400 | 399 300 658 | 1053 99 341
EVM(L)45 6-1F6/37 25 37 | 200L | 2400 | 399 300 658 | 1053 99 341

1.6 MPa=16 bar ; 2.5 MPa=25 bar

344

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

m

VM

VERTICAL MULTISTAGE PUMPS

SECTIONAL VIEW
EVM(L)45

)

%
o
TP\

[/

o /I

R
m/_\_\
)
| |
&
A
\
\

111-2 LLLL - 115-1
115-4 s'l\ ) S W 7
130-3—_ 7 \Q I . ; 54

47 \ﬁ%\ ¢ > 111

274-1 \j[: 43-1
435 —— 1L s

1201 ——— | \"ﬁ I 53
436 — ||

75-1 522 —— ||
2731 442 —
212-1 6—1

45
613 —__J

131-2 —/é__
|

| :

Pump with single ball bearing

345
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM

VERTICAL MULTISTAGE PUMPS

751
2731
21241

SECTIONAL VIEW
EVM(L)45

120-13 N 274-2
51 / !1 y A ) 4 150
G |
1 70-1
128-3 pW ., |
N | 56
120-8 ch
o \ NHE 140-1
~H DT,
140-2 \ T T —f 39-1
¢ f ] N -
131-1 ! !
i T L] 135-3
130-2 .
| ! 1205
1304 ! 1206
1 {‘ * '{ 120-4
1 1 =
130-1 — |
| |
120-3 \ llk e — | 073
111-3 __ -
1281 E‘E rl_ nl T 75
i ™~ 212
135-1 X — »
”5'5%— : — 115-1
130-3 i
s \T —7
27441 \][\: [ T \\ 111-1
435 \_ﬂ_% \\ 112
— N .
:z? — ] c =1 % 1115
T j — 115-4
44-1 \T\ — Ny \
o 1 N \ 431
—— \ 136-1
43-8
—~
432 — 1] | o1
12041 —— c
436 — || | |
1371 —|
48— 1—H 1T
T 1
31— =
g
437 7
52-2 —H

Pump with single ball bearing

346

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW
EVM(L)45
120-7
1354 2s2s
120-13 —/"T
51— N
N T\
128-3 I 1 :
N
120-8 N\ |
245 N \le
140-2 —
13141 g
130-2 .
130-4 |
111-4 .
130-1 |
1203 '.
|
1
L

o

]
]

I

e i o

L
- HL E
| | 5.4

435 T ~—_ N
433 i 3 i \\ 111-1
52-1 \HIH ) | \\ e

i M\\ 115
e iy 1154
43-4 a [t~

|/

48— —H 1T
31 o %E,l‘y ‘
43-7 \
75-1 520 —— 11111 N
273-1 440 —— =

% e 2
|

1]

Pump with double ball bearing
347

EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVM(L)45

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVM EVML
5-2 ntermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
6 Bottom casing EN. 1.4308 (ASTM CF8) EN. 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
1 Casing cover Cast Iron + EN 1.4301 (AISI 304) Cast Iron + EN 1.4404 (AISI 316L)
2 Suction cover EN. 1.1301 (AISI304) EN 1.4404 (AISI 316L)
Impeller
] Reduced impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Shaft EN 1.4404 (AISI 316L)
-1 Key Carbon Steel 12x8x90 UNI 6604
431 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (Al L)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4404 (Al L)
43-4 haft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (Al L)
43-5 haft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4404 (Al L)
43-6 haft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4404 (Al L)
43-7 haft sleeve EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43- haft sleeve (discharge-lower) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44- Shaft sleeve bearing Tungsten carbide
44-2 Bearing sleeve (bottom bearing) Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
48 mpeller nut A2-70 UNI 7323 with inox insert | A4-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
52-2 Bearing Tungsten carbide
5! Bush holder EN 1.4301 (AISI 304) | EN 1.4404 (AIS| 316L)
56 Ball bearing see table page 349
70-1 Ring for bearing EN 1.4301 (AISI 304)
70-2 Ring for bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
75 O-Ring (plug) EPDM FPM
75-1 O-Ring (plug) EPDM FPM
1 Bush PTFE
07 Liner ring PTFE /EN 1.4401 (AISI316)
1-1 lechanical Seal Silicon carbide / Carbon / FPM
1-2 lechanical seal cartridge EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
11-3 Mechanical seal seat EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
-4 Seal holder Brass OT 58 UNI 5705 EN 1.4404 (AISI 316L)
-5 Adjusting ring EN 1.4301 (AISI 304) EN 1.4401 (AIS| 316)
5-1 0O-Ring (outer casing) EPDI FPM 3240.66x5.34
5-4 0O-Ring (cartridge sleeve) EPDI FPM @24.99x3.53
5-5 0O-Ring (seal cover) EPDI FPM D44.04x3.53
120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1
0-2 Tie-rod EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
0-3 Screw A2-70 UNI 7323 M5x10 UNI 5931
0-4 Screw Galvanized steel 8.8 strenght class ISO 898/1 M10x25 UNI 5739
0-5 Screw for coupling Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931
120-6 Screw for coupling Exmig ; 6 Galvanized steel 8.8 strenght class ISO 898/1 ’msgf:g) BNI 2331
120-7 Screw Galvanized steel 8.8 strenght class ISO 898/1 M6X10 UNI 5739
120-8 Screw Mig ; 6 Galvanized steel 8.8 strenght class 1SO 898/1 mgigg B g;'«)g
EVML M5x8 UNI 5737
120-9 Screw EVM, EVMG EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) UNI5739
120-12 Screw EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M6x20 UNI 5931
EVM45 1-0, 1-1 M8x20 UNI 5739
120-13 Screw EVM45 6 Galvanized steel 8.8 strenght class ISO 898/1 M12x30 UNI 5739
EVML45 2 to 5-3 M6x10 UNI 5739
28- ut for tie rod Galvanized steel M16 UNI 55
28- ut Carbon Steel EN 1.4401 (AIS| 316) M5 UNI 55
| 128- ut Galvanized steel M16 UNI 55
129 Lock nut Carbon Steel M75x2
0- Set screw A2- 70 UNI 7323 6x8 UNI 5923
0-! Screw for coupling guard A2-70 UNI 7323 5X6 UNI 7687
0- Set screw EN 1.4301 (AISI 304) EN 1.4401 (AIS| 316) 6x6 UNI 5923
0-4 Set screw Carbon Steel 10x10 UNI 5923
1- Pin for shaft Carbon Steel
131-2 Elastic pin Galvanized steel 6x25 UNI 6873
5-1 Washer Galvanized steel 17x30x3 UNI 6592
5-3 Washer Galvanized steel 10.5x17.5x2.2 UNI 175
5-4 Washer Carbon Steel 6.4 UNI 175
5-5 Washer EN 1.4301 (AISI 304) EN 1.4401 (AIS| 316)
6 Bearing washer Carbon Steel
6-1 Stopper ring EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
37-1 Impeller spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
7-2 Shaft spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
40 Coupling Brass OT 58 UNI 5705
40-1 Motor coupling Carbon Steel
40-2 Coupling (pump side) Carbon Steel
50 Spacer Carbon Steel
160 Base Cast Iron EN-GJL-200 EN1561
6. Motor bracket Cast Iron EN-GJL-200 EN1561
Plug EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
45 Coupling guard EN 1.4301 (AISI 304)
73 Plug Washer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
2731 Plug Washer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
274-1 C-type snap ring EN 1.4301 (AISI 304) EN 1.4401 (AIS| 316) 226 UNI 7435
EVM45 1-0, 1-1 @50 UNI 7435
274-2 C-Typr snap ring EVM45 2 to Carbon Steel TC80 265 UNI 7435
EVM45 4-2 o75 UNI 7535
274-3 C-Typr snap ring Carbon Steel TC80 2110 UNI 7437
613 Flange Carbon Steel

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

QUANTITY FOR MODEL

EVM(L)45

Pump Type N
5-2|11| 21 |21-1|39-1|43-2|43-3| 434 | 44-1|52-1 | 53 | 56 |70-1| 81 | 107 [120-4|120-5(120-7|128-3| 129 [135-3|1354| 136 | 140 [140-1|140-2| 150 (274-2|274-3
EVM(L)45 1-1F6/5.5 1T/ 71 / / / / / LA I O B A / / / / / / / / 1 / / 1 1 1
EVM(L)45 1-0F6/7.5 17117 / / / / ! A I O I A / / / / / / ! ! 1 ! / 1 1 1
EVM(L)45 2-2F6/11 2 (17121 1 / / ! 21111224 4 3 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)45 2-1F6/11 2 (111 1 1 / / / 2111122 4 4 3 4 ! 4 3 ! ! 1 1 1 1 /
EVM(L)45 2-0F6/15 2 (12| / 1 1 / / / 21111 2]2 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 3-3F6/15 3 (17|31 2 / / ! I {31 13|34 4 3 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)45 3-2F6/15 31121 2 / / ! I {31133 4 4 3 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)45 3-1F6/18.5 3 (1121 1 2 / / / I {31 1[3]3 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 3-0F6/22 31113/ 1 2 / / / /1311133 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 4-3F6/18.5 411111311 2 1 1 1 1141|113 |4] 4 4 3 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)45 4-2F6/22 411121211 2 1 1 1 1141|1134 4 4 3 4 / 4 3 ! / 1 1 1 1 /
EVM(L)45 4-1F6/30 4 (113 |1 1 2 1 1 1 114111314 4 4 3 4 1 4 3 1 / 1 1 / / /
EVM(L)45 4-0F6/30 4 (1] 4|/ 1 2 1 1 1 1141|113 |4] 4 4 3 4 1 4 3 1 ! 1 1 / / /
EVM(L)45 5-3F6/30 5((1(2 3|1 3 1 1 1 1151|114 |5]| 4 4 3 4 1 4 3 1 ! 1 1 / / /
EVM(L)45 5-2F6/30 511321 3 1 1 1 1(65(1]1]|4]|5 4 4 3 4 1 4 3 1 / 1 1 / / /
EVM(L)45 5-1F6/30 5111411 1 3 1 1 1 1151|1145 4 4 3 4 1 4 3 1 / 1 1 / / /
EVM(L)45 5-0F6/37 515/ |1 3 1 1 1 1151|114 |5]| 4 4 3 4 1 4 3 1 ! 1 1 / / /
EVM(L)45 6-3F6/37 6 (13|31 4 1 1 1 1161|1156 4 4 3 4 1 4 3 1 / 1 1 / / /
EVM(L)45 6-2F6/37 6|1[4]2]1 4 1 1 1 116[(1|11]5]|6 4 4 3 4 1 4 3 1 / 1 1 / / /
EVM(L)45 6-1F6/37 6 (151 1 4 1 1 1 1161|156 4 4 3 4 1 4 3 1 ! 1 1 / / /
BEARINGS
EVM(L)45
Pump Type N®
56

EVM(L)45 1-1F6/5.5 6310 ZZ C3

EVM(L)45 1-0F6/7.5 6310 ZZ C3

EVM(L)45 2-2F6/11 6313 ZZ C3

EVM(L)45 2-1F6/11 6313 ZZ C3

EVM(L)45 2-0F6/15 6313ZZ C3

EVM(L)45 3-3F6/15 63132Z C3

EVM(L)45 3-2F6/15 6313 ZZ C3

EVM(L)45 3-1F6/18.5 6313 ZZ C3

EVM(L)45 3-0F6/22 6313 ZZ C3

6313 ZZ C3

EVM(L)45 4-2F6/22 6315277 C3

EVM(L)45 4-1F6/30

6315 ZZDT C3 *

EVM(L)45 4-0F6/30

6315 ZZDT C3 *

EVM(L)45 5-3F6/30 6315 ZZDT C3 *
EVM(L)45 5-2F6/30 6315 ZZDT C3 *
EVM(L)45 5-1F6/30 6315Z2ZDTC3 *
EVM(L)45 5-0F6/37 6315 ZZDT C3 *

EVM(L)45 6-3F6/37

6315 ZZDT C3 *

EVM(L)45 6-2F6/37

6315 ZZDT C3 *

)
)
)
)
)
)
)
)
)
EVM(L)45 4-3F6/18.5
)
)
)
)
)
)
)
)
)
)

EVM(L)45 6-1F6/37

6315 ZZDT C3 *

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

349

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



VERTICAL MULTISTAGE PUMPS

0.4 — 40

[MPa]

(m]

0.3

30

0.2+ 20

0.1+ 10

P2
[kw]

3

80
n
[%] 70

60

50

PERFORMANCE CURVE
EVMG45
0 USgpm. 50 100 150 200 250 300 350
| L ' T ' T ' — II L
0 Imp.g.p.m. 50 100 150 200 250 300
T — ; L 120
P~ 7~
\O(iskw
\\
—— | N\ L 100
- | \\\
\\\ 7\7/ \
\{{ fuy N\ - 80
N
\\\
AN - 60
NPSH | 49
[m] [ft]
8
NPSH L — 4 2 20
0
0 200 400 600 800 1000 1200 Q [imin]
T T T T T T T T T
0 10 20 30 40 50 60 70 Qmn]
14 S~—""
S~
~—T
0 200 400 600 800 1000 1200 Q [imin]
— 10
A ~.
o \\\
1-1 ’/\\
|
0 200 400 600 800 1000 1200 Q [imin]
Rotation speed =3505 min-'
Test standard: ISO 9906:2012 - Grade 3B

[f]

350

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

PERFORMANCE CURVE
EVMG45
0 USgpm. 50 100 150 200 250 300 350
| I I I I I | I
I T T T T T T
0 Impgp.m. 50 100 150 200 250 300
0.8 — 80 =——"
’ I e - 250
p \\ 2.
MPa] m = —a— ~<Ys,, H
T — If]
~ 2. |
06 60 f———=-= ] ~Tl114, - 200
— e~ — 2 | NG \\
\\Q/QW \\\ \\
\\\ N \\ L 150
04 40 \x\ \‘1
N\
\ NPsH [ 100
[m] [ft]
02 20 8
] 6— 20 50
NPSH L
== 4
T )
2
0- 0 0
0 200 400 600 800 1000 1200 Q [imin]
T T T T T T T T T
0 10 20 30 40 50 60 70 Qmdn]
14
P2 2-0
[kw] ‘ //’/
10 2-1 —
‘ \\ - /”,
22 - — -
\\//’_
6
0 200 400 600 800 1000 1200 Q [fmin]
80 |
n — \:\ 2-0
[% 70
N
2-1 N
AN
60
D
2-2
50 ‘
0 200 400 600 800 1000 1200 Q [Vmin]
Rotation speed =3520 min-'
Test standard: 1ISO 9906:2012 - Grade 3B
351

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMG45
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
I T T T T T T
0 Impgp.m. 50 100 150 200 250 300
129 10 = ‘
p H 1 T .
[MPa] m] T T — — % ki 35 H
- —— | [ i
- — ] S~ 7/185k \
— e N L 300
0.9 90 ——— 2 NS AN
—— 2 TN N
~53 I
54, N L 250
NG N
0.6 60 \\ N - 200
\\ \ NPSH
N\ [m] [ft]
- 150
8 —
- — 20 |-100
03 30 — — 6
NPSH | 1 N
I
,/// 2 =10 {50
0— 0 0
0 200 400 600 800 1000 1200 Q [Vmin]
T T T T T T T T T
0 10 20 30 40 50 60 70 a[m]
20
\
P2 30 ——
[kw] 1 3-1 < l// ]
3_2 - \\‘// ”’
3'3 \\\‘/”—_
. \
0 200 400 600 800 1000 1200 Q [V/min]
80 |
*' P
[%] T~ N
0 \\\x‘\\\\ 310
/ 32 N \\\ 3-1
N
33 4—
60 ‘
0 200 400 600 800 1000 1200 Q [V/min]
Rotation speed =3520 min-'
Test standard: ISO 9906:2012 - Grade 3B
352

B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 1 EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMG45
0 USgpm. 50 100 150 200 250 300 350
| L ' T ' T ' — 1 L
0 Impgpm. 50 100 150 200 250 300
16 160 =
y ] T - 500
p T — i T — 4.
[MPa] m [~ T \\\\9@0 &y H
— [T \\ﬁ% ~ {
124 120 N~ \;\2(%%“/\\ \\\\ L 400
——}
\/78\% v \\
™ NG\
N N\ \\ 300
N N \\
08— 80 \\
npsH [ 200
(m] [ft]
04— 40 8
6—20 |- 100
NPSH __—
- 4
””/ 10
2
0- 0 0
0 200 400 600 800 1000 1200 Q imin]
| T T T T T T T T
0 10 20 30 40 50 60 70 Q[m]
30
P2 4-0
K 41 B
pm—
P
10
0 200 400 600 800 1000 1200 Q [limin]
80
n —— :
(% 70 ~ RN - 49
~ NN 41
NN 42
60
N— 43
50
0 200 400 600 800 1000 1200 Q [limin]

Rotation speed 3530 min-"
Test standard: ISO 9906:2012 - Grade 3B

353
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMG45
0 USgpm. 50 100 150 200 250 300 350
| l l l l l | l
I T T T T T T
0 Impgpm. 50 100 150 200 250 300
209 200 =—T—
p HoL T t—— | H—1 50y — 600
[MPa] mo| T Tt — — 5 7/37 Ky H
S e Ty
w
15 150 B — 5~%\ ~ N\ - %0
\\ \‘\\ \
\\ \\
N\ \
\\\\ \ 400
VW
10 100 NN\
N
\\ - 300
AN
N
NPSH | 900
ft
05 5 (m] [ft]
8
NPSH L — j 2 {100
. , 10
0 0 0
0 200 400 600 800 1000 1200 Q [imin]
T T T T T T T T T
0 10 20 30 40 50 60 70 Qmdn)
35
P2 50 —
WAL g 5-1 —
R —
15
0 200 400 600 800 1000 1200 Q [ifmin]
80
[%] !
70 s NN\
/ NN\ 5-2
5-3
60
0 200 400 600 800 1000 1200 Q [ifmin]
Rotation speed 3540 min-*
Test standard: ISO 9906:2012 - Grade 3B
354

B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60Hz



60 Hz VERTICAL MULTISTAGE PUMPS EVM

PERFORMANCE CURVE
EVMG45
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
I T T T T T T
0 Impgpm. 50 100 150 200 250 300
244 240
; il et = S ==
MP: —~— T — 700 H
el [m] TT—— ﬁl\\\\%w\ it
\\ ‘2/ 37 Kkl
~L3 >
18— 180 \iw\\\\ — 600
\\\>\\
Q \ - 500
N N\
\\\\‘\
124 120 ‘\\\ — 400
NPSH
[m] [f]
- 300
8 —
06- 60 — — 620 [-200
NPSH —
// 4
—
—] 10 |- 100
——’// 2 —
0 0 0
0 200 400 600 800 1000 1200 Q [Vmin]
T T T T T T T T T
0 10 20 30 40 50 60 70 Qmn]
40
P2 6-1
/’
[kw] " 6‘2 _—
g —
Y 4555/”
63 — | N\=—=
20
0 200 400 600 800 1000 1200 Q [Vmin]
80
" \=S\ 6-1
[%] \\
70 /’/ N N 6-2
N
N\ 63
N—""
60
0 200 400 600 800 1000 1200 Q [Vmin]

Rotation speed 3530 min-"
Test standard: ISO 9906:2012 - Grade 3B

355
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




VERTICAL MULTISTAGE PUMPS

Dimensional sketch

TECHNICAL DATA

EVMG45

Round flange (F) - DN80

Dimensions [mm] and Weights [Kg]

I I
I I
® =
T Q
E
N
L. .
A
| G3/8
N
T
N° 8 holes 218
i S; G38
- SRRl O
g o5 AN
N aholesota] |2 |20 5160
| 190 | 266
251 331
365
Motor Round flange (F)
3~ Weight
H2 Weight Pump +
kW  Size A Pump Motor
Pmax
Pump Type [MPa] B C H3
EVMG45 1-1F6/5.5 1.6 5.5 | 1328 | 9300 | 225 160 328 546 56 94.6
EVMG45 1-0F6/7.5 1.6 75| 132S | 300 | 225 160 350 | 546 56 96.4
EVMG45 2-2F6/11 1.6 11 | 160 M | 2350 | 248 194 476 | 749 58 120.5
EVMG45 2-1F6/11 1.6 11 160 M | 2350 | 248 194 476 749 58 120.5
EVMG45 2-0F6/15 1.6 15 | 160 M | @350 | 317 238 498 | 749 58 146.9
EVMG45 3-3F6/15 1.6 15 | 160 M | @350 | 317 238 498 | 822 74 162.9
EVMG45 3-2F6/15 1.6 15 | 160 M | @350 | 317 238 498 | 822 74 162.9
EVMG45 3-1F6/18.5 1.6 18.5| 160L | @350 [ 317 238 542 822 74 178
EVMG45 3-0F6/22 1.6 22 | 180 M | 2350 | 360 268 577 | 822 74 237
EVMG45 4-3F6/18.5 1.6 18.5| 160L | 350 | 317 238 542 894 77 181
EVMG45 4-2F6/22 1.6 22 | 180M | @350 | 360 268 577 894 77 240
EVMG45 4-1F6/30 1.6 30 [ 200L | 2400 | 399 300 658 | 909 7 305
EVMG45 4-0F6/30 1.6 30 | 200L | 2400 | 399 300 658 | 909 7 305
EVMG45 5-3F6/30 2.5 30 200L | @400 [ 399 300 658 981 96 324
EVMG45 5-2F6/30 25 30 [ 200L | 2400 | 399 300 658 | 981 96 324
EVMG45 5-1F6/30 25 30 [ 200L | 2400 | 399 300 658 | 981 96 324
EVMG45 5-0F6/37 25 37 200L | 2400 | 399 300 658 981 96 338
EVMG45 6-3F6/37 25 37 | 200L | 2400 | 399 300 658 | 1053 99 341
EVMG45 6-2F6/37 25 37 | 200L | 2400 | 399 300 658 | 1053 99 341
EVMG45 6-1F6/37 25 37 | 200L | 2400 | 399 300 658 | 1053 99 341

1.6 MPa=16 bar ; 2.5 MPa=25 bar

356

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz VERTICAL MULTISTAGE PUMPS EVM
SECTIONAL VIEW
EVMG45
274-2
150
274-3
056
120-13
120-8
140
/ 051
131-1
/ 120-6
130-4
162

j %
i
\\r
O O
- B~ W
T o
w N

111-4 .
130-1
120-3
115-5
128-1

I
|
| A o
135-1\ L * & !
\ , N i % ;
111-5 . .
™~

7

111-2
154 —__ T

130-3

o —
2741 — |
043-56 — |
120-1
043-6

[ /T

EEf
Ji:lll
\

1
‘\

/

—

137-1 —
048 — 33— | [
031 —— e

075-1 043-7 - S
273-1 052-2 —— 71 J/?/ f“\
212-1 044-2 =as " Y

e 006 ——1 \ 7 S

045 ——
613

j\,
»
%f'

]
i
T
1
I
I
| 7]

—

Pump with single ball bearing

357
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM VERTICAL MULTISTAGE PUMPS 60 Hz
SECTIONAL VIEW
EVMG45
1207 274-2
N 150

FeH
I 70-1
120-13 T

Lty :
| ! 140-1
128-3 B \\1| |
120-8 L_qn,;
I\AH-{\/
245 \
140-2 \ 0T -
(¢ = = \ 162
131-1 , ; 21
1 I -
130-2 . oy T ]
. ] 135-3
130-4 i ! 120-5
e % | -
1 ‘ A | 1206
130-1 | % |
20 I". huw . | 120-4
111-3 ~ a7
F":T 7 75
128-1 —
i T~ — 212
135-1 i roumN Gy (U= S O/ — ]
115-5 l[ I "

’ L — 1151
130-3 — | -

47 —\LI-\ g 3

2741 im L o4

T 1 \

yr_ I IL 111-1
435 — [ | | =t - \ s
43-3 | M — ~— ﬁ.' \ _
T i 1112

52-1 —\"T‘ i .

. i q
——iy 1 - |
434 —\)‘IJL L

L‘\\l

S = §
75-1 52-2 —— 1
-

2731 44-2 — T \\\
~+:
212-1 66— | /i )

—
I—

Pump with single ball bearing

358
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

——

359

2731
75-1
212-1

SECTIONAL VIEW

120-7

EVMG45

135-4 m——
120-13

o

51
128-3
120-8 2

L

71

/O
A

e

140-2
131-1
130-2
130-4
111-4
130-1
120-3
111-3
128-1
135-1

L
£
*
X

v

A

115-5
130-3

1 .#44

)

2741
43-5

IS
@
w

W

L

52-1
441
434

32— |
1200 ——
36— |
1374 — |

48— 1

31

[[]

|

[ ]

D Ry p—
i
[ 1
]

—1
.|

L]/
/

[/

43-7
52-2

|
L

N\
\
/

=717 ]

T/ L

440 —

Pump with double ball bearing

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMG45

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMG
5-2 ntermediate Casing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL 250 EN 1561
7 Outer casing EN 1.4301 (AISI 304)
11 Casing cover Cast Iron EN GJL 250 EN 1561
12 Suction cover EN. 1.1301 (AISI304)
Impeller
] Reduced impeller EN 1.4301 (AISI 304)
Shaft EN 1.4404 (AISI 316L)
-1 Key Carbon Steel 12x8x90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 haft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 aft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 haft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 haft sleeve (last stage) EN 1.4301 (AISI 304)
43-6 haft sleeve (adjustment) EN 1.4301 (AISI 304)
43-7 haft sleeve EN 1.4301 (AISI 304)
43-8 haft sleeve (discharge-lower) EN 1.4301 (AISI 304)
44-1 haft sleeve bearing Tungsten carbide
44-2 Bearing sleeve (bottom bearing) Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304)
48 mpeller nut A2-70 UNI 7323 with inox insert M16
51 otor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
52-2 Bearing Tungsten carbide
53 Bush holder EN 1.4301 (AISI 304)
56 Ball bearing see table page 357
70-1 Ring for bearing EN 1.4301 (AISI 304)
70-2 Ring for bearing EN 1.4301 (AISI 304)
75 O-Ring (plug) EPDM
75-1 O-Ring (plug) EPDM
81 Bush PTFE
07 Liner rin PTFE /EN 1.4401 (AISI316)
- lechanical Seal Silicon carbide / Carbon / FPM
-2 lechanical seal cartridge EN 1.4301 (AISI 304)
- lechanical seal seat EN 1.4301 (AIS| 304)
111-4 Seal holder Brass OT 58 UNI 5705
1-5 Adjusting ring EN 1.4301 (AISI 304)
5-1 0O-Ring (outer casing) EPDI 3240.66x5.34
5-4 0O-Ring (cartridge sleeve) EPD! @24.99x3.53
5-5 O-Ring (seal cover) EPD! D44.04x3.53
0-1 Tie-rod Galvanized steel 6.8 strenght class 1ISO 898/1
120-2 ie-rod EN 1.4301 (AISI 304)
0-3 crew A2-70 UNI 7323 M5x10 UNI 5931
0-4 crew Galvanized steel 8.8 strenght class ISO 898/1 M10x25 UNI 5739
0-5 Screw for coupling Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 59:
120-6 Screw for coupling Exmjg ; ©6 Galvanized steel 8.8 strenght class ISO 898/1 l\’}l/l182xx2300 3 gg
120-7 Screw Galvanized steel 8.8 strenght class 1ISO 898/1 M6X10 UNI 5739
120-8 Screw Exmjg ; ©6 Galvanized steel 8.8 strenght class ISO 898/1 mlggg SNI g;gg
EVML M5x8 UNI 5737
120-9 Screw EVM, EVMG EN 1.4301 (AISI 304) UNI 5739
120-12 Screw EN 1.4301 (AISI 304) M6x20 UNI 5931
EVM45 1-0, 1-1 M8x20 UNI 5739
120-13 Screw EVM45 6 Galvanized steel 8.8 strenght class ISO 898/1 M12x30 UNI 5739
EVML45 2 to 5-3 M6x10 UNI 5739
- ut for tie rod Galvanized steel M16 UNI 5588
- ut Carbon Steel M5 UNI 5588
- ut Galvanized steel M16 UNI 5588
| 129 Lock nut Carbon Steel M75x2
130-1 et screw A2- 70 UNI 7323 M6x8 UNI 5923
0-2 crew for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
0-: et screw A2- 70 UNI 7323 M6x6 UNI 5923
0-4 Set screw Carbon Steel M10x10 UNI 5923
1- Pin for shaft Carbon Steel
5- Washer Galvanized steel 17x30x3 UNI 6592
135-3 Washer Galvanized steel 10.5x17.5x2.2 UNI 1751
5-4 Washer Carbon Steel 6.4 UNI 1751
-5 Washer EN 1.4301 (AISI 304)
Bearing washer Carbon Steel
- Stopper ring EN 1.4301 (AISI 304)
- Impeller spacer EN 1.4301 (AISI 304)
7-2 Shaft spacer EN 1.4301 (AISI 304)
140 Coupling Brass OT 58 UNI 5705
40-1 Motor coupling Carbon Steel
40-2 Coupling (pump side) Carbon Steel
50 Spacer Carbon Steel
162 Motor bracket Cast Iron EN-GJL-200 EN1561
212 Plug EN 1.4301 (AISI 304)
2121 Plug EN 1.4301 (AISI 304)
4 Coupling guard EN 1.4301 (Al 04)
7 Plug Washer EN 1.4301 (Al 04)
73-1 Plug Washer EN 1.4301 (AISI 304)
74-1 C-type snap ring EN 1.4301 (AISI 304) 226 UNI 7435
EVM45 1-0, 1-1 250 UNI 7435
274-2 C-type snap ring EVM45 2 to 4-3 Carbon Steel TC80 265 UNI 7435
EVMLA45 4-2 Q75 UNI 7535
274-3 C-type snap ring Carbon Steel TC80 2110 UNI 7437
613 Flange Carbon Steel

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

QUANTITY FOR MODEL

EVMG45

361

o
Pump Type N
5-2|11| 21 |21-1|39-1|43-2|43-3| 434 | 44-1|52-1 | 53 | 56 |70-1| 81 | 107 [120-4|120-5(120-7|128-3| 129 [135-3|1354| 136 | 140 [140-1|140-2| 150 (274-2|274-3
EVMG45 1-1F6/5.5 1T/ 71 / / / / / LA I O B A / / / / / / / / 1 / / 1 1 1
EVMG45 1-0F6/7.5 17117 / / / / ! A I O I A / / / / / / ! ! 1 ! / 1 1 1
EVMG45 2-2F6/11 2 (17121 1 / / ! 21111224 4 3 4 / 4 3 ! ! 1 1 1 1 /
EVMG45 2-1F6/11 2 (111 1 1 / / / 2111122 4 4 3 4 ! 4 3 ! ! 1 1 1 1 /
EVMG45 2-0F6/15 2 (12| / 1 1 / / / 21111 2]2 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG45 3-3F6/15 3 (17|31 2 / / ! I {31 13|34 4 3 4 / 4 3 ! ! 1 1 1 1 /
EVMG45 3-2F6/15 31121 2 / / ! I {31133 4 4 3 4 / 4 3 ! ! 1 1 1 1 /
EVMG45 3-1F6/18.5 3 (1121 1 2 / / / I {31 1[3]3 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG45 3-0F6/22 31113/ 1 2 / / / /1311133 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG45 4-3F6/18.5 411111311 2 1 1 1 1141|113 |4] 4 4 3 4 / 4 3 ! ! 1 1 1 1 /
EVMG45 4-2F6/22 411121211 2 1 1 1 1141|1134 4 4 3 4 / 4 3 ! / 1 1 1 1 /
EVMG45 4-1F6/30 4 (113 |1 1 2 1 1 1 114111314 4 4 3 4 1 4 3 1 / 1 1 / / /
EVMG45 4-0F6/30 4 (1] 4|/ 1 2 1 1 1 1141|113 |4] 4 4 3 4 1 4 3 1 ! 1 1 / / /
EVMG45 5-3F6/30 5((1(2 3|1 3 1 1 1 1151|114 |5]| 4 4 3 4 1 4 3 1 ! 1 1 / / /
EVMG45 5-2F6/30 511321 3 1 1 1 1(65(1]1]|4]|5 4 4 3 4 1 4 3 1 / 1 1 / / /
EVMG45 5-1F6/30 5(1(4 |1 1 3 1 1 1 1151|1145 4 4 3 4 1 4 3 1 / 1 1 / / /
EVMG45 5-0F6/37 515/ |1 3 1 1 1 1151|114 |5]| 4 4 3 4 1 4 3 1 ! 1 1 / / /
EVMG45 6-3F6/37 6 (13|31 4 1 1 1 1161|1156 4 4 3 4 1 4 3 1 / 1 1 / / /
EVMG45 6-2F6/37 6|1[4]2]1 4 1 1 1 116[(1|11]5]|6 4 4 3 4 1 4 3 1 / 1 1 / / /
EVMG45 6-1F6/37 6 (151 1 4 1 1 1 1161|156 4 4 3 4 1 4 3 1 ! 1 1 / / /
BEARINGS
EVMG45
N°
Pump Type 56

EVMG45 1-1F6/5.5 6310 ZZ C3

EVMG45 1-0F6/7.5 6310 ZZ C3

EVMG45 2-2F6/11 6313 ZZ C3

EVMG45 2-1F6/11 6313 ZZ C3

EVMGA45 2-0F6/15 6313 ZZ C3

EVMG45 3-3F6/15 6313 2Z C3

EVMG45 3-2F6/15 6313 ZZ C3

EVMG45 3-1F6/18.5 6313 ZZ C3

EVMG45 3-0F6/22 6313 ZZ C3

EVMG45 4-3F6/18.5 6313 ZZ C3

EVMGA45 4-2F6/22 63152722 C3

EVMG45 4-1F6/30

6315 2ZDT C3 *

EVMG45 4-0F6/30

6315 ZZDT C3 *

EVMG45 5-3F6/30 6315 ZZDT C3 *
EVMG45 5-2F6/30 6315 ZZDT C3 *
EVMGA45 5-1F6/30 6315Z2ZDT C3 *
EVMGA45 5-0F6/37 6315 Z2ZDT C3 *

EVMG45 6-3F6/37

6315 ZZDT C3 *

EVMG45 6-2F6/37

6315 ZZDT C3 *

EVMG45 6-1F6/37

6315 ZZDT C3 *

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz
EVM VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVM(L)64
0 USgpm. 100 200 300 400 500
| | | | | |
I T T T T
0 Impg.p.m. 100 200 300 400
05— 50
160
p H
[MPa] ml H
F—— — 140
04 — 40 = — T
—— 7~0/,,kW — 120
e - 1 \\
0.3 30 — S — 100
~~_’- 1/ N
\7'5k
el \\
\\ \ 80
N\
02— 20
N - 60
NPSH
[m] [ft
40
0.1 10 e 104
NPSH - // 5 20 20
__— 10
0- 0 0
0 500 1000 1500 Q [Imin]
T T T T T T 1
0 20 40 60 80 100 Qmdh]
10
P2 "
[kW] 6 1\-0 \\«———"‘—______—
1 —
2
0 500 1000 1500 Q [I/min]
80
n — ~—
[%] 70 = 1-0
P
60 ,/ —N N
141
50
0 500 1000 1500 Q [Imin]
Rotation speed =3520 min-'
Test standard: ISO 9906:2012 - Grade 3B
362

B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

0.6

0.4 —

0.2

P2
[kw]

%]

363

100

[m]

80

60

40

20

20

14

80

70

60

50

PERFORMANCE CURVE
EVM(L)64
0 USgpm. 100 200 300 400 500
| ! ! ! ! !
| | | | |
0 Impg.pm. 100 200 300 400
— 300
H
T — [ft]
- — —— B
— —1 —— 2_0/22 w 250
- - |
—_ —4 \\2~1/18-5kw \
— - 2\[\\\ - 200
\\2/75 Ky \\\\
\\ \ — 150
NPSH | 400
(m] [ft)
— 10
- 50
NPSH o ta
/7
e 10
0
0 500 1000 1500 Q [V/min]
| T T T T | |
0 20 40 60 80 100 Q[mn]
|
2-0 -~
\ —
22— —
‘ "
0 500 1000 1500 Q i/min]
[ ————
//k NN N 2:0
7. SRS
- 241
2 22 AN
0 500 1000 1500 Q [i/min]

Rotation speed #3530 min-*
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE
EVM(L)64
0 USgpm. 100 200 300 400 500
| | | | | |
I T T T T
0  Impg.p.m. 100 200 300 400
16— 160
- 500
p H
[MPa] [m] H
[ft]
124 120 T=— — 400
B T ——
] —_ — \\&0/30 Ky
Sl e S ey T
I s 3~i/ D | S \\\ - 300
——- ). ‘\ N
~—122 Ky
08— 80 \\\\\‘
\\\\
\\\\t NpsH [ 200
[m] [ft]
N
04— 40 10
30
— 100
NPSH _— s %
/’
L — 10
p—
0- 0 0
0 500 1000 1500 Q [imin]
T T T T T T 1
0 20 40 60 80 100 Qmdn)
30 T
P2 3;'0 —
[kw] 20 3-1 e
39 |
T
33— |
10 :
0 500 1000 1500 Q [imin]
85
n %\ ‘
(%] 75 \\\‘ - 30
R 21
65 / ) \\
Z 3-3 N\ 32
N
55
0 500 1000 1500 Q [imin]
Rotation speed #3540 min-"!
Test standard: 1ISO 9906:2012 - Grade 3B
364

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

2.0 200

[MPa] [m]

0.5 50

40

P2

kW]
[]30

20
85
[%] 75
65

55

365

PERFORMANCE CURVE
EVM(L)64
0 USgpm. 100 200 300 400 500
| | | | |
I T T T T
0 Impgpm. 100 200 300 400
- 600
L ‘: — - 500
—— \\\\\ — 4~1/37
—_— — kly
B — \&/37 Ky —
~—~—3/3 o N L 400
\ \
\\\\
\\\\\\\
\\\\\ 300
AN
\\
NPSH | 500
[m] [f]
104
100
NPSH -~ I
L 10
0
0 500 1000 1500 Q [Umin]
T T T T T T 1
0 20 40 60 80 100 Q[m]
41
42 —
4 ——
| \\2//,
0 500 1000 1500 Q [imin]
— §\\ 41
\ \ 4_2
AN
N 43
N~
0 500 1000 1500 Q [Umin]

Rotation speed 3540 min-"
Test standard: ISO 9906:2012 - Grade 3B

Ift

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



60 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVM(L)64

Dimensional sketch

Round flange (F) - DN100

c 1
B
T I
I I
| =
T O
9
N
L, -
A -
S—21 G3/8
N
I
N° 8 holes 218
D< 1’& G3/8
o ti
g s
N° 4 holes 214 2180
190 | 266
251 331
365
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
3~ Weight
H2 Weight  Pump +
kW  Size A Pump Motor
Pmax
Pump Type [MPa] B c H3
EVM(L)64 1-1F6/7.5 1.6 7.5 | 1328 | @300 | 225 160 350 546 70 110.4
EVM(L)64 1-0F6/11 1.6 11 | 160 M | 2350 | 248 194 476 | 677 7 139.5
EVM(L)64 2-2F6/15 1.6 15 | 160 M | @350 | 317 238 498 | 749 81 169.9
EVM(L)64 2-1F6/18.5 1.6 18.5| 160L | @350 | 317 238 542 749 94 198
EVM(L)64 2-0F6/22 1.6 22 | 180M | 2350 | 360 268 577 | 749 94 257
EVM(L)64 3-3F6/22 1.6 22 | 180M | 2350 | 360 268 577 | 821 99 262
EVM(L)64 3-2F6/30 1.6 30 [ 200L | 2400 | 399 300 658 | 837 99 327
EVM(L)64 3-1F6/30 1.6 30 | 200L | 2400 | 399 300 658 | 837 99 327
EVM(L)64 3-0F6/30 1.6 30 | 200L | 2400 | 399 300 658 | 837 99 327
EVM(L)64 4-3F6/30 1.6 30 | 200L | 2400 | 399 300 658 909 108 336
EVM(L)64 4-2F6/37 1.6 37 | 200L | 2400 | 399 300 658 | 909 108 350
EVM(L)64 4-1F6/37 1.6 37 | 200L | 2400 | 399 300 658 | 909 108 350

1.6 MPa=16 bar

366

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW
EVM(L)64

Pump with single ball bearing

367
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM

VERTICAL MULTISTAGE PUMPS

SECTIONAL VIEW
EVM(L)64

274-2

150

70-1

——

—
=1

gh

i

A\ AV W A4 | A W
AN Y A |

]
1]

Pump with single ball bearing

368

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

369

SECTIONAL VIEW
EVM(L)64

136

~———

e s
/// _ P
1

!
{

_'
" )
\

T
N

Hirfh

e —— == ]

/

-

129
70-1
56
140-1
162
39-1

Pump with double ball bearing

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVM(L)64

MATERIAL
N° PART NAME DIMENSIONS STANDARD
EVM EVML
5-2 ntermediate Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
5-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
6 Bottom casing EN. 1.4308 (ASTM CF8) EN. 1.4408 (ASTM CF8M)
7 Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
1 Casing cover Cast iron + EN 1.4301 (AISI 304) Cast iron + EN 1.4404 (AISI 316L)
2 Suction cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Impeller
K] Reduced impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Shaft EN 1.4404 (AISI 316L)
-1 Key Carbon steel 12X8X90 UNI 6604
43-1 haft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-2 haft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4404 (AIS| L)
43-3 haft sleeve (bearing) EN 1.4301 (Al 04) EN 1.4404 (AIS L)
43-4 haft sleeve (adjustment) EN 1.4301 (Al 04) EN 1.4404 (Al L)
43-5 haft sleeve (last stage) EN 1.4301 (Al 04) EN 1.4404 (Al L)
43-6 haft sleeve (adjustment) EN 1.4301 (Al 04) EN 1.4404 (AISI 316L)
43-7 haft sleeve EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
43-8 haft sleeve (discharge-lower) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
44-1 Shaft sleeve bearing Tungsten carbide
44-2 Bearing sleeve (bottom bearing) Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
48 mpeller nut A2-70 UNI 7323 with inox insert | A4-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
52-2 Bearing Tungsten carbide
5! Bush holder EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
56 Ball bearing see table page 371
70-1 Ring for bearing EN 1.4301 (AISI 304)
70-2 Ring for bearing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
75 O-Ring (plug) EPDM FPM
75-1 O-Ring (plug) EPDM FPM
81 Bush PTFE
07 Liner ring PTFE / EN 1.4401 (AISI 316)
11-1 echanical Seal Silicon carbide / Carbon /FPM
11-2 echanical seal cartridge EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
-3 Mechanical seal seat EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
-4 Seal holder Brass OT 58 UNI 5705 EN 1.4404 (AISI 316L)
-5 Adjusting ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
5-1 0O-Ring (outer casing) EPD! FPi 3240,66X5,34
5-4 0O-Ring (cartridge sleeve) EPD! FPi 224,99X3,53
5-5 0O-Ring (seal cover) EPD FPI D44,04X3,53
120-1 Tie-rod Galvanized steel 6.8 Strenght class 1ISO 898/1
0-2 ie-rod EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
0-3 crew A2-70 UNI 7323 M5X10 UNI 5931
0-4 crew Galvanized steel 8.8 Strenght class 1ISO 898/1 M10X25 UNI 5739
0-5 crew for coupling Galvanized steel 8.8 Strenght class 1ISO 898/1 M10X30 UNI 5739
120-6 Screw for coupling —Exmg: 1:(1) and higher Galvanized steel 8.8 Strenght class 1ISO 898/1 ’\’\:12))((23% BNI 2231
120-7 Screw Galvanized steel M 6X10 UNI 5739
120-8 Screw gj ]:(1) lo4:3 Galvanized steel 8.8 Strenght class ISO 898/1 mgi g 3 g;gg
L M5X: UNI 5737
120-9 Screw EVM, EVMG EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) MEX UNI5739
120-12 Screw EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M 6X20 UNI 5931
EVM 64 1-1 M12X30 UNI 5739
120-13 Screw EVM 64 4-1, 4-2 Galvanized steel 8.8 Strenght class ISO 898/1 M16X55 UNI 5737
EVM 64 1-0 to 4-3 M16X65 UNI 5739
28- ut for tie rod Galvanized steel M16 UNI 5588
28-2 ut Carbon steel EN 1.4401 (AISI 316) M5 UNI 5588
| 128- ut Galvanized steel M16 UNI 5588
129 ock nut Carbon steel
30- et screw A2-70 UNI 7323 MBX: UNI 5923
30-; crew for coupling guard A2-70 UNI 7323 5X UNI 7687
0-. et screw EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 6X UNI 5923
0-4 et screw Galvanized steel 10X10 UNI 5923
1- Pin for shaft Carbon steel
131-2 Elastic pin Galvanized steel 6X25 UNI 6873
5-1 Washer Galvanized steel 17x30x3 UNI 6592
5-3 Washer Galvanized steel 10,5X17,5X2,2 UNI 175
5-4 Washer Plated carbon steel 6,4 UNI 175
5-5 Washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 26
6 Bearing washer Carbon steel
6-1 Stopper ring EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
37-1 Impeller spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
37-2 Shaft spacer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
40 Coupling Brass OT 58 UNI 5705
40-1 Motor coupling Carbon steel
40-2 Coupling (pump side) Carbon steel
50 Spacer Carbon steel
160 Base Cast iron EN-GJL-200 EN 1561
6. Motor bracket Cast iron EN-GJL-200-EN 1561
Plug EN 1.4301 (AISI 304) | EN 1.4404 (AIS| 316L)
-1 Plug EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L)
45 Coupling guard EN 1.4301 (AISI 304)
73 Plug Washer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
2731 Plug Washer EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
274-1 C-type snap ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 226 UNI 7435
EVM 64 1-1 @50 UNI 7435
274-2 C-Typr snap ring EVM 64 4-1, 4-2 Carbon steel TC80 65 UNI 7435
EVM 64 1-0 to 4-3 975 UNI 7535
274-3 C-Typr snap ring Carbon steel TC80 2110 UNI 7437
613 Flange Carbon steel

370

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

QUANTITY FOR MODEL

EVM(L)64

371

Pump Type N
5-2|11| 21 |21-1|39-1|43-2|43-3| 434 | 44-1|52-1 | 53 | 56 |70-1| 81 | 107 [120-4|120-5(120-7|128-3| 129 [135-3|1354| 136 | 140 [140-1|140-2| 150 (274-2|274-3
EVM(L)64 1-1F6/7.5 1017171 / / / / / LA I O B A / / / / / / / / 1 / / 1 1 1
EVM(L)64 1-0F6/11 111711 / / / ! A T I A 4 4 3 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)64 2-2F6/15 2 (17121 1 / / ! 21111224 4 3 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)64 2-1F6/18.5 2 (111 1 1 / / / {21122 4 4 3 4 ! 4 3 ! ! 1 1 1 1 /
EVM(L)64 2-0F6/22 2 (12| / 1 1 / / / 21111 2]2 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVM(L)64 3-3F6/22 3 (17|31 2 / / ! I {31 13|34 4 3 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)64 3-2F6/30 31121 2 / / ! I {31133 4 4 3 4 1 4 3 1 ! 1 1 / / /
EVM(L)64 3-1F6/30 3111211 1 2 / / / /I f{31]1[3]3 4 4 3 4 1 4 3 1 / 1 1 / / /
EVM(L)64 3-0F6/30 31113/ 1 2 / / / /1311133 4 4 3 4 1 4 3 1 / 1 1 / / /
EVM(L)64 4-3F6/30 411111311 2 1 1 1 1141|113 |4] 4 4 3 4 1 4 3 1 ! 1 1 / / /
EVM(L)64 4-2F6/37 41112121 2 1 1 1 1141|113 |4]| 4 4 3 4 1 4 3 1 ! 1 1 / / /
EVM(L)64 4-1F6/37 4 (113 |1 1 2 1 1 1 11411314 4 4 3 4 1 4 3 1 / 1 1 / / /
BEARINGS
EVM(L)64
Pump Type N
56
EVM(L)64 1-1F6/7.5 6310 ZZ C3
EVM(L)64 1-0F6/11 6313 ZZ C3
EVM(L)64 2-2F6/15 6313 ZZ C3
EVM(L)64 2-1F6/18.5 6313 Z2Z C3
EVM(L)64 2-0F6/22 6315Z2Z C3
EVM(L)64 3-3F6/22 6315ZZ C3
EVM(L)64 3-2F6/30 6315 ZZDT C3*
EVM(L)64 3-1F6/30 6315 ZZDT C3*
EVM(L)64 3-0F6/30 6315 ZZDT C3*
EVM(L)64 4-3F6/30 6315 ZZDT C3*
EVM(L)64 4-2F6/37 6315 ZZDT C3*
EVM(L)64 4-1F6/37 6315 ZZDT C3*

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE
EVMG64
0 USgpm. 100 200 300 400 500
| | | | | |
I T T T T
0 Impgp.m. 100 200 300 400
0.5 50
— 160
p H
[MPa] [m H
F—— — 140
04— 40 —— —
—— 7-0/4, " = 120
—— ~
0.3 30 — e — 100
— 7- 7/ \
\7'5k
= \\
\ \ - 80
N\
0.2 20
N - 60
NPSH
(m] [ft]
40
0.1 10 10 4
—
NPSH - // il
I 10
0 0 0
0 500 1000 1500 Q [imin]
T T T T T T 1
0 20 40 60 80 100 Qmdn)
10
P2 —
I 10— —
] —
2
0 500 1000 1500 Q [imin]
80
n — e
[% 70 = 1-0
—
60 ,/ —N N
141
50
0 500 1000 1500 Q [imin]
Rotation speed =3520 min-'
Test standard: ISO 9906:2012 - Grade 3B
372

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

1.0 7

[MPa]

0.8 —

0.6

0.4 —

0.2

P2
(kW]

[%]

373

100

[m]

80

60

40

20

20

80

60

50

PERFORMANCE CURVE
EVMG64
0 USgpm. 100 200 300 400 500
| I I I I I
I T T T T
0 Impg.p.m. 100 200 300 400
— 300
H
L T — — 250
—_— -1 \\ 2‘0/22 K
— |
- T — -
— ~— 2.5 S~ - 200
~ R
NPSH | 400
[m] [ft]
P 104
— 50
NPSH o o
_/’
s 10
0
0 500 1000 1500 Q [Vmin]
T T T T T T 1
0 20 40 60 80 100 Q[mn)
\
2-0 -l
\ -
N ~——
22— —
I
0 500 1000 1500 Q [Vmin]
£\
,/ N \\\ 20
7. AN
- 21
Z 20 < \V
0 500 1000 1500 Q [imin]

Rotation speed =3530 min-'
Test standard: ISO 9906:2012 - Grade 3B

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA



EVM

VERTICAL MULTISTAGE PUMPS

PERFORMANCE CURVE
EVMG64
0 USgpm. 100 200 300 400 500
| | | | | |
I T T T T
0  Imp.g.p.m. 100 200 300 400
16— 160
- 500
p H
[MPa] ml H
[ft]
o4 o T—— I~ 400
— — — \|
_ —— \\&0/30 w
I e S T — -
m—— T — \z\vﬂkw T~
T — 3 23/30 SN \\\ - 300
-3/ ‘\ ~
L \
8- 80 ™~ \\\‘
\\\\
\\\\t nsH | 20
[m] [ff]
N
04— 40 10
30
- 100
NPSH _— s %
/’
L —— 10
0 0 0
0 500 1000 1500 Q [imin]
T T T T T T 1
0 20 40 60 80 100 Qmdn]
30 T
P2 3_;0 —
[kw] 3.‘1 ~ ///’/"
39 | S
I
33—
10 :
0 500 1000 1500 Q [ifmin]
85
: B \
% 75 \\\; \\ 3-0
\\\ \ 3-1
65 / ) \\
33 N 32
N
55
0 500 1000 1500 Q [lfmin]
Rotation speed 3540 min-*
Test standard: 1ISO 9906:2012 - Grade 3B
374

_—J=-T.ET

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 1. EVM
VERTICAL MULTISTAGE PUMPS
PERFORMANCE CURVE
EVMG64
0 USgpm. 100 200 300 400 500
| | | | | |
I T T T T
0 Impgpm. 100 200 300 400
20— 200
p H - 600
[MPa] [m] H
[ft]
154 s Ee—— = I~ 500
—— T = — 4-1/5,
—_— — kly
B \§/~37 kw \
BT \\\ 400
\\\\\
10 100 \\\\\\
\\\ \\ - 300
NN
N\
NPSH | 500
ft
05 5 (ml [f]
10 4
— 100
NPSH 1 o
— 10
0— 0 0
0 500 1000 1500 Q [imin]
T T T T T T 1
0 20 40 60 80 100 Qmdn]
40
P2 4-1
kW] | ——
K5 42 —
43 ————
AN — ———
—
20 N
0 500 1000 1500 Q [imin]
85
n
_— N 4-1
RN 42
65 \\ N\
N 43
N~
55
0 500 1000 1500 Q [lfmin]
Rotation speed 3540 min-"!
Test standard: 1ISO 9906:2012 - Grade 3B
375

EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVMG64

Dimensional sketch

Round flange (F) - DN100

o =
T IS

E

ren
A | _
F G 3/8

(&Y
I

N° 8 holes 218

O]D<:= il 5 R i/w
g ° RN
N°4holeso14| (|9 |20 #180
190 266
“
Dimensions [mm] and Weights [K(g]
Motor Round flange (F)
3~ Weight
H2 Weight Pump +
kW  Size A Pump Motor
Pmax
Pump Type [MPa] B c H3
EVMG64 1-1F6/7.5 1.6 75 | 1328 | 2300 | 225 160 350 546 70 110.4
EVMG64 1-0F6/11 1.6 11 | 160 M | 2350 | 248 194 476 | 677 77 139.5
EVMG64 2-2F6/15 1.6 15 | 160 M | 350 | 317 238 498 | 749 81 169.9
EVMG64 2-1F6/18.5 1.6 185 160L | @350 | 317 238 542 749 94 198
EVMG64 2-0F6/22 1.6 22 | 180M | 2350 | 360 268 577 | 749 94 257
EVMG64 3-3F6/22 1.6 22 | 180M | @350 | 360 268 577 | 821 99 262
EVMG64 3-2F6/30 1.6 30 | 200L [ 2400 | 399 300 658 837 99 327
EVMG64 3-1F6/30 1.6 30 | 200L | 2400 | 399 300 658 | 837 99 327
EVMG64 3-0F6/30 1.6 30 | 200L | @400 | 399 300 658 | 837 99 327
EVMG64 4-3F6/30 1.6 30 | 200L [ 2400 | 399 300 658 909 108 336
EVMG64 4-2F6/37 1.6 37 | 200L [ 2400 | 399 300 658 | 909 108 350
EVMG64 4-1F6/37 1.6 37 | 200L | 2400 | 399 300 658 | 909 108 350

1.6 MPa=16 bar

376

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW
EVMG64

H/T

*
%

|
N ! o -
(R~ e
115_4§ \\; |I|=E/ 5-4
1 1111
130-3 \ﬂ#: . > — sor
o— b
2741 - I
436 —— 1] JIJr— %
120-1 ————
436
137-1 —
48

31—

437 —

75-1 52-2 —
273-1 442 — |
2121 6— |

Wmvmnil)

45—

613 ——

1
—
i

Pump with single ball bearing

377
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM VERTICAL MULTISTAGE PUMPS 60 H:

SECTIONAL VIEW
EVMG64

1207
135-4 ?\
= 274-2

140-2 any :
( f_j] . 391
iy l} Ty } 135-3
130-2 . I b
| ! 120-5
130-4 1 i 1206
111-4 ! N &
! ! 120-4
130-1 { XE . i
| — I
120-3 | O |
\ llk 7 e} II 273
111-3 e S -
128-1
R — 212
135-1 \I-[ =) X — . »
1155 — L U |l] —
l = 115-1

1303 — ||| —
- T 11141
2741 —— {1

“\‘F

432 — 1]

1201 —
436 — ||

137-1 ——|
48 \'él
31 %—‘ia
437 =
52-2 —/E]
75-1 44-2 —

o 4§§
613\ JJF

ammn;
i U A

—

07

AT A

)
—

U
AL:‘I;

Pump with single ball bearing

378
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS EVM

SECTIONAL VIEW
EVMG64

75-1
273-1
—— 212-1

613
\ﬂ—

F

{
__———-—‘,

Pump with double ball bearing

379

EBARA Pumps Europe 5

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

2ARA



VERTICAL MULTISTAGE PUMPS

SECTIONAL TABLE

EVMG64

N° PART NAME M?E.I\-,EMR:;AL DIMENSIONS STANDARD
5-2 ntermediate Casing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast iron EN GJL-250- EN 1561
7 Outer casing EN 1.4301 (AISI 304)
1 Casing cover Cast iron EN GJL-250- EN 1561
12 Suction cover EN 1.4301 (AISI 304)
Impeller
= R—ef;uced Tomaler EN 1.4301 (AISI 304)
Shaft EN 1.4404 (AISI 316L)
9-1 Key Carbon steel 12X8X90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (Al 04)
43-4 Shaft sleeve (adjustment) EN 1.4301 (Al 04)
43-5 haft sleeve (last stage) EN 1.4301 (Al 04)
43-6 haft sleeve (adjustment) EN 1.4301 (AISI 304)
43-7 haft sleeve EN 1.4301 (AISI 304)
43-8 haft sleeve (discharge-lower) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
44-2 Bearing sleeve (bottom bearing) Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304)
48 mpeller nut A2-70 UNI 7323 with inox insert M16
51 otor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
52-2 Bearing Tungsten carbide
53 Bush holder EN 1.4301 (AISI 304)
56 Ball bearing see table page 381
70-1 Ring for bearing EN 1.4301 (AISI 304)
70-2 Ring for bearing EN 1.4301 (AISI 304)
75 O-Ring (plug) EPDM
75-1 O-Ring (plug) EPDM
1 Bush PTFE
07 Liner rin PTFE / EN 1.4401 (AIS| 316)
- echanical Seal Silicon carbide / Carbon /FPM
-2 echanical seal cartridge EN 1.4301 (AISI 304)
- echanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder Brass OT 58 UNI 5705
1-5 Adjusting ring EN 1.4301 (AISI 304)
5-1 0O-Ring (outer casing) EPDI 3240.66X5.34
5-4 0O-Ring (cartridge sleeve) EPDI 324.99X3.53
5-5 O-Ring (seal cover) EPD! D44.04X3.53
0-1 Tie-rod Galvanized steel 6.8 Strenght class ISO 898/1
120-2 Tie-rod EN 1.4301 (AISI 304)
0-3 Screw A2-70 UNI 7323 M5X10 UNI 5931
0-4 Screw Galvanized steel 8.8 Strenght class 1ISO 898/1 M10X25 UNI 5739
0-5 Screw for coupling Galvanized steel 8.8 Strenght class 1SO 898/1 M10X30 UNI 5739
120-6 Screw for coupling —Exmgj 1:8 and higher Galvanized steel 8.8 Strenght class ISO 898/1 ““:18;)((‘% 8 gg 1
120-7 Screw Galvanized steel M 6X10 UNI 5739
120-8 Screw —EWG%L-O to4:3 Galvanized steel 8.8 Strenght class 1SO 898/1 M1g§22 BNI 2‘7/22
ML 5X UNI 5737
120-9 Screw EVM, EVMG EN 1.4301 (AISI 304) 5X UNI 5739
120-12 Screw EN 1.4301 (AISI 304) M 6X20 UNI 5931
EVM64 1-1 M12X30 UNI 5739
120-13 Screw EVM64 4-1, 4-2 Galvanized steel 8.8 Strenght class ISO 898/1 M16X55 UNI 5737
EVM64 1-0 to 4-3 M16X65 UNI 5739
8- ut for tie rod Galvanized steel M16 UNI 5588
- ut Carbon steel M5 UNI 5588
- ut Galvanized steel M16 UNI 5588
Lock nut Carbon steel
130-1 et screw A2-70 UNI 7323 M6X8 UNI 5923
30-2 crew for coupling guard A2-70 UNI 7323 M5X6 UNI 7687
30-3 et screw EN 1.4301 (AISI 304) M6X6 UNI 5923
0-4 et screw Galvanized steel M10X10 UNI 5923
1-1 Pin for shaft Carbon steel
5-1 Washer Galvanized steel 17x30x3 UNI 6592
135-3 Washer Galvanized steel 10.5X17.5X2.2 UNI 1751
135-4 Washer Plated carbon steel 6.4 UNI 1751
35-5 Washer EN 1.4301 (AISI 304) 26
36 Bearing washer Carbon steel
6- Stopper ring EN 1.4301 (Al 04)
7- Impeller spacer EN 1.4301 (Al 04)
7-2 Shaft spacer EN 1.4301 (Al 04)
140 Coupling Brass OT 58 UNI 5705
40-1 Motor coupling Carbon stee
40-2 Coupling (pump side) Carbon stee
50 Spacer Carbon stee
62 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304)
2121 Plug EN 1.4301 (AISI 304)
45 Coupling guard EN 1.4301 (Al 04)
73 Plug Washer EN 1.4301 (Al 04)
73-1 Plug Washer EN 1.4301 (Al 04)
74-1 C-type snap ring EN 1.4301 (AISI 304) 326 UNI 7435
EVM64 1-1 250 UNI 7435
274-2 C-type snap ring EVM64 1-0to 2-2 Carbon steel TC80 65 UNI 7435
EVM64 2-0, 3-3 75 UNI 7535
274-3 C-type snap ring Carbon steel TC80 2110 UNI 7437
613 Flange Carbon steel

380

E2ARA

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

60 Hz



60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

QUANTITY FOR MODEL

EVMG64

Pump Type N
5-2|11| 21 |21-1|39-1|43-2|43-3| 434 | 44-1|52-1 | 53 | 56 |70-1| 81 | 107 [120-4|120-5(120-7|128-3| 129 [135-3|1354| 136 | 140 [140-1|140-2| 150 (274-2|274-3
EVMG64 1-1F6/7.5 1T/ 71 / / / / / LA I O B A / / / / / / / / 1 / / 1 1 1
EVMG64 1-0F6/11 111711 / / / ! A T I A 4 4 3 4 / 4 3 ! ! 1 1 1 1 /
EVMG64 2-2F6/15 2 (17121 1 / / ! 21111224 4 3 4 / 4 3 ! ! 1 1 1 1 /
EVMG64 2-1F6/18.5 2 (111 1 1 / / / {21122 4 4 3 4 ! 4 3 ! ! 1 1 1 1 /
EVMG64 2-0F6/22 2 (12| / 1 1 / / / 21111 2]2 4 4 3 4 / 4 3 / / 1 1 1 1 /
EVMG64 3-3F6/22 3 (17|31 2 / / ! I {31 13|34 4 3 4 / 4 3 ! ! 1 1 1 1 /
EVMG64 3-2F6/30 31121 2 / / ! I {31133 4 4 3 4 1 4 3 1 ! 1 1 / / /
EVMG64 3-1F6/30 3 (1121 1 2 / / / /I f{31]1[3]3 4 4 3 4 1 4 3 1 / 1 1 / / /
EVMG64 3-0F6/30 31113/ 1 2 / / / /1311133 4 4 3 4 1 4 3 1 / 1 1 / / /
EVMG64 4-3F6/30 411111311 2 1 1 1 1141|113 |4] 4 4 3 4 1 4 3 1 ! 1 1 / / /
EVMG64 4-2F6/37 41112121 2 1 1 1 1141|113 |4]| 4 4 3 4 1 4 3 1 ! 1 1 / / /
EVMG64 4-1F6/37 4 (113 |1 1 2 1 1 1 11411314 4 4 3 4 1 4 3 1 / 1 1 / / /
BEARINGS
EVMG64
Pump Type N
56

EVMG64 1-1F6/7.5 6310 ZZ C3

EVMG64 1-0F6/11 6313 ZZ C3

EVMG64 2-2F6/15 6313 ZZ C3

EVMG64 2-1F6/18.5 63132Z C3

EVMG64 2-0F6/22 6315Z2Z C3

EVMG64 3-3F6/22 6315Z7Z C3

EVMG64 3-2F6/30 6315 ZZDT C3*

EVMG64 3-1F6/30 6315 ZZDT C3*

EVMG64 3-0F6/30 6315 ZZDT C3*

EVMG64 4-3F6/30 6315 ZZDT C3*

EVMG64 4-2F6/37 6315 ZZDT C3*

EVMG64 4-1F6/37 6315 ZZDT C3*

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

381

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

EVM VERTICAL MULTISTAGE PUMPS

PACKING DRAWING
EVM(.)32-45-64

/ % TYPE 1

TYPE 2

382
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

EVM

PACKING DATA

EVM(.)32-45-64
Pumps Pumps with motor ~3
Pump Type P?:II::]\Q P:::I:ilg;t[:g] Pack- P?;I:rl:]‘g P:Z:;g;t[:g] Pack-
x | v | z [evwswlewss| P | x | v | z |evmsw)|evmss | YPC
EVM(.)32 1-0F6/4.0 400 | 780 | 400 | 61 66 1 | 400 | 1047 [ 400 | o7 102 1
EVM(.)32 2-2F6/5.5 400 | 780 | 400 | 65 71 1 | 400 | 1047 | 400 | 106 111 1
EVM(.)32 2-0F6/7.5 400 | 780 | 400 | 68 73 1| 400 | 1047 | 400 | 109 115 1
EVM(.)32 3-3F6/7.5 400 | 780 | 400 | 72 79 1 | 400 | 1047 | 400 | 113 121 1
EVM(.)32 3-0F6/11 400 | 1047 | 400 | 84 91 1| 500 | 545 | 1350 | 154 161 2
EVM(.)32 4-3F6/11 400 | 1047 | 400 | 87 94 1 | 500 | 545 | 1350 | 157 164 2
EVM(.)32 4-0F6/15 400 | 1047 | 400 | 87 94 1 | 500 | 545 | 1350 | 182 189 2
EVM(.)32 5-3F6/15 400 | 1047 | 400 | o4 103 1 | 500 | 540 [ 1540 | 189 198 2
EVM(.)32 5-2F6/15 400 | 1047 | 400 | 94 103 1 | 500 | 540 | 1540 | 189 198 2
5 | EVM()32 5-0F6/18.5 400 | 1047 | 400 | o7 103 1 | 500 | 540 | 1540 | 199 208 2
EVM(.)32 6-3F6/18.5 400 | 1047 | 400 | o7 106 1 | 500 | 540 | 1540 | 202 211 2
EVM(.)32 6-0F6/22 400 | 1047 | 400 | 97 106 1| 610 | 593 | 1750 | 249 258 2
EVM(.)32 7-3F6/22 400 | 1047 | 400 | 110 119 1 | 610 | 593 | 1750 | 262 271 2
EVM(.)32 7-2F6/22 400 | 1047 | 400 | 110 119 1| 610 | 593 | 1750 | 262 271 2
EVM(.)32 7-0F6/30 480 | 1147 | 480 | 116 125 1 | 610 | 593 | 1750 | 315 324 2
EVM(.)32 8-3F6/30 480 | 1147 | 480 | 115 125 1 | 610 | 593 | 1750 | 314 324 2
EVM(.)32 8-0F6/30 480 | 1147 | 480 | 115 125 1 [ 610 | 593 [1750 | 314 324 2
EVM(.)32 9-3F6/30 480 | 1297 | 480 | 125 135 1 | 610 | 593 | 1750 | 317 327 2
EVM(.)32 9-0F6/30 480 | 1297 | 480 | 125 135 1 [ 610 | 593 [1750 | 317 327 2
EVM(.)32 10-4F6/30 480 | 1207 | 480 | 124 135 1| 635 | 607 | 2130 | 377 388 2
EVM()45 1-1F6/5.5 400 | 780 | 400 | 62 69 1| 400 | 1047 | 400 | 102 95 1
EVM(.)45 1-0F6/7.5 400 | 780 | 400 | 64 71 1| 400 | 1047 | 400 | 106 109 1
EVM(.)45 2-2F6/11 400 | 1047 | 400 | 68 75 1 | 500 | 545 | 1350 | 138 134 2
EVM(.)45 2-1F6/11 400 | 1047 | 400 | 68 75 1 | 500 | 545 | 1350 | 138 134 2
EVM(.)45 2-0F6/15 400 | 1047 | 400 | 68 75 1 | 500 | 545 | 1350 | 163 170 2
EVM(.)45 3-3F6/15 400 | 1047 | 400 | 72 81 1 | 500 | 540 | 1540 | 167 176 2
EVM(.)45 3-2F6/15 400 | 1047 | 400 | 72 81 1 | 500 | 540 | 1540 | 167 176 2
EVM(.)45 3-1F6/18.5 400 | 1047 | 400 | 72 81 1 | 500 | 540 [ 1540 177 186 2
EVM(.)45 3-0F6/22 400 | 1047 | 400 | 82 91 1 | 500 | 540 | 1540 | 227 236 2
45 | EVM()45 4-3F6/18.5 400 | 1047 | 400 | 74 84 1 | 500 | 540 [ 1540 | 179 189 2
EVM(.)45 4-2F6/22 400 | 1047 | 400 | 84 94 1| 610 | 593 | 1750 | 236 146 2
EVM(.)45 4-1F6/30 480 | 1147 | 480 | 87 97 1 | 610 | 593 1750 | 286 296 2
EVM(.)45 4-0F6/30 480 | 1147 | 480 | 87 97 1| 610 | 593 | 1750 | 286 296 2
EVM(.)45 5-3F6/30 480 | 1147 | 480 | 104 116 1 | 610 | 593 1750 | 303 315 2
EVM(.)45 5-2F6/30 480 | 1147 | 480 | 104 116 1 | 610 | 593 | 1750 | 303 315 2
EVM(.)45 5-1F6/30 480 | 1147 | 480 | 104 116 1 | 610 | 593 [ 1750 | 303 315 2
EVM(.)45 5-0F6/37 480 | 1147 | 480 | 104 116 1 | 610 | 593 [1750 | 317 329 2
EVM(.)45 6-3F6/37 480 | 1207 | 480 | 103 116 1 | 635 | 607 | 2130 | 370 383 2
EVM(.)45 6-2F6/37 480 | 1297 | 480 | 103 116 1 | 635 | 607 [2130| 370 383 2
EVM(.)45 6-1F6/37 480 | 1297 | 480 | 103 116 1 | 635 | 607 | 2130 | 370 383 2
EVM(.)64 1-1F6/7.5 400 | 780 | 400 | 79 86 1| 400 | 1047 | 400 | 121 127 1
EVM(.)64 1-OF6/11 400 | 1047 | 400 | 77 84 1| 500 | 545 | 1350 | 147 154 2
EVM(.)64 2-2F6/15 400 | 1047 | 400 | 91 98 1 | 500 | 545 | 1350 | 186 194 2
EVM(.)64 2-1F6/18.5 400 | 1047 | 400 | 92 100 1| 500 | 540 | 1540 | 197 206 2
EVM(.)64 2-0F6/22 400 | 1047 | 400 | 102 110 1 | 610 | 593 | 1750 | 254 262 2
54 | EVM()64 3-3F6/22 400 | 1047 | 400 | 107 116 1| 610 | 593 | 1750 | 259 268 2
EVM(.)64 3-2F6/30 480 | 1147 | 480 | 110 119 1 | 610 | 593 [ 1750 | 309 318 2
EVM(.)64 3-1F6/30 480 | 1147 | 480 | 110 119 1 | 610 | 593 [1750 | 309 318 2
EVM(.)64 3-0F6/30 480 | 1147 | 480 | 110 119 1 [ 610 | 593 [ 1750 | 309 318 2
EVM(.)64 4-3F6/30 480 | 1147 | 480 | 117 128 1 | 610 | 593 [1750 | 316 327 2
EVM(.)64 4-2F6/37 480 | 1147 | 480 | 117 128 1 | 610 | 593 | 1750 | 330 341 2
EVM(.)64 4-1F6/37 480 | 1147 | 480 | 117 128 1 | 610 | 593 [ 1750 | 330 341 2

383

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

E2ARA



60 Hz

VERTICAL MULTISTAGE PUMPS

VMU I1UR

400
B Eanana EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




60 Hz

VERTICAL MULTISTAGE PUMPS

GENERAL

Various regulatory authorities in many countries have introduced or are planning legislation to encourage the

manufacture and use of higher efficiency motors, as part of a concerted effort worldwide to reduce energy consumption.
IEC 60034-30 defines new efficiency classes for motors and harmonizes the currently different requirements for induction

motor efficiency levels around the world.

MOTOR EVMS MOTOR EVM
Frequency 60 Hz 60 Hz
Phase Three Phase Three Phase
Rotation speed ~ 3500 min"' = 3500 min'
. 0.37 + 2.2 kW 4.0 =37 kW
Power rating — — o
Power 0.5+ 3.0HP 5.5+50 HP
Source
220/380 V - 5% /+ 10%
and 265/460 V + 10% (037 and 0.55 kW) 220/380 V - 5% /+ 10% (up to 4.0 kW)
Volt 220/380-460 V - 5% /+ 10% (from 0.75 kW up to 4 kW) 380/660 V - 5% /+ 10% (above 5.5 kW)
oltage
9 380-460/660 V - 5% /+ 10% (from 5.5 up to 11 kW) 265/460 + 10% V  (up to 4.0 kW)
460V £ 10% 460 £ 10% V (above 5.5 kW)
and 380/660 V/ - 5% /+ 10% (12 8nd 185 KkW)
Type TEFC TEFC
- ¢ from 0.37 up to 0.55 kW
. IE2 : up to 4.0 KW (220-380V / 265-460V)
Efficiency Level IE3* : above 0.75 kW
IE2 : above 5.5 kW (380-660V / 460V)
Type IE2 : from 15 kW up to 18.5 kW
No° of poles 2 2
Protection degree IP 55 IP 55
Insulation Class F (temperature rise class B) F (temperature rise class B)
Thermal Protection PTC is available for the above 1.5 kW included PTC is available for the above 22 kW included
Casing Material Aluminium Aluminium
others | Fiange mount IMB14  (up to 4.0 kW) IMB14 (up to 4.0 kW)
(IEC motor) IMB5 (above 5.5 kW) IMB5  (above 5.5 kW)
Terminal Box fixing Unlosable screw and sealing from 0.75 kW to 11 kW -

*:1E2 from 1.1 kW up to 3.0 kW at 220/380 V

401

) Power Noise
Motor Size LpA-dB (A)*
kW] [HP]
0.37 0.5
7 <70
0.55 0.75
0.75 1
80 57
1.1 1.5
15 2
% 65
22
100 3.0 4 67
112 4.0 5.5 4
55 7.5
132 3
75 10
160 1 15 8
160 M 15 20
79
160 L 185 25
180 M 22 30 82
30 40
200L 83
37 50

+2.5dB (A).

EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.

= EaaraA

* Noise values were measured with a tolerance of



EVM S VERTICAL MULTISTAGE PUMPS 60 Hz

TECHNICAL MOTOR DATA
EVMS 1-3-5-10-15-20

- Three Phase Motor at 60Hz, 2 poles

Motor Load efficency Full load current Locked rotor current
and power-factor [A] [A]
Efficiency o
Power n. % Cos-¢
Motor Size 220V [ 265V | 380V [ 460V [ 220V | 265V | 380V | 460 V

[kwW] | [HP] 50% 75% 100% | 100%

71 0.37 0.5 - - - 67.7 0.72 21 1.7 1.2 1.0 8.8 9.6 5.1 5.6

71 055 | 0.75 - - - 72.4 0.72 29 24 1.7 1.4 12.7 15.1 7.3 8.7

IE2-IE3 Three Phase Motor at 60Hz, 2 poles

Motor Load efficency Full load current Locked rotor current
and power-factor (460 V) [A] [A]
Efficiency o
. Power n. % Cos-@
Motor Size 220V [ 380V [ 460V [ 660V [ 220V | 380V | 460V | 660 V
[kW] | [HP] 50% 75% 100% | 100%
80 R 0.75 1 IE3 77.4 81.9 83.1 0.74 2.8 1.6 1.5 - 16.9 9.7 11.8 -
1.1 1.5 IE3 * 824 84.2 84.5 0.75 4.0 23 22 - 246 142 | 17.2 -
% R 1.5 2 IE3 * 83.2 84.7 85.7 0.76 53 3.1 29 - 36.3 | 21.0 | 254 -
22 3 IE3 * 86.9 87.8 87.4 0.76 7.5 4.3 4.1 - 515 | 29.7 | 36.0 -
100 4| 30 4 IE3 * 87.0 87.9 88.5 0.76 10.2 5.9 5.6 - 724 | 418 | 50.6 -
112 4| 40 55 IE3 88.7 88.9 88.5 0.75 13.5 7.8 7.6 - 1071 | 61.8 | 749 -
132 R 55 75 IE3 88.7 90.5 91.0 0.85 - 10.1 8.9 58 - 945 | 1143 | 66.0
75 10 IE3 88.1 90.3 90.8 0.88 - 13.6 11.9 7.8 - 118.0 | 143.0 | 82.6
160 L4 1 15 IE3 88.9 91.4 91.3 0.82 - 203 | 185 1.7 - 153.0 | 185.0 | 106.8
160 M 15 20 IE2 90.9 92.3 91.8 0.89 - 28.1 233 16.2 - 272.2 | 226.0 | 157.6
160 L 18.5 25 IE2 90.3 92.0 91.6 0.88 - 34.7 | 28.8 | 20.1 - 409.5 | 340.0 | 2371

¢ MOTOR DATAETM
* ONLY FOR 460 V

402

ERARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 Hz

VERTICAL MULTISTAGE PUMPS EVM

TECHNICAL MOTOR DATA
EVM 32-45-64

IE2 Three Phase Motor at 60Hz, 2 poles

Motor Load efficency Full load current Locked rotor current
and power-factor [A] [A]
Efficiency

Power n. % COs-Q
Motor Size 220V | 265V | 380V | 460V [ 660V | 220V | 265V | 380V | 460V | 660 V

[kW] | [HP] 50% 75% 100% | 100%
112M 4.0 55 IE2 86.4 87.8 87.5 0.80 15.1 12.5 8.7 72 50 | 180.4 | 149.8 | 104.2 | 86.5 | 60.3
1328 55 75 IE2 85.0 88.6 88.5 0.87 - - 10.7 8.9 6.2 - - 131.3 | 109 76.0
1328 7.5 10 IE2 87.8 89.5 89.7 0.88 - - 14.5 12 8 - - 171.0 | 142 99.0
160 M 11 15 IE2 88.6 90.4 90.7 0.89 - - 20.7 17.2 12.0 - - 198.8 | 165 | 115.1
160 M 15 20 IE2 90.9 92.3 91.8 0.89 - - 28.1 233 | 16.2 - - 2722 | 226 | 157.6
160 L 18.5 25 IE2 90.3 92.0 91.6 0.88 - - 347 | 28.8 | 20.1 - - 409.5 | 340 | 2371
180 M 22 30 IE2 91.8 92.6 925 0.88 - - 41.2 34 237 - - 417.6 | 345 | 2405
200 L 30 40 IE2 92.7 94.0 94.2 0.87 - - 55.7 46 321 - - 496.3 | 410 | 285.8
200 L 37 50 IE2 93.0 94.3 94.5 0.88 - - 66.6 55 38.3 - - 568.9 | 470 | 327.6

403
EBARA Pumps Europe = EaaraA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.




EVM S NOTES 60 1z

5 E3ARA EBARA Pumps Europe

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.



60 1. NOTES EVM

EBARA Pumps Europe % EBARA

EBARA Pumps Europe S.p.A. reserves the right to make changes without prior notice.






EBARA Corporation
11-1, Haneda Asahi-cho, Ohta-ku,
Tokyo 144-8510

Japan

Tel +81 3 6275 7598

Fax +81 3 5736 3193
www.ebara.com

ESARA

EBARA Pumps Europe S.p.A.

Via Pacinotti, 32
36040 Brendola (Vicenza), Italia
Tel. +39 0444 706811
Fax +39 0444 405811
ebara_pumps@ebaraeurope.com
www.ebaraeurope.com

EBARA Pumps Europe S.p.A. si riserva il diritto di apportare modifiche senza preavviso: tutte le specifiche potrebbero essere oggetto di modifiche

04/17

REV.D



	1. SPECIFICATIONS 
	1.1 TYPICAL APPLICATIONS 
	1.2 PERFORMANCE RANGE 

	2. EVMS 1-3-5-10-15-20

	2.1 PRODUCT FEATURES 
	2.2 PRODUCT SPECIFICATIONS 
	2.3 SHAFT SEAL 
	2.4 TYPE KEY and NAMEPLATE
	2.5 PERFORMANCE RANGE 
	2.6 CURVE SPECIFICATIONS 
	2.7 SELECTION CHART 
	2.8 EVMS(L)1

	EVMSG1


	2.9 EVMS(L)3

	EVMSG3


	2.10 EVMS(L)5

	EVMSG5


	2.11 EVMS(L)10

	EVMSG10


	2.12 EVMS(L)15

	EVMSG15


	2.13 EVMS(L)20

	EVMSG20


	2.14 PACKING 

	3. EVM 32-45-64

	3.1 PRODUCT FEATURES 
	3.2 PRODUCT SPECIFICATIONS 
	3.3 SHAFT SEAL 
	3.4 TYPE KEY and NAMEPLATE
	3.5 PERFORMANCE RANGE 
	3.6 CURVE SPECIFICATIONS 
	3.7 SELECTION CHART 
	3.8 EVM(L)32

	EVMG32


	3.9 EVM(L)45

	EVMG45 

	3.10 EVM(L)64

	EVMG64


	3.11 PACKING 

	4. MOTOR DATA 
	4.1 NOISE DATA 
	4.2 TECHNICAL MOTOR DATA 
	EVMS 1-3-5-10-15-20

	EVM 32-45-64






